Nldec
125

—All for dreams

FLE WAVE

WP series

s }Iﬂ%'JHi/F&Em

EiFtEaeA (i) BRAE]

NIDEC DRIVE TECHNOLOGY (ZHEJIANG) CORPORATION



TR PE SR IE R RAT IR R B

"Relentless Refinement of Technology”,

FLEX WRVE

FLEX WAVE




BEAEISEANT DU E INDE X

Flat type D
RN A LineUp/Z 1A% -3 REAES | A% 75

LineUP / Parts Configuration Reducer Model / Specifications

ﬁ ﬁ Z< % % % ﬁ ﬁ ) iﬁ éE T %? EﬁT&Tﬁcuhamsm N §T§§E”S Table 76

=& R : FonitE CHEEHA) 81
?lg 2}& 35 *J-L o :E%ﬁ%,ﬂgﬁ%&gam 4 L\{cufshna:\om (Elastic bearing)

RSWEE 5 Fepits (EHA) 82

Model selection Life estimation (Main bearing)
M 2E AT RGN, 355 B 1= 5 B IRE B BN FRE o 83

% = EHERB2 Maximum load at input shaft

MRS, High torque type B2 ‘5%5%%? o 84
RICRIESHRNRANE, HENRE | 8 6 meme o5

bt = IR - “~ Reducer Model / Specifications Attachment fixture requirement

SERTAUREMEERNEER R K& Rt 7 2 4 86

Dimensions Table ansmitting Torque

b {525 P L AL BaitE (SRR 2 EEmo "
5 Life estimation (Elastic bearing) ns'.':\a on ;m ssombly nstiuctions

“FLEXWAVE" {418, BEAZ A, ey o ey i

Life estimation (Main bearing)

iﬁﬂiﬁ*nﬁA&*nﬁggﬂgﬁiﬁo : 5@A$ﬁ}§i¢ﬁﬁ ) ) 15 Characteristics Data

Maximum load at input shaft
NIDEC DRIVE TECHNQLOGY pEpesil 16 Gearhead type
ORPORATION is a global leader ;g;%gmmﬂ 17 BORMELS [ HA 97

Reducer Model / Specifications

Attachment fixture requirement

=l 18 R~#% 98

in various high precision gearg

technologies. Based on increased Transmitting Torque Dimensions Table
. I N ER AL 21 HFonitHE CHEEHUR - i)
demand for higher<accuracy from Input section structure 103
1 1, SEREM 20 Life estimation
maChlne tOOI and rObOt maHUfaCturel S, \/ns[a lation and assembly instructions (Elastic bearing & Main bearing)

we ve utilized our expertise to develop RS TTA 23 BT & feFT758 104

i ’ Motor installation procedure lubricant information & Transmitting Torque
a new gear reduction mechanism. B R o4

Characteristics Data

Standard type A

This mechanism, called Flexwave,
addresses the need for high torque

density in a lightweight, compact ENELS R 47
k b‘-‘. d o t h 7ero Reducer Model / Specifications
package, combined wi e R 48
Dimensions Table
FoitE (HEEHhR) 53
Life estimation (Elastic bearing)
= FoitE (EHE) 54
p er formance & Life estimation (Main bearing)
and other at 0 BWNMS AR : 56
¢ 4 Maximum load at input shaft
will see inCred pEp=gil 57
G lubricant information
TEBE 58
Attachment fixture requirement
(5 Pak i 59
Transmitting Torque
RNBMADE 62
Input section structure
AREI 63
Installation and assembly instructions
B RS % 64
Motor installation procedure
FEHE 65

Characteristics Data

20 O -

Tractioning Your Future



FLEXUWAVE

Lineup

B A Open type

WPU-[ |-[ |-SNH
WPU-[ |-[ |-SDH
WPU-[ ]-[ ]-SRH
[4AEEL (=) Hollow unit

WPS-[ ]-[ |-SN WPS-[]-[]-SD
WPS-[ |-[ ]-SR
(ERASE Simple unit

WPG-[-[]-CR
W Geatead

g%&ﬁ:ﬁg ;jjz Tt (HEE. B

Flex gear (thin / flexible)

Parts Configuration

mE (HER)
Cam(elliptic)

SEEEMA (CEEE. TH)
Elastic bearing(thin / flexible)

Internal gear



TERIEA LA

Reduction Mechanism

OB R TR ER A R EMBEIRTEZ,
RERRSNERERRLEKHEBO LK EMS,.
BIEAELR, &0 IR 75 mhef360°H,
MU AENHTRABHNERSREAR
RRERELD .

‘Flex gear and elastic bearing take elliptic
shape with the cam inserted.

‘Flex gear and internal gear are engaged at
both ends of the long axis of the ellipse in a
stable manner.

‘With the internal gear fixed, when the cam
(input) is rotated clockwise, the flex gear
(output) rotates counterclockwise. And its
rotational speed is determined by the tooth
count differential between two gears.

TEFEARE 2

Parts Name

FEiit

Flex gear

5%

Internal gear

HEE A

Elastic bearing

WhER O

Elliptic cam

A
Open type
= g
L Internal gear
Fiktast — |
Flex gear

B %

Elliptic cam

T 1

PR L

Reduction Ratio

Reduction ratio R

X ANk 73 [P S it beds 7 AR

*The input and output rotation directions are opposite.

@ RREN ISR A RELL

R represents the 'Ratio’ figure in the specifications table on the next page.

wiEE =

R+1
X A\ e¥e 73 [0 S hek 7 (R4 E)

*The input and output rotation directions are same



S ETE Model selection

BESRERIE

Model selection flow

HATEIN ERERN LBy S 5t

ERHOE - FHEE - fEKif
cRABEHNE - REEE - HERM
« JIEESATE
Operation condition of the reducer
- Average output torque - Radial load
- Maximum output torque - Axial load

- Average rotation speed - Moment load

- Maximum rotation speed

EINALCE LS

Re-evaluate the operation contidion

<€

B EERENES

Temporary selection of a model

i EEE AT o

Calculate the life span for the elastic bearing

NN D e

Calculate the life span for the main bearing

IR Y Sl

Calculate the load condition at the input bearing

NG

NG

HERENES

Reducer selected

NG

HINERES

Re-evaluation of the model



i

=EhERB2
High torque
type B2
High torque type B2
N\ s | = y
SR B S Reducer Model Nomenclature T
oc =
g8
55 &
ag =
WP C —1 35 |—| 50 |—|CN|— |k k|
= i Ay D3 %
REIE ey R WEL 6 18
Series name type Size Ratio Code Specifications g
WPZ35! C 35 50 CR WAWEE .
Component type 29 \DE
o3 AL
WP Series ) HilaIses e 80 SR Input shaft 25 5
Simple unit type diameter a8~ &
U:a58 50 100 etc. %
ZHE Y (BN 5) =C B
A& (i) 63 120 el = §
Unit type § é i+
Input shaft unit 2 B8
Hollow unit 80 160 SRJ <3 z
i N SR W SRR T =, 1
.E.X{M%% Availability For the code details, please check the *§ f T
Ratio mat\r‘f\( Dimensions Table. o 5 N
g - AR 50 80 100 120 160 £ ? %D?
g 35 5 @
- Al
50 5
63 g B
80 2
N o :
SR N EN A& Reducer Specifications s |
2 %3 X 4 %5 ¥ 6 %7 8z %
B BFmAK BERK BIFF e =& idia] % % ;f
IREE Ayl yap:cl T LIPS BMANFER e g8 FE*
RT—'— Ratio Nominal output Maximum output | Emergency stop Nominal Maximum input Life = -
Size 1 torque torque torque input speed speed 3
R
[Nm] [Nm] [Nm] [r/min] [r/min] [hours] = |
50 7 23 46 2 B
35 80 10 30 61 3000 8500 % il
100 10 36 70 S picl
50 21 44 91 3
80 29 56 113 o
42 100 31 70 143 3000 7300 25 g |
120 31 70 112 2= Z\
50 33 73 127 ot &
80 44 96 165 s i
50 100 52 107 191 3000 6500 et
120 52 113 191 . |
160 52 120 191 10000 iz 2
50 51 127 242 538 &
80 82 178 332 3< ; I
63 100 87 204 369 3000 5600 a
120 87 217 395
160 87 229 408 - ?7
50 99 281 497 g g #
80 153 395 738 £3 =
80 100 178 433 841 3000 4800 jf e
120 178 459 892 S 72
160 178 484 892
X1 IERRERNPATRA LA, KRERREL *1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table ? E
%2 BINFLIR72000r/min BYBIFRAE *2 The maximum allowable value at the input rotation speed of 2000r/min S i
X3 Bl FEENNATFRAE *3 The maximum torque when starting and stopping. = ?E
X4 REBTNNBTRAE *4 The maximum torque when it receives shock. g
X5 BEUEF, FHRANRRNBIFRAME *5 The maximum average input speed. o
X6 EFOIER, RMARRNBFRAE *6 The maximum input speed. & |
X7 I NFZIR2000r/min, BFELE JIE BT B9 e B 8] *7 The life time at the input rotation speed of 2000 r/min and nominal output torque.
FLEXWAVE WP%5 6



High torque type B2 [1#2B2

RT3 Dimensions Table

HAE ERFEY
Closed Type, Component

WPC-[]-[]-CR

LE
LF M
H |G
HD Y
X
2-LT N-@LU
sy RO3LLTF
- M-@ST — Ay
] e \ Ny (D\’?\
J W(JS9)
- H ) = \
gnlz2 S gIyle ey &
o Q| 0| =] Cos5 Q]| &) &
- wv - /
8 —H 8 " 1
57 /
[y | BN e
% ‘}E{'\ 1%
o / o @SH (H7)
st S8
U 2-M3x4 == e
= I\‘EI
R~ Weight Moment of inertia
| Size 4 2
1 kg X10"kgm
1 @_ 35 0.10 0.0362
42 0.17 0.0831
INPUT SHAFT FOR 35842 50 0.26 0.190
63 0.43 0.414
80 0.91 1.54
[mm]
§Z_ef LA | LB | LC N LU | LT | LE | LF | LG | LH | LM | sG | SH | sL | w
35 | 44 | 38 | 50 8 35 | M3 | 285 | 175 | 6 2 11 14 6 | 185 | -
42 | 54 | 48 | 60 | 16 | 35 | M3 | 325 | 20 | 65 | 25 | 125 | 18 8 | 207 | -
50 | 62 | 54 | 70 | 16 | 35 | M3 | 335 | 215 | 75 3 12 | 21 12 | 215 | 4
63 | 75 | 67 | 8 | 16 | 45 | M4 | 37 | 24 | 10 3 13 | 26 | 14 | 216 | 5
80 | 100 | 90 | 110 | 16 | 55 | M5 | 44 | 28 | 14 3 16 | 26 | 14 | 236 | 5
)§g T | su | sa|sB|sop| M | sT|sv | HD|cal|ce | cx | oy | cz
35 ; 25 | 17 | 11 23 6 45 | M3 | 24 | C03|C03 | 171 | 1 38
42 ; 3 19 | 10 | 272 6 55 | M3 3 | cos|co3| 19 1 45
50 | 138 | - 24 | 16 | 32 8 55 | M3 3 | cos5|Cco3| 25| 15 | 53
63 | 163 | - 30 | 20 | 40 8 65 | Ma 3 | cos5|co3| 23 | 15 | 66
80 | 163 | - 40 | 26 | 52 8 88 | M5 | 32 | C0o5 | CO5 | 268 | 15 | 86

1 XTFRABAFSE, BSREMRTE,
¥2 CX. CY. CZAIFBARERINR T,

*1 For details in the input section, please check the drawings.
*2 Inner dimensions of CX, CY, CZ are recommended dimensions.



=EHERB2
High torque
type B2

HHAA A

Closed Type, Unit g §
2 R S5E 3 2
R~ Weight Moment of inertia §' ®
WPU- D - D -CR Size 4 > »
kg X10"kgm 5
=2
85 0.50 0.0362 @
42 0.68 0.0831 5 Z
50 0.95 0.190 g
63 1.5 0.414 3
80 3.3 154 z
LE = |
LF LM Sg BB
lH _ |lg. | g3 g
L cY O-ring N-LU es x
N-LT
O-ring — & |
=E:= o7 > N ®\} ?
[] j / i
W(JS9) 5 B
1 , g8 IF
NEES @ S : 2 f
HEEE AN : iy #
HEER o|8|2|® {P U =
ol |° © \ ™~ 2 &
Call
EIK u] i - — i
o 9 ——
. @SH (H7) S X
- 2-M3x4 X SL 3 =
3z 15
‘ =
N g
,,,,,7?» $= - @
U P
z &
INPUT SHAFT FOR 35842 7
[rm] g 18

gz\_g LA LB LC LD N LT LU LE LF LG LH LK LM DB SG

14 38 14
16 48 18

35 65 56 73 31 8 M4 4.5 41 27 7 3.5
42 71 63 79 38 8 M4 4.5 45 29 8
50 82 72 93 45 8 M5 55 | 455 28 10
63 96 86 107 58 10 M5 5.5 52 36 10

ainjonis

17.5 56 21

16 67 26

oo | o B
W | W |l w| i |

80 125 113 138 78 12 M6 6.5 62 45 12 17 90 26

gg SH SL W T SU SA SB SC M ST HD CX CY Ccz

35 6 18.5 - - 2.5 23 11 8 6 M4 X8| 95 1.6 1 38
42 8 20.7 - - 3 27 10 7 6 M5 X8| 95 1.3 1 45
50 12 215 4 13.8 - 32 14 10 8 [M6X9] 9 1.5 1.5 53
63 14 21.6 5 16.3 - 42 20 15 8 |M8X10| 12 3.4 15 66
80 14 23.6 5 16.3 - 55 26 20 8 [MIOX12| 15 5.2 15 86
¥1 XFRASMIFES, BEEREMRTE, *1 For details in the input section, please check the drawings.
%2 CY. CZRIFENERIURT, *2 Inner dimensions of CY, CZ are recommended dimensions.

FLEXWAVE WPE5 8



High torque type B2 [1#2B2

RT3 Dimensions Table

A BmEZAEE
Open type, Simple unit

= BE%E
R~ Weight Moment of inertia
WPS-]-[1-SR -
kg X10"kgm
&5 0.39 0.0362
42 0.55 0.0831 il
50 0.79 0.190 4
63 1.3 0.414
80 2.7 1.54
LE
LF LM
e U _LH
LG
Y
N-LT
o g ®\’?~
B~ W(s9)
v ( I
—| —~ GJ —_
S ISR i o
alo Q| Ul a Y \
(2] —J |l \
NS SIS ~
] ),
Sl J X oSH (H7)
RIaY ‘Ca@
& ) _+_
SL /(_T\‘\ ).#!k,\
| ‘
Braeual | Fieno ‘EQUAL«'{
T !
k\1 ./ L}( 1 {j
\‘L./ ‘\‘—41—‘/
NAT' INAT"
INPUT SHAFT FOR 35842 ARRANGEMENT FOR35 ~ ARRANGEMENT FOR 42
[mm]
gz\_é'— LA LC LE LF LG LH LJ LM SG SH SL W T SU SA SB
35 | 44 | 50 | 285 |235| 6 7 | 141 ] 5 14 6 | 185 | - - 25 | 64 | 48
42 54 60 325 | 265 | 6.5 7.5 16 6 18 8 20.7 - - 3 74 60
50 | 62 | 70 |335| 29 | 75 | 85 | 175 | 45 | 21 12 | 215 | 4 | 138 | - 84 | 70
63 | 77 | 85 | 37 | 34 | 10 | 12 | 187 | 3 %6 | 14 |216| 5 | 163 | - | 102 | 88
80 | 100 | 110 | 44 | 42 | 14 | 15 | 234 | 2 26 | 14 | 236 | 5 | 163 | - | 132 | 114
RSl sc | sp| M | st |calov|cz|ov|ow| N LT
35 | 24 | 70 8 | 35 |C04| 1 38 | 1.7 | 31 8 | M3X5 ¢35X%X6
42 3 80 | 12 | 35 [C04 | 1 45 | 21 | 38 | 16 |M3 X6, ¢ 35X%X65
50 3 9 | 12 | 35 | C04 | 15 | 53 2 45 | 16 |M3 X6, 35X 75
63 3.3 110 12 45 | C04 | 15 66 2 56 16 |M4 X7, ¢ 45 X 10
80 | 36 | 142 | 12 | 55 | C04 | 15 | 86 2 73 | 16 |M5X 8, ¢ 55X 14

¥ XTFRABMIFS, BSREBRTE,
¥2CV. CW. CY. CZRIFERERINR T,

*1 For details in the input section, please check the drawings.
*2 Inner dimensions of CV, CW, CY, CZ are recommended dimensions.



FE HEE (R )
Open type, Unit (hollow shaft)

= R 1% 756
RT_'— Weight Moment of inertia
WPU-[ - ]-SRH Size
kg X10"kgm
85 0.72 0.0924
42 1.0 0.207
50 1.4 0.408
63 2.1 1.06
80 4.2 2.72
LE
LG LF LH
L LK LJ
HHE SENE
1=
La
3-5U
. T
SN ]
T o caua P ts/20k0uAL ¥
' S
S
- \‘w»‘kv’)‘
INPUT SHAFT FOR 35%42 ARRANGEMINT FOR 35 ARRANGENENT FOR 42
[mm]
éig LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
5 44 36 54 70 52.5 20.5 12 20 7.5 8 9 25 5.5 6.5
42 54 45 64 80 56.5 23 12 21.5 8.5 8.5 10 2.5 55 6.5
50 62 50 75 90 51.5 25 5 21.5 7 9 10.5 - - -
63 77 60 90 110 55.5 26 6 23.5 6 8.5 10.5 - - -
80 100 85 115 142 65.5 32 7 26.5 5 9.5 12 - - -
);Z\g SA | sB | sc | sD | SE| SF | M | sT | su | N LT
385 64 - 14 20 74 36 8 3.5 M3 8 M3 X 5 ¢ 35X 115
42 74 - 19 25 84 45 12 3.5 M3 16 M3 X 6, 9 3.5 X 12
50 84 25.5 21 30 95 - 12 35 M3 X6 16 M3 X 6, ® 3.5 X 13.5
63 102 335 29 38 115 - 12 45 M3 X 6| 16 M4 X7 ¢ 45X 155
80 132 40.5 36 45 147 - 12 55 M3 X6 16 M5 X 8, ¢ 55 X 20.5

FLEXWAVE WPE5

=EHERB2
High torque
type B2

Jeaq onse[3)

(Bu

a|ge] suoisuawiq

9 o)

(Buleaq

UoIBWINS

ndul

B

Juswaiinbal

2INIX1} JUBWYOBNY

ainjonis

suononJsul

ainpaoold

uolje||eisul JojoN

uolnewojul juedlgn|

anbJo] Bumiwsuel|

du)

UOI108S

ele( solisleioeieyd

10

uﬁmwmi%w‘

e

e
il

i P ‘

m4m‘

(B YT SH ot

Nz




i

11

High torque type B2 [1#2B2

R<F3% Dimensions Table

F A HEE ()
Open type, Unit (input shaft)

= TR 7756 T ™.
R~ Weight Moment of inertia ! ;1_" ]
WPU-]-[]-SRJ 2 .
kg x10*kgm? LR ‘
35 065 0.0266 : @ :
42 0.91 0.0666 o
50 1.4 0.155 Y
63 2.1 0.382
80 3.2 1.28
LE
LG LF LH
L LK LJ
M-gST
FO TR
/ | N LR
B . SC sV o8 La E
/ u \
|/ N =| o = =
(@} (= H
| 2
(E | :
- 1=
Lp
- ﬂ . -/”H\;
erL = AN ] X
Fameaua ? we20Foual ¥
R LA g
.\ ‘ ) ‘
L ‘T'X \‘1,‘%_*'{‘
INPUT SHAFT FOR 35342 ARRANGEMENT FOR 35 ARRANGENENT FOR 42
[mm]
Ez\je— LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
85 44 36 54 70 50.5 20.5 15 15 2.5 8 9 11 - -
42 54 45 64 80 56 23 17 16 3 8.5 10 12 - -
50 62 50 75 90 63.5 25 21 17.5 3 9 10.5 - 16.5 20
63 77 60 90 110 725 26 26 20.5 3 8.5 10.5 - 22.5 25
80 100 85 115 142 84.5 32 26 26.5 5 9.5 12 - 22.5 25
);g SA | SB | sc | SE | sv |sw | M | sT| su| N LT
35 64 6 - 74 - - 8 3.5 - 8 M3 X5 ¢ 35X 115
42 74 8 - 84 - - 12 3.5 - 16 M3 X 6, 9 3.5 X 12
50 84 10 8.2 95 3 3 12 35 |M3 X6 16 M3 X 6, 3.5 X 13.5
63 102 14 11 115 5 5 12 45 |M5 X 6 16 M4 X7 ¢ 45X 155
80 132 14 11 147 5 5 12 55 M5 X6 16 M5 X 8, ¢ 55 X 20.5




=hEEB2

High torque
type B2

ALY N . . . . . 0 R
EHepi1tE CEBERNA)  Life estimation (Elastic bearing) graa
S5 |k
g2
sg 2
e 5
3 AND, - \
SEEHAEMmITE
Life span for the elastic bearing ;? ;
i &
o
BT T, ;
Operation cycle example ARCIpALEl ' T, 3 z
Working torque } T, i T, ®E ﬁ
! & o '3_'|=_
| E\ M :.'g._ T
1 leEﬂ %3 "
! ! ime 8 3
| ! gg a:-i
n, e 7
Ny & 5
W EOR N4 Se ﬁ
Output rotati N §3 Lo
Qupgroetion |t | 6 (4] 4 | g i
Time =
il
®
OF w5 | ZRARMEENITE 35 %
: 5% N
Calculation formula for output torque 2
=} 907 :f_é?
" 3 ; 3 not 3 & IF
T H 746 too | Nm Tao=s M 2| To|  ne o To| oot Moe 1| T 2 %
Average output torgue Noet.+n,eteeen ot SR -
1 1 2 2 n n = ‘;\ﬂ
5 B
Eaij(?ﬁiﬁﬂjjjﬁﬁ Tmo Nm Tmo = 7—/: 7—2: 7—/7 E/\]EEij({E i il
Peak output torgue value Tmo = Largest among T;, To, -+ T, g
BERIARREENEABTTFRABHENT = ; —
Please make sure the peak output torque is below the maximum output torque in the specification table § 5 f‘i
=9 =
. = N N 3z 4
QT HMANER | REWMNERNITE 12 g
Calculation formula for input speed <
. |
Tt R nao | /min nao = Nty +n, teeen,t, g g;
Average output rotation speed t+ bttt E
a jB
g
RERbEE amo | rmin 0= Nz 0y MERAE €
Peak output rotation speed nmo = Largest among n,. Ny, - N, Tlﬁi
53
N
T NER i ; — — s — rati °5 o
A TR G nai | r/min  nai=nao X R (R= &) (R=ratio) 5 %
&
BEANLE i : = — A = rat 2 2
Peak mput Spocd value nmi | r/min ami=nmo X /£ (R = @Et) (R =ratio) 297
S 3 ;; =
RN e e . R 55 H
BERIAERSRANERABTTRESMAERELT 2 . IR
Please make sure the peak input speed value is below the maximum input speed in the specification table 3
@F eIt E R
Calculation formula for life span §§ AL
SEEHAE A AT (a] = ar |\, [nar ]
Part life span for the elastic bearing Lhe h Lhe = 10000 x Tao X nai c A
= MEaE S ERAE Q 4 B
Rating torque Nominal output torgue in the specification table 8 ?
z &
TN : : 2
Rating input rotation speed nar r/min 2000 r/min 5 |

FLEXWAVE WPZ5 12



High torque type B2 [1#2B2

£t e (T ihiR)

W EHAEIE (R SORF 4

Life estimation(Main bearing)

Main bearing specification(Cross roller bearing)

RHTRER (Ea=s BASISIMENG | BRHSTENT BEIIE JIFERIM
Z5 R~t Pitch circle diameter Offset Basic dynamic load| Basic static load Allowable Moment
- of the bearing rollers rating rating moment rigidity
Series Size
Dm L C Co Mal Km
m m N N Nm X 10*Nm/rad
85 0.0350 0.0095 4700 6070 41 4.38
42 0.0425 0.0095 5290 7550 64 7.75
WPU-[-[ ]-CR | 50 0.0500 0.0095 5780 9000 91 12.8
63 0.0620 0.0115 9600 15100 156 24.2
80 0.0800 0.0130 15000 25000 313 53.9
85 0.0500 0.0162 5800 8600 74 8.5
42 0.0600 0.0184 10400 16300 124 15.4
WPS-[]-[ ]-SR | 50 0.0700 0.0195 14600 22000 187 25.2
63 0.0850 0.0241 21800 35800 258 39.2
80 0.111 0.0299 38200 65400 580 100
85 0.0500 0.0217 5800 8600 74 8.5
42 0.0600 0.0239 10400 16300 124 15.4
WPU-LH -SRH ) 0.0700 0.0255 14600 22000 187 25.2
WPU-[ - -SRJ ' ' '
63 0.0850 0.0296 21800 35800 258 39.2
80 0.111 0.0364 38200 65400 580 100
A
FHAEGITE |
Life span for the main bearing Fr, |
Fr, i
Cp=s gEnE | P
Operation cycle example Radial load ! Fry TE:E
Fa,
Fa,
i1 $1 75 Fa oy
Axial load Fa, J18]
| Time
ni , 2 ng |
5 R "N\ n, \
Output rotation Bt ig]
speed PR P I P . 1 ‘ Time
B ShER A fE
External load L
Lr L FL L
| L i ] < <1
0 |
1 £ £ r £
] a o L a
© £
- LFa o
— O
H L — SN

13




=hEEB2

High torque
type B2

AUD . . . . . P
Eeo1tE&E (F5WAR)  Life estimation(Main bearing) s108
g2
sg #
7] % %
O:AMEAIRENITE -
Calculation formula for the largest working moment ° R B
g ~f
RADEERE — ) ) & =
peaks\‘/vorkmg oment Mm Nm Mm=Frm - (Lr+L)+Fam - La :
EAREAE e | N A= FOL e BYROKE °
Peak radial load Frm = Largest among Fr,, Fro, - Fr, ®C & |
B A AT e N Fam=fFa,, Fap - Fa, NEKE %? %
Peak axial load Fam = Largest among Fa,, Fa,, - Fa, 25 @
BERINSANHREANTFREEUT 2

Please make sure the peak working moment is below the maximum allowable moment

(Burreaq urepy)
uolnewse oy
) HI S 3h A |

@Fizmnf/ ME i/ TR FYNERENITE &

b3
Calculation formula for the Average radial load, Axial load, Average output rotation speed, Average e —.
working moment 28 iﬁ\”
55 W
D 3 i
, 10 10 10 5 B
:Figféﬁﬁﬁ Fra N Fra :10/3 Nge t,-lFr,l /3+f72- f2o|Fr2| /3+...+ N,e l‘n.l/_‘rnl /3’ g s
Average radial load Nt AN, bt otn t, 8 %
s |
10 10 10 = S
T hmE S f . N Fag % My te| Fay| /5 41y t,e|Fayl /gt N Lol Fay| % 3 ;;%J
Axial load Rt + My byt oot = 7
Tk R . Nyt +n,oteeen ot 5
: nao | r/min  nao = —
Average output rotation speed b4ttt 8z =
se &
E
o2
THIAFIRE — Fra - . L E
AR T e Ma Nm  Ma=Fra-(Lr+L)+Faa-La g

OnEERY HSFNREARFNITE

Calculation formula for the Loading factor, Equivalent radial load

anbio| Bunwsuel|
>
i

- +Z$3/D <1589, Xc=1.0, Ye = 0.45 2 W
ra a m g é %
LGRS B 5 M
g Xc, Yc S I
Loading factor r #
aa > 1.58Y, Xc =067, Yc =0.67 =

Fra+ 2Ma /Dm -

— e (A2
Eb"?‘%f) ME P15 fEr Pc N Pc= Xc - (Fra + 2Ma/Dm) + Yc - Faa
quivalent radial load

suononasul
Alquiesse

=
=H

pue uole|esu|
ey

A

@EHAG Y AR g
Life span for the main bearing gi 2
 EHREDE e | h o ppee 19° C |\ s 4
Life span for the main bearing - * L
60+nao | fw-Pc 5
oz
1.0 : REFEHERY  no shock é ;‘;—{
Ir%q;aicti%?or fw - 1.2 | ERELEYFRTERY  with some shock g; i
1.5 | EREIRE TS with shock and vibration 2
FLEXWAVE WPF5 14



High torque type B2 [s1%%B2]

ke NI A7 Maximum load at input shaft

B A AEAS (?Fﬁ&(?'é, éﬂé\ﬁg) Bearing specification (Open type, Unit)
B A L
Bearing A Bearing B
Z5 R~f| BEAXohSTERF EARBSEE A BEARGHSTE A EARBHSENE A a b
Series Size | Basic dynamic load rating | Basic static load rating | Basic dynamic loadrating | Basic static load rating
C Co @ Co
N N N N mm mm
B85 4000 2470 4000 2470 16.5 | 26.5
42 4300 2950 4300 2950 17.5 | 29.5
WPU-[-[ ]-SRH| 50 4500 3450 4500 3450 16 | 26
63 4900 4350 4900 4350 17 29
80 14100 10900 5350 5250 20 | 355
B85 2240 910 1080 430 245 21
42 2700 1270 1610 710 27.5 23
WPU-[ - -SRJ| 50 4350 2260 2240 910 323 | 252
63 5600 2830 2700 1270 37.3 | 29.2
80 9400 5000 4350 2260 39.4 | 38.1
B RA - HAA -
Bearing A Bearing A ]
iHAB tHEB
R E,,_ Bearing B Bearing B
_\‘éj‘ i \i
1 e
a b
B B e CEE5 N\ 5%3R : 2000r/min. F By 8] : 10000h)
Maximum load (Average input rotation speed : 2000r/min, Life span : 10000h)
800 35 500 35
\ —_—42 —1)
450
700 \ e 50 \ e 5,0
400
= \ —380 = 350 —30
— 500 ~ 300 AN
C \ L \
L'E_ - 400 ,@ - 250 \
® 3 N\ \ ® S 200 N
— 300 =
E 3 \ \ FH < 150 N\ AN
© [
& 200 AN NGl I
I 100 \ \ \ ) 1(5)2 AN \\§\ -
NN N NN\
0 T T T 1 0 T T 1
0 100 200 300 400 0 100 200 300
Mm 7 fEr Fa [N] Hm A Fa [N]
Axial load Axial load

15




BHEEB2

High torque
type B2

SEEF Jubricant information graa
(2] 5 \%
A5 7B 7T Y (£ A -
Grease 5 EJ
Sumiplex SFB No.1 (HAMEH E/EFIFRINE L) Sumiplex SFB No.1 (SUMICO LUBRICANT CO., LTD.) ¢ &
FEREETTE:0 ~ 40°C GF1EEE) Operating temperature range:0-40C (ambient temperature) g
A
A1 B B IR R iy
Grease application ég j
'1]
BRUTERTRRVEZIMREED BT Please apply grease according to the table below. - ;t; —
W B TRIRE Grease application 55 fﬁ
35 =
RIERENANRES R GHMNAER. @ L AT AE, EERKBUCAIRES, G
(EFNDBRNASER, HR T C (M) AR hE.) ’f

N N s s 5=
BT NASSY ~ 4 B R EE = 81 KI50% B DB 7l g8
S LA S 2 s NN — o 3
BHFFERITERAETA B, BEBARE, (o] 2t
=
‘The quantity of grease applied to C should be SSRERER(I Applied part §
adjusted depending on the mounting direction. R~t -
C of the unit type product is already filled with Size A 5 (ﬁcﬁ) (F']CJ: (F']C D 5E
the same quantity of grease as horizontal Edl% & ) i ) gg
. Horizontal | Vertical up | Vertical down 38
mounting. 55
-50% of the space between input assy and 35 0.3 0.3 6 8 9 0.3 S
casing inner wall should be filled with grease. 42 0.5 0.5 10 12 14 0.5
‘If the amourjt of grease is not sufficient due 50 08 08 16 18 o1 0.8
to case design, please contact us. 3z 2
63 1.5 1.5 30 35 40 1.5 <8
80 3.0 3.0 60 70 80 3.0 iz 1
[ | /@;’%‘ﬁmﬁﬁ%Mﬂ Grease application location ¢
1
["WPC-[J-[J-CR | ["WPU-[J-[J-CR | ["WPS-[J-[1-SR | s £
A
a 7B
i g
(1) c T
Horizontal reapplied 58 X
— B! — = 5 i
o o o 1
1=
ais 2
Casing - ;Z? %
jF‘iﬁl\iﬁ()f"l/zIoﬂ—lf?I'\ilesgaf;in\/o\ume b TR {E950% é .
(M)
Vertical ! ; ' ; |
down ; i . L I S5 |B
] ¢ 4 ) - é%’ Zﬂl
HIAASSY HWAASSY N 5 =
‘\npuisect?én assembly - M § ?;
HAASSY " A
HINASSY e HWAASSY R
input section assembly _ 9 #%
| g IE
(ML) —— ; g
Vertical f T e L i z i3
up ! 5
PE O\ SERSEn50% s |

B EMN50% bk HFEZEIN50%

FLEXWAVE WPE5 16



i

High torque type B2 [1#2B2
)

W ZEREE Attachment fixture requirement

| WPC-[]-[]-CR |

ZIEXE R Attachment fixture requirement

section

BB

e 5
4 Y
. R i
2 =L fit
Out{pﬂ © éa_ Eﬁ‘ - *
section Sl =2 5
iR *,“g s¢ 3
P ) -
L[ b A & '//
//A
REEE [mm]
gq 35 42 50 63 80
1ze
a 0.015 0.015 0.018 0.018 0.023
b 0.010 0.012 0.014 0.016 0.020
© 0.013 0.013 0.015 0.018 0.020
d 0.015 0.015 0.018 0.018 0.023
e 0.015 0.015 0.018 0.018 0.023
f 0.012 0.012 0.014 0.016 0.016
g 0.016 0.020 0.024 0.024 0.024
| WPU-[]-[]-CR | | WPS-[]-[1-SR |
©f ev o
L[ a2 [A i
Casing T
- %ﬁ |
© |
Z e, e M
- 3 ASBAL IMNBRL
~ % ém © ~
| bls, E2 i i
HH E8 o® HIH MN
Y|Ee go 4 4
| fr|gf e fit fit
M #rs * ®
= L[ b [A L[ ¢ A
7
4 %
7 :
R /)
REIRE [mm] RENEE [mm]
)S?T_f 35 42 50 63 80 RTI 35 42 50 63 80
ize Size
a 0.020 0.020 0.020 0.025 0.025 a 0.025 0.025 0.025 0.030 0.030
b 0.012 0.012 0.014 0.016 0.016 b 0.020 0.020 0.020 0.025 0.025
© 0.016 0.020 0.024 0.024 0.024 © 0.020 0.020 0.020 0.025 0.025
d 0.012 0.012 0.014 0.016 0.016
e 0.016 0.020 0.024 0.024 0.024

17




=hEEB2

High torque
type B2

£ 758 Transmitting Torque £2114
2.5 ok
g2 M
sg #
e 't 3
TR |
Bolting S §
1822 Z[E SR INT R &
B BLZ NN EEERE, IERNEFETER, RLUEEEMIA. g
Please refer to the table below for the bolt tightening torque. |
Please be noted that the transmittable torque varies depending on the bolt count and tightening torque. oL ﬁ
11
ig ¥

¢

1822 X[E 1%

Tightening torque for bolts

(Burreaq urep)
uolewse oy

MRy R~ Bolt size M3 | M4 | M5 | M6 | M8 | Mi0 BINIEZ:sBEXD12.9L0 F
EEH%E [Nm] |Tightening torque 19 | 43 |87 | 15 | 36 | 71  Recommended bolt :
Strength rating above 12.9

(k) S Sh it |

8

35
23 A
55
T A
= 24 o1 ) A g 3
ES e @R AaR) £ g
Bolt specifications and Transmitting torque (Closed type, Unit) _
g
?%E@Hﬂ;fé Output flange attachment i fjj
= 70
R~T Size 35 42 50 63 80 &)
Be R~ Bolt size M4 M5 M6 M8 M10 3
1R22 N Bolt count 6 6 8 8 8 5
ZEPCD [mm] |Bolt PCD 23 27 32 42 55 3z ﬂa!e
EE/JE [Nm] |Tightening torque 43 87 15 36 71 %;; ;;
£S % [Nm] [Transmitting torque 56 106 238 566 1177 35 5
;_<':
?’%Wfﬁi@ (CR) Internal gear attachment %
R~f Size 35 42 50 63 80 g5 &
1R RSF Bolt size M4 M4 M5 M5 M6 52 3
BRZZE Bolt count 8 8 8 10 12 3 -
> Q
ZHPCD [mm] |Bolt PCD 65 71 82 96 125
ZE S [Nm] [Tightening torque 43 43 8.7 8.7 15
£577%8 [Nm] |Transmitting torque 210 230 430 629 1392 25 1
EC )\
THEAEL g %
Internal gear attachment ~ N——— 15
iz B
my %2 m
TR A= —~ s
Output flange S8
attachment \ gg TJ;L
S I N Sg =«
®y It
5 =
&
9 &
s Mk
z &
.

FLEXWAVE WPZ5 18



High torque type B2 [s1%%B2]

£ S7% Transmitting Torque

£ S S5 GHimm. sherm)

Bolt specifications and Transmitting torque (Closed type, Component)

LREFZ MR Flex Gear Attachment

R~ Size 35 42 50 63 80
B Rt Bolt size M4 M5 M5 M6 M8
B2 Bolt count 6 6 8 8 8
LHPCD [mm] |Bolt PCD 17 19 24 30 40
ZE S [Nm] [Tightening torque 43 8.7 8.7 15 36
£S5 7% [Nm] |Transmitting torque 41 75 126 223 539

LRRLEH (CR) Internal Gear Attachment

R~t Size 35 42 50 63 80

182y R~ Bolt size M3 M3 M3 M4 M5

1R 22N Bolt count 8 16 16 16 16

Z3PCD [mm] |Bolt PCD 44 54 62 75 100

ZESE [Nm]  |Tightening torque 1.9 1.9 1.9 43 8.7

£S48 [Nm] |Transmitting torque 82 200 230 485 1048
ZRENER

Internal gear attachment

- - ul

REXEHEE

Flex gear attachment

OETFFLEYIBN Reinforcement

FMERRRENERNERFRERRE, BRNERHEF-
HFFLRIRESR KIBM.

Pins can be added if the transmittable torque at the flex gear interface is not sufficient.
As an option, holes can be added.

Thru hole for pins

Forcing tap

WP-35, 42 WP-50, 63, 80

19



BHEEB2

High torque
type B2

22 MR
o5 TEIR
ge W
= tZ
% F 115 FrR) i
Bolt specifications and Transmitting torque (Open type) % EJ
THEFM I Flex Gear Attachment 2
R~ Size 35 42 50 63 80 s
R RSF Bolt size M3 M3 M3 M4 M5 = =
BLAIK Bolt count 8 12 12 12 12 50 &
ZHPCD [mm] |Bolt PCD 64 74 84 102 132 oc 2
E@E%E [Nm]  |Tightening torque 1.9 1.9 1.9 4.3 8.7 25 @
£5 7% [Nm] [Transmitting torque 119 206 234 495 1037 S
ﬁ’fz;%[j\]fﬁtﬁ@ Internal Gear Attachment §Z§ ?ﬁ
R~ Size 35 42 50 63 80 23 g
By R~ Bolt size M3 M3 M3 M4 M5 es 3
1222 K Bolt count 8 16 16 16 16 %
LHPCD [mm] |Bolt PCD 44 54 62 77 100 5= |
K[EJFE [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7 ﬁ% N
£S5 /7% [Nm] |Transmitting torque 82 200 230 498 1048 g; %
8 ¥
ﬁ | —
g
=Y
2 /B
H—— TRAER - il
—%/ Internal gear attachment %
T ! S
Flex gear attachment N 8 =
i3 18
32 E
TR
Q23
— I
LREFZMER F S—. TENER S
(=]

id Il

aInjonis
uonoes Indu|
RIS

g
Flex gear attachment \ Hﬁ:—r/ Internal gear attachment
A = e

e REEA
TEFZMER - Y Internal gear attachment
Flex gear attachment AN (11

ainpaooid

uolje|e1sul IojJoN
i

1 ||

eleq SonsualoeIey)
W

FLEXWAVE WPZ5 20



21

M

High torque type B2 [g5%B2]

B ONZENINIE  Input section structure

5 N BB (L1435

Input section structure

BABMIMGE D N +FRRE (BhEOEE) SRNME, RRmALERFERMAR.
FHERIBFWMINARTE,

There are two types of input section structure, oldham type (self-centering feature) and rigid type.

N +FBRE (BshifEoiE) W A B
Oldham type (self-centering) Rigid type

1N i .
N

LRARRYT

Cam hole diameter

ORAERIAEEET FRFEFLRRT T, MA+FBRE, TirER~RAFLETEE, U
ANEEEF FREBEUIINRT, BHTEBRRF,

The diameter of the cam opening is customizable. Holes smaller than the 'standard hole size' in the table will be built in the

oldham type. Holes equal to or larger than the 'standard hole size' and smaller than the 'maximum hole size' will be built in the
rigid type. Please contact us if you need sizes outside the specification in the table.

H v
ﬁl
N [ A
\ /
L
MR~ Cam dimension [mm]
)§Tf 85 42 50 63 80
1ze
FREFLE
standard bore size 6 8 12 14 14
BAALEV 17 20 23 28 36
maximum bore size
S NEEE H 6 7 8 9 11

minimum thickness




=hEEB2

High torque
type B2

SEEZEIN Installation and assembly instructions g2u
25 IR
g2 M
sg #
7] % %
A A L ~ 2
Ba N/ %ai U % BY 32 #2 (WPC-[-[0-CR) -
Shaft installation instruction S _Rj
Eﬁﬁ)\i&/Eﬁﬁﬁﬁmﬁ%ﬂ%%m{ﬁﬁﬁjt%ﬁﬁm%mﬁﬁ/E&Fﬂﬁlﬁﬂ@i‘zﬁmiﬁo (TERNZZLH6) =
RBERERV AR EAEER T LR, BHITEE, BNk EHMEEa. g
Please design the support structure for input shaft and output shaft so that both radial and axial loads are supported. (Diagram |
below shows an example) s &
Inside thrust load has effect on the cam. Secure cam from the possible axial movement. @.g ﬁ
o= 7
i2 &
e f ez
Output shaft PN Ai’f‘f
- =5 %
Input shaft ERN
5@ [
N is =
i 7 5
=
T A
& (@ 2 UAS
Cam 77@—
g
s B
Ll
o] > 3
3£ 7 3E (WPC-[I-[0-CR)
Attachment flange requirement 3z % B
S8 It
ZRSFREERRERIE=ZN, ATHIEEMREERIRE, 5 R
RIE TR R T A s E
For the attachment flange that comes in contact with flex gear, please build the _ ,7:,> s
corner radius according to the table below, in order to prevent damage. —
o :
[mm] © % %%E
"F’? 35 42 50 63 80 an E
tem L g
D 245 29 34 42 55 J N
R 23 %W
R 1.2 1.2 1.4 1.5 2 E'g N
t 2 2.5 2.5 5 7 t 5¢ &8
g {u
5 1
&
Sosy H
535 =
2
35 B
g2 Al
5 =
¢ E
o x|
s 4
i I8
:?:

FLEXWAVE WPZ5

N
N



i

High torque type B2 [s1%%B2]

BN 5L Motor installation procedure

AN B R ] BT RRN LR B B R TR BN BENIE T,
*This model is not directly attached to a motor. Necessary fixtures are to be prepared at the customer side.

B &3 75 5% (WPU-[-[(-Cc[)

Motor installation procedure

b Ay Procedure 1
j%;f:‘ﬁ%:zg EE;‘:}'LJ: -Attach the flange on to the motor
4%5@)\ASSY§§:ZF:EEWLEEJ: ‘Attach the input section assembly with elastic bearings to the
ﬁggéﬂéﬁg}ﬁ%éﬂﬁ: motor shaft

-Attach the unit

[ T

)

[ [
J

[ i

i

1 |
Hm

|
M

|

i

[

1

L= 3 &l

=
]

]

gis /4 A ASSY \ 2l
= input section assembly — b ﬂ
HETUAMN
unit =
flange
A ﬁgiE%Z Procedure 2
jfﬁ@)\ASSYigﬁEE*ﬂ.EEIJ: ‘Attach the input section assembly with elastic bearings to the
R TR et h
s ‘Attach the flange on to the motor
BREHSHF AN '
-Attach the unit
— —— &=
H flange

sn 1= -+

B
[
1
1
[T]
|

|
=
|
|
|
I
|
i

= 0 &

=
1

- . BBl
- | J | | motor
1 ||/ . B\ ASSY
I\ I % input section assembly
AERAN
unit

ﬁ%};ﬁf@ﬁjﬁg;f%ﬁ%lﬁ Caution during installation

- AEBTEAR, AT ERIINE,
R PIMEIFEHE NI ASSY,

- Do not use excessive force while mating parts
- Please watch for tilting during input section assembly and motor

23



=hEEB2

High torque
type B2

\ A V2 . . %) (PN
"REVESNIE  Characteristics Data g2u
S5 |k
g2
sg #
7] % %
TRELHIFE (Closed type) i
Ratcheting torque [Nm] S _Rj
LS i
: &
ato 35 42 50 63 80 g
50 120 220 340 650 1400 I
80 140 250 410 700 1600 5e X2
100 130 210 340 690 1300 i% fr
120 i 200 310 680 1200 i2 &
160 - - 300 620 1000 = E
= |
Closed type 25 5
JEBRFARE ( ype) i
Buckling torque [Nm] g3 I
2 B
NP, S == =z
kL RS 5
et 35 42 50 63 80 =z w |
50 ~ 160 260 500 800 1700 3500 =3 E/E
FRECHIZE (Open type) s
- Ul
Ratcheting torque [Nm] /o
: 3
it A 2
i = 7
e 35 42 50 63 80 3
50 120 220 340 650 1400 i
80 140 250 410 700 1600 5 |
100 130 210 340 690 1300 gz =
120 - 200 310 680 1200 i
160 - - 300 620 1000 22 E
JEBRFARE (Open type) S
Buckling torque [Nm] j% T;j
7
HELS a 2
Rati K
o 35 42 50 63 80 g
50 ~ 160 180 350 590 1100 2400 T o3 e | ” M
~ 1IN
BENEGHLR g
. Relational diagram of intensity and life N WA]
— 180 e =)
g \ | fE#A%E  Buckling torque 1=
q; g 160 — — —
= s 3%z &
=2 o 140 < = =
@ g g5 =
m o 120 @ ; In
Q g 100 v SRR Life of elastic bearing =
H_ S | A HIE
3H:: g 80 \ Ratcheting torque T = EE
{<¢[ 2 13@’&@5@&%@%?&? Fatigue strength of the bottom of the Flexgear g g’ *n‘
NG 22 =
= 2 4.0 E E3
Rl TESHEAIE F 5
- g mergency maximum torque [~
L'E‘— § 20 T BFRAHAE Allowable maximum torque S Ii
e Y T FHBEVFHSE Average of allowable torque oo
% * 10° 100 107 108 10° 10" %g E
— Q
WA SR (R) g ?E
Total number of rotations of input shaft [times] g
(1]
»

X EEUSKIRNEHIE ARMEIE. BIFNSEESS,

* The graph is based on actual measurement value. For reference only.

FLEXWAVE WPZ5 24



i

High torque type B2 [1#2B2

"REVESNIE  Characteristics Data

AELSRE

Transmission Angular Accuracy

1.0
ER R\
BAEESKEREX
TELRAFEFE TN, Bt el R g 0 ﬁfﬁ%gﬁfg
TR AE S L InH LR AERNEE, W
What is Transmission Angular Accuracy? i S 00
w
It is the difference between the measured output Eg
rotation angle and the theoretical angle, while input fﬁg -0.5 s
shaft is rotated with no load. -
-1.0
0 90 180 270 360
mihEERRE (F)
Output shaft rotation angle (deg)
[arc min]
s R~t
TR EE Size
Rati
Ao 13 42 50 63 80
50 1.5 1.5 1.0 1.0 1.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
160 - - 1.0 1.0 1.0
MERPBENSEE,
Table values are reference values.
M (=]
I =ERES
Hysteresis Loss
e e o e FAE
IWEL&*EX Twisting an;}
WANWEE S, B HEmMEwEMNE0/7%E 1
BB A=, mIERR
ysteresis LOsS
What is Hysteresis Loss?
When torque load is applied at the output shaft in
alternate direction repeatedly with input shaft fixed, 7V > b
there is residual twisting angle when torque is back Torque
to zero. /
In this context, hysteresis loss is the difference in the
forward and backward twisting angle.
[arc min]
s R~t
IREE Size
Rati
Ao 3 42 50 63 80
50 2.0 2.0 2.0 2.0 2.0
80 1.5 1.0 1.0 1.0 1.0
100 1.5 1.0 1.0 1.0 1.0
120 - 1.0 1.0 1.0 1.0
160 - - 1.0 1.0 1.0

25



=hEEB2

High torque
type B2

23 R
g8 Wl
sg #
= Ak -
RAHR i
Maximum Backlash [arc sec] % §
2 %
E15 = NP R~ 3
RAEMKEEX BIREL Size o
A - N - Ratio o
BNE R A+ R R ELAA ¢4 BT B S LB IR Th 35 42 50 63 80
18] R 50 35 29 25 20 16 ac & |
(N AERE IR0, B LN E A AR A 80 22 18 16 12 10 g ﬁ
0) 100 18 15 13 10 8 i2 &
What is Maximum Backlash? 120 } 12 10 8 6 =
In this context, maximum backlash is the output £ |
: 160 - - 8 6 5 zc =
backlash for oldham type input shaft. (Backlash ff 3
is zero for rigid type input, because gear %% fﬁ
engagement backlash is zero.) é % =1
es =z
i

K177 0 ~ T, Bysg sy ,
Spring coefficient at 0 ~ T, torque —_——

. K2 JI5E T, ~ T, I E B
IX“J ’l‘i (:dt:T.I. |7.|'—,| ;_—:Flgs éﬂégg) Spring cl)eff\cwefwt at T, ~ T, torque

.
(%

Jeys indul
>E

18 PBO| WNWIXBIA|
o
H

. . K3 7738 T, ~ MR EE o
Stiffness (Closed type’ Uﬂlt) Spring cf)eff\cwentathwtorque }j
Ul
o Ty
P RE X o - =
sk L 3 g«
(& E Ja1 N\ M, K5 0 %6 T 0 2 Ban 0 U B RO o8 22 K, | 8 f;j
1 - Jl
BB SHERE . 5
[<2) I 3
What is Stiffness? % SR e | 2
In this context, stiffness is the output shaft twisting E g K ' . - 1 —
angle and the spring coefficient, while torque load T2 ! . 55 2
is applied to the output shaft with input side fixed. = ; - g ] fg
! i iz E
0 T T, 5
' oawhE
Load torque cf (& [
z =
s - N R~f g A
BUIRLL "= B Size & e
Rati i i g
atio item unit 35 42 50 63 80 %
i T, Nm 2 3.9 7 14 29 23 W |
- T, Nm 6.9 12 25 48 108 S8 é\
K X 10*Nm/rad 0.41 0.87 1.3 25 5.5 - %
SE
K, X 10‘Nm/rad 057 1.1 18 3.4 7.9 =1
50 Ks X 10‘Nm/rad 0.70 1.4 2.4 45 10 242 2
6, arcmin 17 15 19 19 18 s<s X
g A8
6, arcmin 4.6 4.1 5.3 5.4 5.3 -
K, X 10°Nm/rad 0.51 0.90 13 28 5.8 T
80 K, X 10‘Nm/rad 0.67 1.3 2.1 45 96 g8
100 cZ
95 Ks X 10*Nm/rad 0.78 15 2.5 5.2 10.5 g
160 G, arcmin 1.3 15 1.9 1.7 1.7
6, arcmin 3.9 36 4.8 4.3 45 gg
e
Q
KRPBHENFIIE, &
Average value shown in the table Fy
2

FLEXWAVE WPZ5 26



High torque type B2 [1#2B2

"REVESNIE  Characteristics Data

=Lk

Starting Torque

B HEE Y 1 RIBEAEHTE, MEFRER, MULERENSE
. . B,

4\ G B BE B, SN ) FF A B R 80 ) T R

55 Cg;gia“irne.nce only. Torque value may vary depending on the

(e, ERE 1 25°C)
What is Starting Torque?

Input torque needed for input side to start rotating (no
load, ambient temperature : 25C)

M HFE, H58 Closed type, Unit
s, BRAEE Open type, Simple unit
X2 BRI N M HE S BRF A S B9 TE 7% FE /0 PR SRRV 820,

*2 Charts does not show effects due to rotation resistance of bearings and oil seals on the input side.

[cNm]
JREE }§z_ér
Hato 35 42 50 63 80
50 2.1 3.9 7.7 17 00
80 2.0 3.4 6.6 14 21
100 1.9 3.0 6.2 12 20
120 - 2.7 5.8 11 17
160 - - 5.3 10 16
W M, AER (=) Open type, Unit (hollow shaft) o
JHIREE §z\_ér
Hato 35 42 50 63 80
50 5.6 8.1 10.2 20.1 26.0
80 5.5 7.6 9.1 17.0 25.0
100 5.4 7.2 8.7 15.2 24.0
120 ] 6.9 8.3 14.2 21.0
160 - - 7.8 13.2 20.0
B A, AEB BN Open type, Unit (input shaft) o]
AL mT
Hato 35 42 50 63 80
50 5.0 7.3 9.2 18.1 23.4
80 5.0 6.8 8.2 15.3 22.5
100 4.9 6.5 7.8 13.6 21.6
120 - 6.2 7.5 12.7 18.9
160 - - 7.0 11.8 18.0

27



EB T H%E

Output Starting Torque

IMERBEhFIEE X

FB 4a0 0 {50 EL e AL B, Ba M R 4R TR ¥2 RY 0
%,

(e, ERE 1 25°C)

What is Output Starting Torque?

Output torque needed for output side to start
rotating (no load, ambient temperature : 25C)

M HFE, H58 Closed type, Unit
s, BRAEE Open type, Simple unit
X2 BRI N M HE A BRF A S B9 E 7% FE 0 PR s SRRV 820,

X RIBEEARATR, REFEER, RULXRFEREE

BEfEM.

*1 For reference only. Torque value may vary depending on the

condition.

*2 Charts does not show effects due to rotation resistance of bearings and oil seals on the input side.

[Nm]
JREE gzjeL
Hato 35 42 50 63 80
50 15 2.2 3.3 8.4 16
80 1.6 2.7 35 10 21
100 1.8 3.2 4.2 12 24
120 - 3.4 5.6 14 07
160 - - 6.6 20 38
W A, HE 8 (RE4) Open type, Unit (hollow shaft) o
JHIREE );z\_ér
et 35 42 50 63 80
50 3.3 4.3 5.8 11.6 18.0
80 3.8 5.6 7.0 16.0 28.9
100 4.6 7.2 9.2 22.4 40.4
120 ] 8.6 13.3 30.0 53.8
160 - ] 19.4 54.4 99.3
B A, AR B NE) Open type, Unit (input shaft) o]
AL mT
Hato 35 42 50 63 80
50 2.9 3.9 5.2 10.4 16.2
80 3.4 5.0 6.3 14.4 26.0
100 4.2 6.5 8.3 20.1 36.4
120 - 7.8 11.9 27.0 48.5
160 - - 175 48.9 89.4

FLEXWAVE WPZ5

=hEEB2

High torque
type B2

%fﬂ}a\
S5 18R
g2 Wl
ss A
28 =
2 =
T ~
o R |
g ~f
& K
B
5
o
(0]
ms EH
Do A
g;fu [=]]
O = 2
S5 i
g2 B
sS &
a B2
]
S
=r
59 [1E]
35 =
-
,:H

.
(%

P

]

>

Jeys indul

1e PEO| WNWIXBIA
Ant
H

i

D

i

FOZR SN
Hi | &

il

ﬁ

Juswalinbal

2INIXI} JUBWIYOBNY | Uoiewloul Jueouqn|

Y i i

anbio| Bunwsuel|
>
i

ainjonis

uojoes Indu|

suononasul
Alquiesse

pue uone|eisu|
ik

ainpaooid

uolje||eisul JojJoN

eleq

sonsueloRIRY)




High torque type B2 [g5%B2]

REVESNIE  Characteristics Data

J\ ‘-ﬁ i:_ 5:5 j] %E [cNm]

(SR, AAR) At || AR ~
(Fﬁﬂlﬁ!, ﬁ%éﬂégg) FEILS speed 35 42 50 63 80
Ngl-loaéi tRunﬂiBg,tTorque 500r/min 3.8 6.4 10 18 38
EOpOSr? tygg,eéimn;jll)e unit) 50 1000r/min 4.9 7.7 12 22 54
2000r/min 5.9 8.2 14 24 57
= — 3500r/min 6.3 8.7 15 26 63
ﬁﬁ EE?’J%EEX 500r/min 3.0 5.8 8.4 21 34
EEAEFEET, ERIERR 1000r/min 3.7 7.4 10 24 41
HEBRANMFIFE. 8 "2000ymin | 46 | 80 12 25 47
(FIME, MR E 1 25°C) 3500r/min | 5.1 8.8 12 26 53
What is No-load Running Torque? 500r/min 2.8 55 7.3 16 35
Input torque needed to keep it 1000r/min 3.6 7.3 9.2 19 44
runnling with no load (av?rage value, 100 2000r/min 4.3 79 12 29 54

ambient temperature : 25C) -

3500r/min 4.6 8.8 13 23 57
500r/min - 5.0 5.9 14 34
120 1000r/min - 5.7 8.1 18 41
2000r/min - 6.5 9.7 20 43
3500r/min - 7.2 11 21 45
500r/min - - 7.2 15 25
160 1000r/min - - 8.9 19 30
2000r/min - - 11 22 37
3500r/min - - 11 22 40

X1 RIBERRMGTR, MEFEER, PIUELRFEASZEER.
2 EERMAMG EE%T&IXFLEE%%Eﬁﬁﬁi’él‘ﬁ?‘]ﬁﬁ?ﬁ%ﬁ’]ﬂﬁﬂﬂo

*1 For reference only. Torque value may vary depending on the condition.
*2 Charts does not show effects due to rotation resistance of bearings and oil
seals on the input side.

29



=hEEB2

High torque
type B2

LT B
82 1w
g2
cs #
g — [cNm] "’% 5
ThEE%NIkE i
(FFRE, AAE (hah)) Aty || AR A : R
No-load Running Torque FEILS speed 35 42 50 63 80 2 %
(Open type, Unit (hollow shaft)) 500r/min | 11.0 | 16.5 | 22.4 | 341 | 405 °
50 1000r/min | 119 | 19.2 | 26.1 | 39.5 | 450 °
EH IR NEENX 2000r/min | 13.0 | 217 | 289 | 444 | 497 =t = |
AL AEEHET, EEiFEEFRE 3500r/min | 15.0 | 21.7 | 33.0 | 515 | 588 ;Eg ®
BB NI S4B o 500r/min 10.3 | 135 | 229 | 347 | 515 iz B
° 1000r/min | 11.7 | 149 | 23.4 | 382 | 60.0 8° &
PR, TR 2570 80 2 / i 12.4 | 17 2 417 &
What is No-load Running Torque? OOOr/mfn ' -0 5.6 ' 63.0 =c ;t; —
Input torque needed to keep it 3500r/min 12.7 19.3 29.6 44.4 67.5 %g ﬁ
running with no load (average value, 500r/min 10.3 158 | 209 | 373 | 535 g5
ambient temperature : 257C) 100 1000r/min | 116 | 17.3 | 242 | 415 | 550 3s i
2000r/min | 13.1 | 202 | 258 | 49.4 | 60.0 i
3500r/min | 13.7 | 21.0 | 275 | 548 | 685 T3z @ |
500r/min - 12.8 23.5 | 34.6 | 38.0 a3 ﬁﬁ
1o | 1000r/min - 133 | 26.3 | 39.0 | 423 22 OR
2000r/min - 152 | 30.4 | 475 | 46.7 e
3500r/min - 18.7 | 347 | 51.7 | 51.9 N
500r/min - - 215 | 285 | 475 g
1000r/min - - 23.3 | 300 | 535 £
160 5
2000r/min - - 27.0 | 326 | 56.4 g
3500r/min - - 29.1 | 354 | 63.7 g
X1 RIBEARHAR, WEFEER, FULRENSZEER. if =
*1 For reference only. Torque value may vary depending on the condition. % g %
5 &
z 5
a 1
5
g3 W
25 A
§ fi
7
1=
s3: X
g5 =
e 5 M
2% m |
g8 Al
£z =&
(D; %
s 7
c A
52
i B
T x,
z I
2

FLEXWAVE WPZ5 30



31

High torque type B2 [g5%B2]

REVESNIE  Characteristics Data

T 1%E
(FFrR B, A& 8 (5 N5h))

No-load Running Torque
(Open type, Unit (input shaft))

EHFIEENEEX
TELEAEEFNT, EHIERPIFE
2% 3L PN PA =
(FIME, HIERE:25°C)
What is No-load Running Torque?

Input torque needed to keep it
running with no load (average value,
ambient temperature : 25C)

[cNm]
oty | B1I0E o
ato speed 35 42 50 63 80
500r/min | 4.4 | 81 | 122 | 17.7 | 26.3
5 1000r/min | 53 | 88 | 13.8 | 19.4 | 28.0
2000r/min | 6.2 | 92 | 152 | 23.8 | 30.0
3500r/min | 6.5 9.8 | 17.0 | 258 | 30.5
500r/min | 4.8 76 | 136 | 231 | 30.4
o0 1000r/min | 5.6 83 | 151 | 231 | 32.0
2000r/min | 6.0 | 9.2 | 162 | 25.4 | 36.0
3500r/min | 5.7 9.6 | 171 | 25.7 | 39.0
500r/min | 5.1 8.8 | 134 | 222 | 30.0
r0p |_1000r/min | 5.7 98 | 143 | 231 | 317
2000r/min | 5.6 | 105 | 163 | 247 | 36.5
3500r/min | 57 | 11.2 | 16.4 | 29.6 | 38.0
500r/min - 74 | 117 | 15.7 | 317
1pp |_1000r/min - 86 | 139 | 16.7 | 35.0
2000r/min ] 105 | 159 | 17.6 | 385
3500r/min ; 11.0 | 181 | 19.3 | 400
500r/min ] - 9.8 | 141 | 200
\6p |_1000r/min - - 119 | 158 | 22.7
2000r/min - - 134 | 16.9 | 26.0
3500r/min ; - 151 | 186 | 275
X1 IRIBEREHIE, HEFETER, U LEREASEEMER,

*1 For reference only. Torque value may vary depending on the condition.



=hEEB2

High torque
type B2
%g B
o< 1KIR
g2
sg #
7] % %
= S 4 I- K\ - ~
MR (HAR, AEE) (FRE, §R448)
Efficiency (Closed type, Unit) (Open type, Simple unit) g _Rj
@ N
g
ﬁﬁ[%] AL AL Ay Sy ] ‘Percentile Load (%) is equal to load torque divided by g
allowable average torque. @
EeIN=] . o B
ERE 125°C -Ambient temperature : 25T T = |
. . 5 *1 These diagrams represent the average value of the ps A
1 ERA BN T, [hese dagrame eb ’ g %
NN o NERE S 712 3§ ' , ) g3
X2 A BN NRE K KA 3 R S BYhe ¥ [ *2 Charts does not show effects due to rotation resistance of %% %
FIPTERBIE M, bearings and oil seals on the input side. < Eé
=
=8 ’?i
£3 M
Qs F
i
=
o 3
55
T A
S ¥
o)
WPU-35-50 WPU-35-80 =2
100 100 g /E
e 500 r/min e 500 r/min 5 %(ﬁu
90 | «=== 1000 r/min 90 [ === 1000 r/min s
e 2000 r/min s 2000 r/min B
> 80 [ e 3500 r/min > 80 [ e 3500 r/min §
> /—-' =)
5 70 g 5 70 5> = |
2 //—‘: 2 87 =
T 60 — T 60 S5 %
- = .
£ 50 £ 50 =2 E
¥ 40 //// ¥ 40 // 5
& b |
30 30 5 &
2 g
20 20 =)
° picl
10 10 3
0 20 40 60 80 100 0 20 40 60 80 100 %
g [%] Percentile Load g [%] Percentile Load T2z m |
g3 W
25 A
°g o
§ fu
)
WPU-35-100 i5
100 287 F |
e 500 r/min s3 B
90 || == 1000 r/min gz =
s 2000 r/min 2 5 M
_ 80 [ e 3500 r/min a
Q
5 70 — L
= f )
& 60 89 1l
- £z =
> T g
# 40 S 4
30 g;__? E
5
20 8
o %
10 z I
0 20 40 60 80 100 )

AT [%] Percentile Load

FLEXWAVE WPZ5 32



33

High torque type B2 [g5%B2]

REVESNIE  Characteristics Data

MR (HAR, AEE) (FRE, §R448)
Efficiency (Closed type, Unit) (Open type, Simple unit)

I %] AT 1%/ B 05
IR RE 25°C
%1 B AL NEEENTE,

X2 AN BLIE R N O EY K DR B 7% S5 BY e 4% FR

‘Percentile Load (%) is equal to load torque divided by

allowable average torque.
‘Ambient temperature : 25TC

*1 These diagrams represent the average value of the

actual measurement.

*2 Charts does not show effects due to rotation resistance of

N RBIE M, bearings and oil seals on the input side.
WPU-42-50 WPU-42-80
100 100
@ 500 r/min @ 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
e 2000 r/min @ 2000 r/min
. 80 [ e 3500 r/min - 80 [ e==== 3500 r/min
2 2
< 70 o 70
2 0
= 50 = 50
M 40 /// B 40 ///
30 4 30 4
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
fafr [%] Percentile Load e [%] Percentile Load
WPU-42-100 WPU-42-120
100 100
@ 500 r/min @ 500 r/min
90 | e 1000 r/min 90 || e 1000 r/min
e 2000 r/min e 2000 r/min
. 80 [ === 3500 r/min ~. 80 [ === 3500 r/min
2 2
o 70 o 70
O O
o 60 b 60
X 50 X 50
- /// M4
/4 /4
30 L4 30 [ 4
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100

AT [%] Percentile Load

g [%] Percentile Load



=hEEB2

High torque
type B2

%i R
ez
g
.
2ol 327 S A - —
MR (HAR, AEE) (FRE, §R448)
Efficiency (Closed type, Unit) (Open type, Simple unit) s _Rj
@ N
ﬁﬁ[%] AL AL Ay Sy ] ‘Percentile Load (%) is equal to load torque divided by g
allowable average torque. @
N =] o o B
IMFRE 1 25°C -Ambient temperature : 25C S = |
. . N *1 These diagrams represent the average value of the e
1 BRATVHIBHTIIE, _oee cmarans e ° 22 %
%o R = St R BR A 9 HE ' , , g3
RN E NP E NSRS 3: ) kg *2 Charts does not show effects due to rotation resistance of %% %
TIF A RETE Mo bearings and oil seals on the input side. a 5?;
= |
WPU-50-50 WPU-50-80 2 =
55 2
100 100 g 1t
- - 25 5
oo [ — o, o0 H = o, it &
2000 r/min 2000 r/min i
. 80 [ === 3500 rimin / -, 80 [ === 3500 rimin 7 %
S S / —
5 70 o 70 R
o o o Al
) ) 23
X 50 X 50 T B
\ y \ / g
§ 40 ,/ ﬁ 40 ,/ 2 £
30 ‘ 30 4 - ﬁ |
20 20 S jg
|
104 20 40 60 80 100 104 20 40 60 80 100 El B
fafa [%] Percentile Load faf [%] Percentile Load ;
S
WPU-50-100 WPU-50-120 3z 2 |
100 100 g 3 B
— i — i S = =
90 H = Sosommn %0 H = Seeaimn s E
80 — 2000 r/min a0 U — 2000 r/min %
3 w3500 r/min ? w3500 r/min
_§ 70 § 70 5 &
T 60 o 60 g 5
= 50 = 50 : ;jé
% 2 ,// % w0 ,/ g
30 / 30 / N |
20 20 g3 iﬁ?
10 20 40 60 80 100 104 20 40 60 80 100 °g %
ffs [%] Percentile Load it [%] Percentile Load |
=
WPU-50-160 3%z % |
100 §§§ 2
500 r/min L‘%E 5 %
90 [ e 1000 r/min 3 A8
50 U = 2000 r/min o
5 w3500 r/min
3 70 - —
g 39 %
T 60 g2
g 50 g E
i ¥
¥ 5 :{_\
w Y :
20 g9 4
58
10 8
0 20 40 60 80 100 g ig
$17F (%] Percentile Load o
@
FLEXWAVE WPE5 34



S

High torque type B2 [g5%B2]

REVESNIE  Characteristics Data

MR (HAR, AEE) (FRE, §R448)
Efficiency (Closed type, Unit) (Open type, Simple unit)

ﬁﬁ[%] AL AL Ay Sy ] ‘Percentile Load (%) is equal to load torque divided by
allowable average torque.
= 5 . o B
IMFRE 1 25°C -Ambient temperature : 25C
%1 BRSNS T, *1 These diagrams represent the average value of the
- actual measurement.
& NEE = S T2 b3 ) ,
X2 A BN NRE K KA 3 R S BYhe ¥ [ *2 Charts does not show effects due to rotation resistance of
= N7 7, . . . .
TIPSR B R0, bearings and oil seals on the input side.
WPU-63-50 WPU-63-80
100 100
90 H 2 %0 rmin 90 H 2 %00 vmin
2000 r/min 2000 r/min
_ 80 [ === 3500 r/min . 80 [ === 3500 r/min
[6) o
5 70 % &) 70 %
e 8
I 60 o 60
T 5 y T 5 Y/
UK 540
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
fafa [%] Percentile Load faf [%] Percentile Load
WPU-63-100 WPU-63-120
100 100
o0 H = o, o =,
2000 r/min 2000 r/min
. 80 [ e 3500 r/min . 80 [ === 3500 rimin
o [}
& 70 % § 70
o Q
I 60 o 60
g 40 g 40
30 30
20 20
0, 20 40 60 80 100 05 20 40 60 80 100
il [%] Percentile Load f1fd [%] Percentile Load
WPU-63-160
100
90 H = Toaa
e 2000 r/min
. 80 [ e 3500 r/min
(6]
& 70
E
1 60
g 50
B
JUREY
30
20
10
0 20 40 60 80 100

fifi [%] Percentile Load

35



=hEEB2

High torque
type B2
23 R
T @ /)9
8 18w
g2
sg #
7] % %
o~ £ 1 O 1] A - —
MR (SR, AE) (FRE, S54E45)
Efficiency (Closed type, Unit) (Open type, Simple unit) s _Rj
CDD N
w
. =3 ) . . L
ﬁﬁ[%] AL AL Ay Sy ] Percentile Load (%) is equal to load torque divided by g
allowable average torque. @
it:E = - o X o
IMFRE 1 25°C -Ambient temperature : 25C S = |
Ty
. . N *1 These diagrams represent the average value of the 20 X
1 ERNRNEIEIF I E actual megsureme:t ’ o8 E
= Nk X 7 Shird ! . . g3
RN E NP E NSRS 3: ) kg *2 Charts does not show effects due to rotation resistance of §% %
JIPT R R - ; ; : 28 =
i RZ2Ho bearings and oil seals on the input side. < =
®
WPU-80-50 WPU-80-80 2 =
100 100 gg It
e 500 r/mi e 500 r/mi ER-
90 H —— 7000 rmin 90 H —— 7000 rimin és =
2000 r/min 2000 r/min i
> 80 [ e 3500 r/min > 80 [ === 3500 r/min s
S < o= .
o0 % g % EF
= = S x )\
1 60 O 60 % 3
- - 55
X 50 X 50 g %
a 7T
# 40 5 40 2 ?;
80 30 i
5
20 20 § /‘%
10 10 2
0 20 40 60 80 100 0 20 40 60 80 100 E
fafa [%] Percentile Load faf [%] Percentile Load ;
5
WPU-80-100 WPU-80-120 3z 2 |
100 100 $3 B
[0}
e 500 r/mi e 500 r/mi 22 E
90 [ e 100J:7r::n 90 H —100(;:;‘rl:in EY -
s 2000 r/min s 2000 r/min <
. 80 [ e 3500 r/min . 80 [ === 3500 rimin @
2 g =
= i i 8
o 60 o 60 z %
= o0 £ 50 2 i
N P~
% w0 # w0 3
30 30 N |
23 %
20 20 g2 b
58
10 20 40 60 80 100 104 20 40 60 80 100 °g %
=}
fafF [%] Percentile Load fafs (%] Percentile Load A
B
WPU-80-160 =8> % |
2o o
ceR ==
100 %%% %
=<
e 500 r/min > 2 In
90 || == 1000 rmin g £
e 2000 r/min -
> 80 [ = 3500 r/min
3 70 |
g 2f =
0 60 g8 Al
£ 50 52 XK
3 z
s} = =<
[ \
40 s b
® A
30
o0 4%
20 23 I3
o % ng
(2]
B 20 40 60 80 100 g =
fafi (%] Percentie Load %
7]

FLEXWAVE WPZ5 36



High torque type B2 [g5%B2]

REVESNIE  Characteristics Data

R (Frind, AR (P =)
Efficiency (Open type, Unit (hollow shaft))

I %] AT 1%/ B 05
IR RE 25°C
%1 B AL NEEENTE,

WPU-35-50
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
_ 80 [ === 3500 r/min
2
o 70
o
L 60
§ 50 é
LT
&
30
20
10
0 20 40 60 80 100
fafr [%] Percentile Load
WPU-35-100
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
_ 80 [ e 3500 r/min
2
o 70
kS
L 60
= 50
M4
= 0
30
20
10
0 20 40 60 80 100

AT [%] Percentile Load

37

allowable average torque.

‘Ambient temperature : 25TC
*1 These diagrams represent the average value of the

actual measurement.

WPU-35-80
100
@ 500 r/min
90 [ e 1000 r/min
@ 2000 r/min
- 80 [ e==== 3500 r/min
2
o 70
O
L 60
§ 50 /
M 40 /
&
30
20
10

‘Percentile Load (%) is equal to load torque divided by

20

40

60

80 100

7 [%] Percentile Load



RER (FFE, AR (hH))
Efficiency (Open type, Unit (hollow shaft))

I %] AT 1%/ B 05
IR RE 25°C
%1 B AL NEEENTE,

WPU-42-50
100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
2
o 70
0 60 /
= 50
LT
&
30
20
10
0 20 40 60 80 100
fafr [%] Percentile Load
WPU-42-100
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
_ 80 [ e 3500 r/min
2
o 70
kS
L 60
= 50
M4
= 0
30
20
10
0 20 40 60 80 100

AT [%] Percentile Load

‘Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25TC
*1 These diagrams represent the average value of the

actual measurement.

60

80 100

7 [%] Percentile Load

—

e

/

WPU-42-80
100
@ 500 r/min
90 [ e 1000 r/min
@ 2000 r/min
- 80 [ e==== 3500 r/min
2
o 70
O
L 60
= 50
¥ 40
&
30
20
10
0 20 40
WPU-42-120
100
e 500 r/min
90 | ammm 1000 r/min
e 2000 r/min
- 80 [ e 3500 min
2
o 70
O
L 60
=X 50
¥ 40
&
30
20
10
0 20 40

60

80 100

g [%] Percentile Load

FLEXWAVE WPZ5

=hEEB2

High torque
type B2

(/):U%ﬂ\,
T © )u/u
o Q -
o< 1KIR
ge W
ss A
? 2 =
: =
- ~
R
g
& K
S

(2]

o

o

[0}

mE

2o D
82 =
sS &
e &t

N
=

(o
(5

=T
55 X
jg D’j
2 B
Qs S
h
IS
i N
23
SR
2 IF
2
fa1
[
2 5
3
3
9]
gz =
€8 i
g3 =
2a 15
22 =
£
C
3

anbio| Bunwsuel|
>
m

25 44
g‘g il
= Z\
& &
S fu
)

15
505 Nt
525 &
g5 =
> 5 I

ainpaooid

uone|[e1IsUl 010N
B 2

59 %
52
o
z WE
E‘.
38



39

S

High torque type B2 [g5%B2]

REVESNIE  Characteristics Data

RER (FFE, AR (hH))
Efficiency (Open type, Unit (hollow shaft))

I %] AT 1%/ B 05
IR RE 25°C
%1 B AL NEEENTE,

WPU-50-50
100
@ 500 r/min
90 | e 1000 r/min
s 2000 r/min
_ 80 [ === 3500 r/min
2
o 70
Q
0 60 /
X 50
= 40
30
20
10
0 20 40 60 80 100
i [%] Percentile Load
WPU-50-100
100
e 500 r/min
90 | == 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
2
@ 70
g /
0 60 / A
= 50
Bt
= 40
30
20
10
0 20 40 60 80 100
it [%] Percentile Load
WPU-50-160
100
e 500 r/min
90 | == 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
2
@ 70
]
o 60 /
§ 50 A
B
= 40
30
20
10
0 20 40 60 80 100

tf [%] Percentile Load

‘Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25TC
*1 These diagrams represent the average value of the
actual measurement.

WPU-50-80
100
500 r/min
90 | e 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
[8)
3 70 —
0 60 /
= 50
40
=
30
20 s
10
0 20 40 60 80 100
it [%] Percentile Load
WPU-50-120
100
e 500 r/min
90 1 = 1000 rimin
e 2000 r/min
- 80 [ e 3500 /min
2
@ 70
©Q
o 60
=X 50
M
= 40
30
20
10
0 20 40 60 80 100

fafd [%] Percentile Load



=hEEB2

High torque
type B2

£2 A
o5 18R
g2
55 m
2 Q =
e 5
== ey ~74 1 O FF =] — ~
PR (FFrRR, AR (hesth))
Efficiency (Open type, Unit (hollow shaft)) S _Rj
CDD N
w
. o . i oL i i
ﬁﬁ[%] AL AL Ay Sy ] Percentile Load (%) is equal to load torque divided by g
allowable average torque. @
2 H RF - o . B
IMFRE 1 25°C -Ambient temperature : 25C S = |
S
. . s *1 These diagrams represent the average value of the 20 X
X1 BRASNSIRN TG, J g ¢ 2o B
actual measurement. o= it
gz B
<} Bz
o
=
WPU-63-50 WPU-63-80 2 =
100 100 25 it
S %
e 500 r/min e 500 r/min 5=
90 [ o 1000 r/min 90 || e 1000 r/min és T
2000 r/min 2000 r/min i
> 80 [ e 3500 r/min > 80 [ === 3500 r/min s
& 70 5 70 — = = |
o ) / 3§ iﬁ\u
X 50 X 50 g %
JUREY // 540 ® %
30 30 i
/ 5
20 20 4 § 7‘%
10 10 2
0 20 40 60 80 100 0 20 40 60 80 100 El
fafa [%] Percentile Load fafE [%] Percentile Load ;
WPU-63-100 WPU-63-120 3z 2 |
Q5 A\
100 100 33 18
500 r/min 500 r/min == =
90 || == 1000 min 90 [ e 1000 r/min g =
e 2000 r/min e 2000 r/min <
. 80 [ e 3500 r/min . 80 [ === 3500 rimin @
2 2 S
g g7 5 1t
o 60 o 60 /A g %
= 50 = 50 5
M s 2
g 40 //, g 40 /// g
30 30 -
20 o A 23 %
C
v 2o
10 10 a8 o
0 20 40 60 80 100 0 20 40 60 80 100 5 fu
=}
taf [%] Percentile Load 77 [%] Percentile Load |
B
WPU-63-160 == o |
S0
cgg =
S35 =
100 52§ %
500 r/min > 2 7
90 || == 1000 vmin g £

s 2000 r/min
80 | e 3500 r/min

70 e
60 —
. P ——
40

30 /
20

ainpaooid

uone|[e1IsUl 010N
B 2

ME [%] Efficiency

29 19
/ 5%
. : 5
0 20 40 60 80 100 (__l: ;E
7t [%] Percentile Load %
7]

FLEXWAVE WPZ5 40



S

High torque type B2 [g5%B2]

REVESNIE  Characteristics Data

RER (FFE, AR (hH))
Efficiency (Open type, Unit (hollow shaft))

I %] AT 1%/ B 05
IR RE 25°C
%1 B AL NEEENTE,

WPU-80-50
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
> 80 || = 3500 r/min /
(]
6 70 /////
Qo
o 60 //
= 50
= 40
30
20
10 0 20 40 60 80 100
i [%] Percentile Load
WPU-80-100
100
e 500 r/mi
N | — 100(;:7r::n
s 2000 r/min
> 80 | e 3500 r/min
3 70
o
o 60
= 50
M
= 40
30
20
10 0 20 40 60 80 100
il [%] Percentile Load
WPU-80-160
100

e 500 r/min

90 | e 1000 rimin
2000 r/min
80 [ w3500 r/min

70

60

50 /
40 /
30

20

ME (%] Efficiency

10 0 20 40 60 80 100

il [%] Percentile Load

41

‘Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25TC
*1 These diagrams represent the average value of the

actual measurement.

40 60 80 100
fafd [%] Percentile Load

/

)
o

WPU-80-80
100
500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
)
3 70
Qo
o 60 /
S
= 40
30
20
10 0 20
WPU-80-120
100
500 r/mil
90 H —1ooormn
e 2000 r/min
5 80 [ e 3500 /min
3 70
Q
o 60
= 50
M
= 40 /
30
20
10 0 20 40

60 80 100

f1fd [%] Percentile Load



R R (#1015, HAE GEAH))
Efficiency (Open type, Unit (input shaft))

I %] AT 1%/ B 05
IR RE 25°C
%1 B AL NEEENTE,

WPU-35-50
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 [ === 3500 r/min
(@]
3 70 —
O
L 60
= 50
LT
&
30
20
10
0 20 40 60 80 100
fafr [%] Percentile Load
WPU-35-100
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
_ 80 [ e 3500 r/min
2
.g 70
= 50
M4
= 0
30
20
10
0 20 40 60 80 100

AT [%] Percentile Load

‘Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25TC
*1 These diagrams represent the average value of the

actual measurement.

WPU-35-80
100
@ 500 r/min
90 [ e 1000 r/min
@ 2000 r/min
- 80 [ e==== 3500 r/min
2
o 70
O
L 60
= 50
¥ 40
=
30 /
20 ' 4
10

20

40

60 80 100

7 [%] Percentile Load

FLEXWAVE WPZ5

=hEEB2

High torque
type B2

wE

[ JinfE S

suoneoloads
/ [oPOIA Jeonpay

w0

8|ge] suoisuswig

uonewnse oy

i O N G T i

(Bupesq opse|3)

(Burreaq urep)
UOIBWIISD )17

\
)

ES
i
IS
i N
23 M
2R
8
2
G
[
[
2
5
5)
3
g
o
S
3z =
€8 i
3= =
23 718
N
£
C
3

anbio| Bunwsuel|
>
m

25 &
=] il
o =
2e 2
ng l:l\
§ fu
14
15
S - o
223 It
= 0 ©
5§35 =
258
9< o %
3 2 I
© A8
a

ainpaooid

uone|[e1IsUl 010N
B 2

59 %
52
o
z WE
é“.
42



i

High torque type B2 [g5%B2]

REVESNIE  Characteristics Data

R R (#1015, HAE GEAH))
Efficiency (Open type, Unit (input shaft))

M%) AR/ BT TI%E

X1 BEIRAKNEIER FIE.

WPU-42-50
100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
2
o 70
O
L 60
= 50
LT
&
30
20
10
0 20 40 60 80 100
fafr [%] Percentile Load
WPU-42-100
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
_ 80 [ e 3500 r/min
2
o 70
O
i 60 /
= 50
M4 /
= 0
30
20
10
0 20 40 60 80 100

AT [%] Percentile Load

43

N allowable average torque.
= 5 . o B
IMFRE 1 25°C -Ambient temperature : 25C

actual measurement.

‘Percentile Load (%) is equal to load torque divided by

*1 These diagrams represent the average value of the

WPU-42-80
100
@ 500 r/min
90 | e 1000 r/min
@ 2000 r/min
- 80 s 3500 r/min
2
o 70
O
L 60
= 50
¥ 40
&
30
20
10
0 20 40 60 80 100
7 [%] Percentile Load
WPU-42-120
100
e 500 r/min
90 | ammm 1000 r/min
e 2000 r/min
~. 80 [ e 3500 r/min
(@] /
.5 70 —
- e
. Vo
=X 50
M4
= 0
30
20
10
0 20 40 60 80 100

g [%] Percentile Load



=hEEB2

High torque
type B2

ffid [%] Percentile Load

£2 A
o IR
g2 Wl
cr o
7] % %
— -
£4 1 O L —
PSR (HMB, AE R (ENGH))
Efficiency (Open type, Unit (input shaft)) g _Rj
CDD N
w
. o . i oY i i
ﬁﬁ[%] AL AL Ay Sy ] Percentile Load (%) is equal to load torque divided by g
allowable average torque. @
2 H RF - o . B
IMFRE 1 25°C -Ambient temperature : 25C S = |
S
. . 5 - *1 These diagrams represent the average value of the 20 X
X1 BRASNSIRN TG, ¢ y ¢ 2o B
actual measurement. o= it
g2 B
Toom
=
WPU-50-50 WPU-50-80 2 =
100 100 25 3t
S %
e 500 r/min @ 500 r/min 5=
90 [ e 1000 r/min 90 | e 1000 r/min @3 =
2000 r/min 2000 r/min i
_. 80 s 3500 r/min . 80 [ === 3500 r/min T
2 (8 il |
X 50 X 50 T B
8 7
¥ a0 40 2 £
® / & o
80 30 i
& E
20 20 2 jg
|
10 10 = 7l
0 20 40 60 80 100 0 20 40 60 80 100 El
fafa [%] Percentile Load faf [%] Percentile Load ;
WPU-50-100 WPU-50-120 3z 2 |
<3 &=
=2
100 100 %;D ¥
e 500 r/min 500 r/min 22 B
90 | e 1000 r/min 90 | e 1000 r/min EY -
2000 r/min 2000 r/min <
. 80 [ e 3500 r/min . 80 [ === 3500 rimin @
[6) o
5 70 _— $ 70 e ——
_— { g
0 60 1 60 ////___, g %
g s0 S 50 2 B
" " Y/ 7z o
L X 40 / s
30 30 |
. il /4 23 W
C
10 10 @ =
0 20 40 60 80 100 0 20 40 60 80 100 E %
=}
faf [%] Percentile Load 7fF (%] Percentile Load |
=
WPU-50-160 Ses o ||
2R ) as
ces =
100 63z =
500 r/min 3<S %
90 [ e 1000 r/min 3 A
w2000 r/min o
. 80 [ e 3500 r/min
Q
5 70 — —
: e HE
T 60 — g8 M
X 50 g ik
g =
B 40 S h
® / Ok
30
20 g2 E
52
10 S
0 20 40 60 80 100 g ig
7
=
7]

FLEXWAVE WPZ5 44



S

High torque type B2 [g5%B2]

REVESNIE  Characteristics Data

R R (#1015, HAE GEAH))
Efficiency (Open type, Unit (input shaft))

ﬁﬁ[%] AL AL Ay Sy ] ‘Percentile Load (%) is equal to load torque divided by
p——— o allowable average torque.
IMFRE 1 25°C ‘Ambient temperature : 25T

*1 These diagrams represent the average value of the
actual measurement.

X1 BEIRAKNEIER FIE.

100 100
@ 500 r/min @ 500 r/min
90 | e 1000 r/min 90 | cmmmm 1000 r/min
s 2000 r/min s 2000 r/min
_ 80 s 3500 r/min .. 80 e 3500 r/min
2 2
o 70 © 70
Qo Q
I 60 o 60
X 50 X 50
# 40 % a0
& &
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
ffd [%] Percentile Load fafd [%] Percentile Load
100 100
@ 500 r/min @ 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
s 2000 r/min s 2000 r/min
. 80 [ e 3500 r/min . 80 [ === 3500 rimin
2 2
@ 70 o 70
o Q
I 60 o 60
. % £ 50
= 40 // = 40
30 —7 30 —F
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
il [%] Percentile Load f1fd [%] Percentile Load
WPU-63-160
100
@ 500 r/min
90 [ e 1000 rfmin
s 2000 r/min
_ 80 [ === 3500 r/min
2
o 70
o
o 60
X 50
B
= 40
30
20
10
0 20 40 60 80 100

fifi [%] Percentile Load

45



=hEEB2

High torque
type B2

g8 M
o5 18R
g2 Wl
ss A
iRy =
.
— -
+4 21 F AR (S —~
PSR (HMB, AE R (ENGH))
Efficiency (Open type, Unit (input shaft)) g _Rj
CDD N
‘§ *
w
. o . i oY i i
ﬁﬁ[%] AL AL Ay Sy ] Percentile Load (%) is equal to load torque divided by g
allowable average torque. @
2 H RF - o . B
IMFRE 1 25°C -Ambient temperature : 25C S = |
S
. . 5 - *1 These diagrams represent the average value of the 20 X
X1 BRASNSIRN TG, ¢ y ¢ 2o B
actual measurement. o= it
gz B
e B2
Ei
=
WPU-80-50 WPU-80-80 2 =
= %
Sg B
1% 100 g5 it
2o s
— 500 r/min — 500 r/min s= B
90 [ e 1000 r/min 90 | e 1000 r/min @3 =
2000 r/min 2000 r/min i
_. 80 s 3500 r/min . 80 [ === 3500 r/min T
g e .
1 60 o 60 @ 3
- - 55
X 50 / X 50 g %
. . 3 7
% 40 ¥ 40 2 £
® & o
30 30 i
5 A
20 20 g /‘%
|
10 10 = 7
0 20 40 60 80 100 0 20 40 60 80 100 El
fafa [%] Percentile Load faf [%] Percentile Load ;
g
WPU-80-100 WPU-80-120 3z 2 |
g i
100 100 g3 =
500 r/min 500 r/min % g =
90 | e 1000 r/min 90 | e 1000 r/min - =4 -
2000 r/min . 2000 r/min g
. 80 [ e 3500 r/min . 80 [ == 3500 rimin @
8 8 =
g " yZz s’ 5
0 60 i 60 2 3
- — = 7]
X 50 X 50 2 i
B B g
L 7 x40 g
30 30 |
20 20 %g ]
C
10 10 @ b=
0 20 40 60 80 100 0 20 40 60 80 100 E %
=}
fafF [%] Percentile Load fafs (%] Percentile Load A
=
WPU-80-160 ez 3
S0
cgg =
e 500 r/min 2 IM
90 || == 1000 min g £
e 2000 r/min -
> 80 [ e 3500 r/min
C —
2 Tz =&
I 60 g2
g 50 52 X
= 5 =
M 5 5
= Y i
30 ,
=)
20 g’g ﬁ
10 3 1%%
0 20 40 60 80 100 g =
fAf [%] Percentile Load %
7]

FLEXWAVE WPZ5 46



47

L

Standard type A

ﬁ@iﬁﬁﬁ@g = Reducer Model Nomenclature

WP

35

50

CN

* K

= > > *
ERTIEE E- %) R~ IR EL A%} A
Series name type Size Ratio Code Specifications
WPZ7%I C :EptrE 35 50 CN RANMEE
Component type
WP Series S (AZAaE 42 80 CF Input shaft
Simple unit type dliamenern
U:4aa% 50 100 SN etc.
iﬂﬁ% (45 N\ 410)
,ﬂclui(EF'i—ftEE) 63 120 SNH
Unit type
Input shaft unit
Hollow unit 80 160 SNJ
LA o XABIEBEESRR TR,
.E.XTM%% Availability For the code details, please check the
Ratio mat\r\\>\< Dimensions Table
N Rt BB 50 80 100 120 160
> 35
I
© 42
[V
50
63
80
= N L .
TR NLERAE Reducer Specifications
X 2 %3 x4 X5 %6 X7
BYFY BFERA EREA e o ] -
TR EL Ayl Ayl h%E BAFR RNFEIR ;
RT Ratio Nominal output Maximum output | Emergency stop Nominal Maximum input Lifie
Size R*' torque torque torque input speed speed
[Nm] [Nm] [Nm] [r/min] [r/min] [hours]
50 7 23 46
35 80 9 27 55 3000 8500
100 9 32 63
50 21 44 91
80 26 50 102
42 100 o8 63 129 3000 7300
120 28 63 129
50 33 73 127
80 40 86 149
50 100 47 96 172 3000 6500
120 47 96 172
160 47 96 172 7000
50 51 127 242
80 66 142 266
63 100 70 163 295 3000 5600
120 70 163 295
160 70 163 295
50 89 253 447
80 122 316 590
80 100 142 346 673 3000 4800
120 142 346 673
160 142 346 673

K1 IBRRERNPAFTRRRA, FISRELL

%2 B NFZIR /92000r/min

BT RAE

X3 B FLERNAITRAE

X4 REBEHNBTRAE

X5 BHEED, FHRANRENBITFRAE
X6 ITRIED, WARENBITRAE

X7 NFZIR2000r/min, BIFEUE JIE BT B9 e B 8]

*1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table
*2 The maximum allowable value at the input rotation speed of 2000r/min
*3 The maximum torque when starting and stopping.

*4 The maximum torque when it receives shock.

*5 The maximum average input speed
*6 The maximum input speed.

*7 The life time at the input rotation speed of 2000 r/min and nominal output torque




WEREA

Standard
type A

RT3 Dimensions Table

23
SE1E
55 £
SR 2R A 3 s
Closed Type, Component 2 R
5
2 R
WPC-[]-[]-CN

WPC-[1-L1-CF

LE %
LF LM E
H |l 5
HD Y =
X N-#LU %
pﬂ{ 2-LT - & |
— i » 71%
L § > @\, I\I\J
It
y Y E“(rji‘)] 4 %
— — H — I f
2l .lalE S ol | 2 [[ ¢ )\
ol 8 Y| o CA -4 = < =
2 S| & b i | g [ é ifj / |
& \ !
(— (| /
&/ = 568
0,/'—\ G, $SH (HT)
su 2-M3xh & i
B 2 A
=it B= TS5 g
I jnd S
[-—eo @ R~ Weight Moment of inertia 5
m—— Size - B S
E kg X10"kgm - |
35 0.10 0.0383 =
INPUT SHAFT FOR 35&42 =
42 0.17 0.0855 15
50 0.26 0.207 g
63 0.43 0.544
80 0.91 1.63 ab
[mm] d %
)§Z_éf LA LB LC | N*" | LU LT LE LF LG LH LM | SG SH SL w §
€3 W
&5 44 38 50 8 (6) 3.5 M3 28.5 17.5 6 2 11 15.8 6 18.5 - g s Z\
42 54 48 60 [16(12)| 3.5 M3 325 20 6.5 2.5 12.5 15.8 8 20.7 - 2 {uj
2
50 62 54 70 (16 (12)| 3.5 M3 335 | 215 7.5 3 12 24.8 12 21.5 4 ¢ &
63 75 67 85 (16 (12)| 4.5 M4 37 24 10 3 13 27.8 14 21.6 5 B
80 100 Q0 110 |16(12)] 5.5 M5 44 28 14 3 16 27.8 14 23.6 5
)§Z\g T SuU SA SB SD M ST SV HD CA CB CX CY Ccz L
B
385 - 2.5 17 11 23.5 6 4.5 M3 2.4 C0.5 | C0.3 17 1 38 ;/_;L
A+
42 - 3 19 10 27 6 5.5 M3 3 C0.5 | C0.3 19 1 45 2 ;
50 13.8 - 24 16 32 8 5.5 M3 3 C0.5 | CO5 | 205 1.5 53 A
63 | 163 | - 30 | 20 | 40 8 | 65 | M4 | 3 |Co5|Co5| 23 | 15 | 66 2 ‘E
80 16.3 - 40 26 52 8 8.8 M5 3.2 C05 | CO5 | 26.8 1.5 86 i %é
= I
¥1 -CNAI-CFRRSI AR, ( )RA-CFREE *1 -CN and -CF are different in dimensions. The -CF value is shownin () . U
%2 XFRASMIFES, BESREMRTE, *2 For details in the input section, please check the drawings. g
%3 CX. CY. CZAIFERERINR T, *3 Inner dimensions of CX, CY, CZ are recommended dimensions. —
FLEXWAVE WPF5 48



49

RT3 Dimensions Table

HHAA A

Closed Type, Unit

L

Standard type A

2 fBRIE 7%
R~ Weight Moment of inertia
WPU- []-[]-CN =
kg X10"kgm
WPU- D - D _CF 35 0.50 0.0377
42 0.68 0.0856
50 0.95 0.207
63 1.5 0.544
80 3.3 1.63
LE
LF LM
lH  |LG.  |LK
Y Orring N-LU
N-LT
O-ring —]
_E - N\ o>
[ ] J /
/ W(JS9)
— S
SElSET 2 euEly (S T7
= 82y © Slelgls] 19 \
Q Q Q \ N1
T NS
o 0]
2-M3x4 X SL
INPUT SHAFT FOR 35842
[mm]
gz\g LA LB LC LD N*' LT LU LE LF LG LH LK LM DB SG
&5 65 56 73 31 8 (6) M4 4.5 41 27 7 3.5 2 14 38 15.8
42 71 63 79 38 8(6) M4 4.5 45 29 8 4 2 16 48 15.8
50 82 72 93 45 8 (6) M5 55 45.5 28 10 5 3 17.5 56 24.8
63 96 86 107 58 10(8)| M5 5.5 52 36 10 5 3 16 67 27.8
80 125 113 138 78 12 Mé 6.5 62 45 12 5 3 17 90 27.8
§z\_é'— SH SL W T SU SA SB SC M ST HD CX CY Cz
35 6 18.5 - - 2.5 23 11 8 6 M4 X8| 95 1.6 1 38
42 8 20.7 - - 3 27 10 7 6 M5 X8| 95 1.3 1 45
50 12 215 4 13.8 - 32 14 10 8 M6 X 9 9 1.5 1.5 53
63 14 21.6 5 16.3 - 42 20 15 8 |M8X10| 12 3.4 15 66
80 14 23.6 5 16.3 - 55 26 20 8 MI0X 12| 15 5.2 15 86

%1 -ONAI-CFFER T R AL (

JAR-CFaY{E

X2 XTRABMOFS, FEREBRTE,
X3 CY. CZHIFERERINR T,

*1 -CN and -CF are different in dimensions. The -CF value is shownin () .

*2 For details in the input section, please check the drawings.
*3 Inner dimensions of CY, CZ are recommended dimensions.



A BmEZAEE
Open type, Simple unit

= BRIt 7%E
R~ Weight Moment of inertia
WPS-[1-[]-SN
kg X10"kgm
35 0.39 0.0391
42 0.55 0.0870
50 0.79 0.209
63 1.3 0.549
80 2.7 1.65
LE
LF LM
M-¢ST sC LJ _LH
LG
Y
N-LT
LN
[ R NS
B g , w(Js9)
v 1 F
S I S NEE -4 ‘
3(3[3 | NEE R
— My
S o H‘ #SH (HT)
NI
& sL S n/.r‘%*\l
o SN
o caual T w/0faual Y
R S S B
&
SR S
T \‘w_}—t;
"N-LT” "N-LT"
INPUT SHAFT FOR 35842 ARRANGEMENT FOR 35 ARRANGEMENT FOR 42
[mm]
gg LA LC LE LF LG LH LJ LM SG SH SL W T SU SA SB
35 44 50 | 28,5 | 235 6 7 141 5 15.8 6 18.5 - - 2.5 64 48
42 54 60 | 325 | 265 | 6.5 7.5 16 6 15.8 8 20.7 - - 3 74 60
50 62 70 | 335 | 29 7.5 85 | 175 | 45 | 248 12 | 215 4 13.8 - 84 70
63 77 85 37 34 10 12 18.7 3 27.8 14 | 21.6 5 16.3 - 102 88
80 100 | 110 44 42 14 15 | 234 2 27.8 14 | 23.6 5 16.3 - 132 | 114
RSl sc | sp| M | st |ca|ov|cz|ov|ow| N LT

35 2.4 70 8 35 | C0.3 1 38 1.6 31 8 M3 X5 ¢ 35X6

42 3 80 12 35 | C0.3 1 45 2 37 16 (M3 X6, ® 35X 6.5
50 3 90 12 35 | C03 | 15 53 2 44 16 M3 X6, 9 35X75
63 3.3 110 12 45 | C03 | 15 66 2 56 16 |[M4 X7, ¢ 45X 10
80 3.6 142 12 55 | CO5 | 15 86 2 72 16 |M5X 8, 9 55X14
¥1 XFRASMIFES, BEEREMRTE, *1 For details in the input section, please check the drawings.
2 CV. CW. CY. CZRIFEREERINRT, *2 Inner dimensions of CV, CW, CY, CZ are recommended dimensions.

FLEXWAVE WPE5

ERA
Standard

ainjoni

anbuo| Bumiwsuel]

o|qel suoisuawiq

aJIn)x1}

Ot

h
P

SRS
O S HF Al

ele( solislieioeiey)




Standard type A

RT3 Dimensions Table

FE HEE (R )
Open type, Unit (hollow shaft)

51

£ (AP i
R~f Weight Moment of inertia
WPU_ |:| - |:| _SNH Size PR
kg X10"kgm
35 0.57 0.103
42 0.79 0.230
50 1.1 0.460
63 1.7 1.24
80 3.4 3.18

LE

LG

LF

LH

@LD (h7)

4+
e S e
T o caua P ts/20k0uAL ¥
\ 1 ‘A '\ 1 ]
S
-+ \‘144
INPUT SHAFT FOR 35%42 ARRANGEMINT FOR 35 ARRANGENENT FOR 42
[mm]
}§g LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
5 44 36 54 70 52.5 20.5 12 20 7.5 8 9 2.5 55 6.5
42 54 45 64 80 56.5 23 12 21.5 8.5 8.5 10 2.5 55 6.5
50 62 50 75 90 51.5 25 5 21.5 7 9 10.5 - - -
63 77 60 90 110 55.5 26 6 23.5 6 8.5 10.5 - - -
80 100 85 115 142 65.5 32 7 26.5 5 9.5 12 - - -
);g SA | sB | sc | sD | SE| SF | M | sT | su | N LT
5 64 - 14 20 74 36 8 3.5 M3 8 M3 X5 ¢ 35X 115
42 74 - 19 25 84 45 12 3.5 M3 16 M3 X 6, 9 3.5 X 12
50 84 25.5 21 30 95 - 12 35 M3 X6 16 M3 X 6, ® 3.5 X 13.5
63 102 33.5 29 38 115 - 12 45 M3 X 6| 16 M4 X7 ¢ 45X 155
80 132 40.5 36 45 147 - 12 55 M3 X6 16 M5 X 8, ¢ 55 X 20.5




A E AR (G N\ 4h)

ERA
Standard

Open type, Unit (input shaft) 2 R
8 RIS A~ = 7
R~ Weight Moment of inertia SO Y & =
WPU- []-[]-SNJ = :
kg X10"'kgm~ L] ’ ‘ o
35 0.48 0.0376 : u@ : g
42 0.69 0.0897 4 s X
50 1.0 0.208 " i
63 16 0.554 5SS 3
80 3.2 1.74 I
LE 7%
LG LF LH ‘L‘“‘
L LK L 2 =]
M-gST 35 =
.
/\(2/ ! \ﬁ\\ LH
/ | N LR ‘/\rﬁ
1
yx o SC sV & La E 5
I N = | |- i
— ot S = 5
®5\>‘ 3 / e E ° ° 5 /‘ﬂ
| 2 s A
NE | o :
— L
— %
5
n 22 B
- A T :
QFL =1 AN ] 0
Fameaua ? we20Foual ¥
05 I w 1 \ v Ry
) STV U -
2 -+~ \‘\k‘yr‘(‘ = 7]
e %B
INFUT SHAFT FOR 35342 ARRANGEMENT FOR 35 ARRANGEMENT FOR 12 g
[mm] —
E;—er LA | LB | LC | LD | LE LF | LG | LH LJ LK LL P | LQ | LR o I
g I
35 44 36 54 70 | 505 | 205 | 15 15 | 25 8 9 11 - - 3 l‘
42 54 45 64 80 56 23 17 16 3 85 | 10 12 - -
50 62 50 75 9 | 635 | 25 21 | 175 | 3 9 | 105 - 165 | 20
63 77 60 9 | 110 | 725 | 26 26 | 205 | 3 85 | 105 - 225 | 25
80 | 100 | 8 | 115 | 142 | 845 | 32 26 | 265 | 5 9.5 12 - 225 | 25
25 B
Uil
RI | sa | s | sc | sE | sv | sw| M | sT|su| N LT : i
]
35 64 6 - 74 - - 8 35 - 8 | M3X5 ¢35Xx115 s
42 74 8 - 84 - - 12 | 35 - 16 | M3X6,035X%12 2 E
50 84 10 | 82 | 9 3 3 12 | 35 M3x6| 16 |M3X6 ¢35X135 5 E
63 | 102 | 14 | 11 | 115 | 5 5 12 | 45 |M5X6| 16 | M4 X7, ¢45X% 155 s
80 | 132 | 14 11 147 5 5 12 | 55 M5X6| 16 |M5X8 ¢55X205 :
FLEXWAVE WPF5 52




)

Standard type A

Eepit e GHEBERNA)  Life estimation (Elastic bearing)

HERASWITE

Life span for the elastic bearing

- P el T, ;
Operation cycle example 5 ' T, |
Working torque } -|-3 ! -|-4
| Bifia]
! ; Time
Ny 2 N3
5 ny
SOpuetggt ofation | t, |ty | t ‘ B7g]
Time
Ot e | RARMEENITE
Calculation formula for output torque
4 ol TP Mo tor| To| oot Mo Lo T
A zFiiﬁﬁuﬁﬁ%E Tao Nm Tao =3 /77' 1’|T1| +n2' 2’|T2| Foeet lipe n'|77—,|
verage output torque net,+n,oteeen t,
BAHIHI5E tmo | Nm 0= T Te o T, MBAME
Peak output torque value Tmo = Largest among Ty, Ta, -+ T,

BHINRAREH RN T FRARBEHEL T,

Please make sure the peak output torque is below the maximum output torque in the specification table.

@FHNER | REBAKLENITE

Calculation formula for input speed

Average zfutagﬂtlrjoﬁ?on speed| N@o ALy 140 = njtt:-:-tr;- t2+rt7: =
EEHLLE o | min 0= N e, BRATE
Peak output rotation speed nmo = Largest among n,. Ny, - N,
Avezrggﬁé\fési%eed nai | r/min  nai=nao X A (R= Xt ) (R =ratio)
peaﬁﬁiﬁﬁzﬁmw nmi | i/min nmi=nmo X R (R=A&Et ) (R = ratio)

BHARSEARENBTTFRSBANLEREL T

Please make sure the peak input speed value is below the maximum input speed in the specification table.

@F it ERyit &

Calculation formula for life span

SEEE G A BRY () _ Tar \s [ nar
Part life span for the elastic bearing Liriz L Lhe = 7000 x Tao nai
BRE 1158 tor | Nm | EBERTPFRREN TIN5
Rating torque Nominal output torgue in the specification table

BERNEIR i i
Rating input rotation speed et r/min 2000 r/min

53



mERA

Standard
type A

/_\ AY AN . . . . .
Eepi1tE (FBRA)  Life estimation(Main bearing) 0
1% 1R
#l
Q
2 W 32 . . L , o 5
[ JERHPEG IS (3&2/&%&@7%) Main bearing specification(Cross roller bearing) -~
. ) _ s o o R |
RITERER w2 BEARGSEIE RS | BAHSTENT R %E JIENIE 3 ~f
Z5 R~t Pitch circle diameter Offset Basic dynamic load| Basic static load Allowable Moment g X
- of the bearing rollers rating rating moment rigidity @
Series Size 5
Dm L © Co Mal Km g
m m N N Nm X 10*Nm/rad
35 0.0350 0.0095 4700 6070 41 4.38 o5z
7] <
42 0.0425 0.0095 5290 7550 64 7.75 5% g
WPU-[]-[ I-CF 28 =
WPU-[ -[ -CN 50 0.0500 0.0095 5780 9000 91 12.8 §§ %
63 0.0620 0.0115 9600 15100 156 24.2 =~ B
80 0.0800 0.0130 15000 25000 313 53.9 %g f
= i}
35 0.0500 0.0162 5800 8600 74 8.5 =8 g
3
42 0.0600 0.0184 10400 16300 124 15.4 E‘% %
WPS-[ - ]-SN | 50 0.0700 0.0195 14600 22000 187 25.2 7o
63 0.0850 0.0241 21800 35800 258 39.2 ‘)F\J
80 0.111 0.0299 38200 65400 580 100 3 < flm
35 0.0500 0.0217 5800 8600 74 8.5 g &
42 0.0600 0.0239 10400 16300 124 15.4 - ZU:‘\
WPU-L - -SNH=) 0.0700 0.0255 14600 22000 187 252 = |
WPU-[J-[-SNJ ' ' | = 2
63 0.0850 0.0296 21800 35800 258 39.2 g 7\]
80 0.111 0.0364 38200 65400 580 100 ;

A D, 3> o= ||
THEAEHITE | z
Life span for the main bearing Fr, | 23 K&

Fr, i 1; =
“ Pt paam | R
Operation cycle example Radial load ! Fry 78] —
! ‘ ‘ Time 34 &
o g
Fa, el
Fa, S
Bl 5 6 7o Fo o s L
Axial load Fa, Jia] i3 %
i Time a 2 {\‘
o i
n 2| N3 3 5 TT
| | | =
R n, . — 1
Output rotation B el &
speed t t, |[t3 ] t ‘ Time
M JhER T
External load L ﬁ—
Lr L L L ol
— _ _ 7
al — - I
i L N <> e 7:
Fr L1 1 \‘ (@] H [
4 ] £ el | £l : 8
,J‘ (=] o L &) { i P
© £ s =X
| Fa =) z I
= 0
N ~ I - S g
FLEXWAVE WPF5 54



Standard type A

Eep1t e (Fa0A)  Life estimation(Main bearing)

ORARAFRENITE

Calculation formula for the largest working moment

RANERE _ _ .

Sl moment Mm Nm  Mm=Fm - (Lr+L)+Fam-La
ERAREE AR e N Frm = Fry, Fre - Fr, B9&KE
Peak radial load Frm = Largest among Fry, Fra, - Fr,
B HE A AT Eai N Fam=Fa,, Fas - Fa, i&XE
Peak axial load Fam = Largest among Fa,, Fa,, -~ Fa,

BRINRAARREANBSIFIREELU T,
Please make sure the peak working moment is below the maximum allowable moment.

@Fizmnf/ ME i/ TR FYNERENITE

Calculation formula for the Average radial load, Axial load, Average output rotation speed, Average
working moment

FIRE AT fra | N Fra®| ne telFrl o ne tlFro Vet ne bl |

Average radial load npet,+nystbeetn t,

0 0 0
P U e N AL te| Fa |5 + e | Fa| /5 feeng e b Fa| 2
Axial load Rt + My byt oot
Tt R i _nttiAnycteen,tt,
Average output rotation speed| 20 Ll 20 = o+ byttt
FHRRERE =Fra - .
AR e T Ma Nm Ma=Fra-(r+L)+Faa-La

ONEREY hSENZERAFTHITE

Calculation formula for the Loading factor, Equivalent radial load

Faa

=158, Xc=1.0, Yc =045
Fra + 2Ma / Dm

RS Yo, Yo

Loading factor

Faa
Fra+ 2Ma /Dm

> 1.58, Xc =067, Yc =067

RSB RS e | N

Equivalent radial load Pe=Xc- (Fra + 2Ma/Dm) + Yo - Faa

@F HhAGep B EIAYIT B

Life span for the main bearing

10
FHAEG e ATE] 10° C \3
Life span for the main bearing e n Lhc= 60-nao * fwe Po
1.0 | REERESER  no shock
it R T
Irrlwpact factor fw - 1.2 PERBECFARTEEET  with some shock
1.5 FEREIRDATERY  with shock and vibration

55



WEREA

Standard
type A

NSRS 1F Th{ar Maximum load at input shaft 22
SEt8 =
g8 Wl
[} i %

W EAEAARS PR A, A58 Bearing specification (Open type, Unit) -~

iR A 57K B 3 S
Bearing A Bearing B i =
275 R~f| EfXoSTENT | BEABSIENE | BEADSTENE | EXHSTENRE a b i
Series Size | Basic dynamic load rating | Basic static load rating | Basic dynamic loadrating | Basic static load rating &
C Co © Co Eﬂgi??i
N N N N mm | mm 2o ﬁi
=1 T
35 4000 2470 4000 2470 16 27 g B
42 4300 2950 4300 2950 16 31 8- ;
WPU-[-[-SNH| 50 4500 3450 4500 3450 14.5 | 27.5
63 4900 4350 4900 4350 15.5 | 30.8 E5 g
= Y
80 14100 10900 5350 5250 19 | 37.0 z g— g
D
35 2240 910 1080 430 24 | 215 3z %
42 2700 1270 1610 710 27 23.5 7o
WPU-[-[ -SNJ| 50 4350 2260 2240 910 315 | 26 EEE
x
63 5600 2830 2700 1270 37.5 29 z g g)ﬁ
s
80 9400 5000 4350 2260 39 | 385 2 ?_, I?F
— — o &
i ARA Bl A 28
Bearing A —~ ] Bearing A — ] & ¥
B B 3 %E‘J
g | Bearing B Bearing B = 7
_\‘thj‘ ‘ct',z@/ \:{ g
= T
= & 85 &
— = — e 32 =
=B g 23 1B
| - = B
a b a b 2 5
é& B
W S 7 (T 9% \F K 1 2000r/min, B8] : 7000h) S
Maximum load (Average input rotation speed : 2000r/min, Life span : 7000h) g3
55 A
WPU-[]-[]-SNH WPU-[]-[]-SNJ : 2
s 1
800 35 500 35 =
\ —_—12 —_—12 = =
450 2 P
700 50 \L 50 < =
400 63 5 =
_ 600 —63 _ N\ 38 &
pa \ —80 = 350 ——80
— 500 — 300 AN
- \ L \ B
L'E_g 400 \ ﬂ\@g 250 \ gg ;ﬁ
B S 399 N\ S 200 N N\ g2 =
s fos °B i
W E 200 \ \ VTR Ry S— N N : %
N~— (O - N o
100 —
0 T T T 1 0 T T 1 g ‘;{
0 100 200 300 400 0 100 200 300 5 i
Hm i Fa [N] WA A Fa [N] 5
Axial load Axial load —

FLEXWAVE WPE5

(o)
(e}




57

Standard type A
SEE SR Jubricant information

A58 5 Y (6 A
Grease

Sumiplex MP No.2 (HAEH EBEFIRINEFE)  Sumiplex MP No.2 (SUMICO LUBRICANT CO., LTD.)
FEREETTE:0 ~ 40°C MF B RE) Operating temperature range:0-40C (ambient temperature)

pEIb= Bl PR 7S

Grease application

BRUTERERRVEZIBARFE BT Please apply grease according to the table below.

M IEFRIERE Grease application

RIBREVHNRES B GaLNAER. AL AT FE, EERFESICHIRESR,
EFNEEHNASLEE, HR T C () AEEHE.)

SRERMLE AR, IEIE TR ANASSY ~ R SR EE T B RI50% BV E o

TP EI SRR R R, EEWAAT, ]
‘The quantity of grease applied to C should be s HRER{L Applied part
adjusted depending on the mounting direction. R~t c c c
C of the unit type product is already filled with Size
the same quantity of grease as horizontal & 2 (ﬁﬁ) (ﬁt) (E—F) =
mounting. Horizontal | Vertical up | Vertical down
‘For vertical up/down, 50% of the space 35 0.3 0.3 6 8 9 0.3
between input assy and casing inner wall 42 0.5 0.5 10 12 14 0.5
‘If the amount of grease is not sufficient due to
case design, please contact us. 63 1.5 1.5 30 35 40 1.5
80 3.0 3.0 60 70 80 3.0

W IEFREEREBL Grease application location

[(WPC-C-C-CF(CN) |  [[WPU-[J-[J-CF(CN) | [ WPS-[J-CI-SN |
B 8 B B
() o | c
Horizontal _]mm
— g N —
[#] = =
Casing pm  AREER50%
AT EHI50%
Fill 50% of the gap in volume X
(mT) :] E
Vertical E ‘ n
down | T
= il
: ) —
input sejii\:sseiz\y BN M
HWAASSY R
HWAASSY T\ HWAASSY
input section assembly
(A L)
Vertical
up

HFZE50% bl HEFEESEHI50%



ERA
Standard

IEREREE Attachment fixture requirement

B ZEFBE Attachment fixture requirement

HNEBAL

| WPC-[]-[]-CF(CN) | ? R
¢ =
; pE —

WEAZEHT
WHEAEHT

baft

Output
section

AR

v/
i

Recommended tolerance

Recommended

o=
ik

WEAZNG

=
o
i
LRBE [mm] i
2 1
)§T—r 35 42 50 63 80 A
1ze
a 0.015 0.015 0.018 0.018 0.023 3
b 0.010 0.012 0.014 0.016 0.020 3% %g“-
c 0.013 0.013 0.015 0.018 0.020 s~
d 0.015 0.015 0.018 0.018 0.023
e 0.015 0.015 0.018 0.018 0.023 P —
Sxz X
f 0.012 0.012 0.014 0.016 0.016 SE8 B
o
3 3 B
g 0.016 0.020 0.024 0.024 0.024 it E
Sz
| WPU-[1-[]-CF(CN) | | WPS-[]-[1-SN | : S
=33
=t be
=MW 72
81
1 A
Z o, Lo z 2
o § NEZBAL [N g ﬁ
~ (S gao © ~ 15
— | IS ce T T =
HN Eg o® W W (-
{d|eEc g2 « «
- |88 o fit fit
M #Iro * ®
= L[ o [A L] ¢ A
/
f [’
Z :
- 77{, A FF‘ |-
l
RENEE mm] R [mm] 2
N\ AY ? 7\—7"
)Z}_—r 35 42 50 63 80 RY 35 42 50 63 80 > SE
ize Size
a 0.020 | 0.020 | 0.020 | 0.025 | 0.025 a 0.025 | 0.025 | 0.025 | 0.030 | 0.030 o 4 |
b 0.012 | 0.012 | 0.014 | 0.016 | 0.016 b 0.020 | 0.020 | 0.020 | 0.025 | 0.025 g [E
o =X
c 0.016 | 0.020 | 0.024 | 0.024 | 0.024 c 0.020 | 0.020 | 0.020 | 0.025 | 0.025 z i3
d 0.012 | 0.012 | 0.014 | 0.016 | 0.016 o
e 0.016 | 0.020 | 0.024 | 0.024 | 0.024 —

FLEXWAVE WPE5 58



59

Standard type A

£ S S7%8  Transmitting Torque

TR

Bolting

B2 XE SR IN TR

BB ZDE (-CF-CNIYARE) R EE NEIFE, I SNEFEEER, FILUBEERWIA.

Please refer to the table below for the bolt tightening torque.
Please be noted that the transmittable torque varies depending on the bolt count (different between CF and CN)
and tightening torque.

0 22 X B SI B

Tightening torque for bolts

B R Bolt size M3 | M4 | M5 | M6 | M8 | Mio EBIIRZ BEXD129LE
X@E A% [Nm] |Tightening torque 19 | 43 |87 | 15 | 36 | 71 Recommended bolt :
Strength rating above 12.9

(ES 5 AR Ea8)
Bolt specifications and Transmitting torque (Closed type, Unit)

TERHEE Output flange attachment

R~ Size 35 42 50 63 80
184y R~t Bolt size M4 M5 M6 M8 M10
B2 Bolt count 6 6 8 8 8
Z#PCD [mm] |Bolt PCD 23 27 32 42 55
E[@E % [Nm] |Tightening torque 43 8.7 15 36 71
£S5 % [Nm] |Transmitting torque 56 106 238 566 1177

ZERNEH (CN) Internal gear attachment

R~ Size 35 42 50 63 80
B2 R~f Bolt size M4 M4 M5 M5 M6
B Bolt count 8 8 3 10 12
ZEEPCD [mm]  |Bolt PCD 65 71 82 9% 125
KE/I% [Nm] |Tightening torque 4.3 4.3 8.7 8.7 15
£S5 7% [Nm] |Transmitting torque 210 230 430 629 1392

Q%Wﬁ%\ (CF) Internal gear attachment

R~ Size 85 42 50 63 80
B R~F Bolt size M4 M4 M5 M5 -
124247 Bolt count 6 6 6 8 _
LHEPCD [mm] |Bolt PCD 65 71 82 96 -
K@% [Nm]  |Tightening torque 4.3 4.3 8.7 8.7 -
fE2/3% [Nm] |Transmitting torque 158 172 322 503 -
ZREAKER
Internal gear attachment N—
B
-
ZEREES
Output flange
attachment




ERA
Standard

ES H5E GHnn. seER)

Bolt specifications and Transmitting torque (Closed type, Component) %’ 5
LIEFZM RS Flex Gear Attachment ;

R~ Size 35 42 50 63 80 2

B4y R~t Bolt size M4 M5 M5 M6 M8 N
RN Bolt count 6 6 8 8 8

ZHEPCD [mm] |Bolt PCD 17 19 24 30 40

Z[E/% [Nm] |Tightening torque 4.3 8.7 8.7 15 36

£S5 7% [Nm] |Transmitting torque 41 75 126 223 539

?%WEE/B (CN) Internal Gear Attachment

R~ Size 35 42 50 63 80
Bz R~T Bolt size M3 M3 M3 M4 M5
BRZE N Bolt count 8 16 16 16 16
LZHEPCD [mm] |Bolt PCD 44 54 62 75 100 == wm |
S o 1A
K[EJFE [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7 Sx A
fES7I% [Nm] |Transmitting torque 82 200 230 485 1048 5 B
Z—‘Z%P\]ﬁtﬁ/j (CF) Internal Gear Attachment - ZJ:‘
R~F Size 35 42 50 63 80 c 39 |
B R~ Bolt size M3 M3 M3 M4 M5 5&
1242441 Bolt count 6 12 12 12 12 5 7
RHPCD [mm] |Bolt PCD 44 54 62 75 100
K[@EJ%E [Nm]  |Tightening torque 1.9 1.9 1.9 4.3 8.7 3
f£5 7% [Nm] |Transmitting torque 61 150 172 364 786 5z % |
2= E
LTEAER
Internal gear attachment
NX—1 -
- — EE-
mgl j]
E &
REEFELER
Flex gear attachment
g3 W
— i1 = A
2 =P
O FFLBYIBIN Reinforcement i
: - - T
FMHERELENEZRNBRHEERN, ERNEAEF. :E
HFFLRIRIER KEM. 1M
Pins can be added if the transmittable torque at the flex gear interface is not sufficient.
As an option, holes can be added. |
;E[
Thru hole for pins LS
7
5
o |
R
g W
B E z
Forcing tap U
WP-35, 42 WP-50, 63, 80 =
FLEXWAVE WPF5I 60



61

Standard type A

TS %8 Transmitting Torque

3%k

(FFRE)

L

Bolt specifications and Transmitting torque (Open type)

ZEFME Flex Gear Attachment

R~ Size 35 42 50 63 80

B2 R~ Bolt size M3 M3 M3 M4 M5

BREZE Bolt count 8 12 12 12 12

LHEPCD [mm] |Bolt PCD 64 74 84 102 132
ZE ¥ [Nm] |Tightening torque 19 1.9 1.9 43 8.7

£S5 7% [Nm] |Transmitting torque 119 206 234 495 1037
?’fzdélj\]ﬁti@ Internal Gear Attachment

Rt Size 35 42 50 63 80

B R~t Bolt size M3 M3 M3 M4 M5

BRZZ I Bolt count 8 16 16 16 16

LZHEPCD [mm] |Bolt PCD 44 54 62 77 100
K[EJFE [Nm] |Tightening torque 1.9 1.9 1.9 43 8.7

EZF % [Nm] |Transmitting torque 82 200 230 498 1048

Ly nsi RER

REREEE

Flex gear attachment

REREEE

i

Flex gear attachment

TERMEEE

Internal gear attachment

RENER

Flex gear attachment

=y I

2 Internal gear attachment

i ==

LENER

AN R e e

4 Internal gear attachment



WEREA

Standard
type A

B NEZRIHE  Input section structure

¢3 A
o5 1B
g8 Wl
g5 A
& N\ B[ H e 5
N BRI F1E
Input section structure o R |
A . S N o A —1 N S VA — § T—"
BANEBAEE D NERE (BhEOEE) SREE, REAFLEEFERMAE. g %
RS BIEFAR T EL
There are two types of input section structure, spline type (self-centering feature) and rigid type. : |
o5 =
o g 8P
°s I
W A (BRhiEOes) W A Y it 2
Spline type (self-centering) Rigid type < ﬁ

bat

(Buueaq ure)
uoneuwliss ajin
=

) Y

+

pasl=ss

i

>

1eys indul

1B peo| WNWIXeN
A
B

>4

M FLERT

Cam hole diameter

ORAERIAEEET FRIFEFLRRT T, MAERE, gl R~ R AFLIEEE, NN
W BB FREELSNT, ERTERRAE,

The diameter of the cam opening is customizable. Holes smaller than the 'standard hole size' in the table will be built in the

spline type. Holes equal to or larger than the 'standard hole size' and smaller than the 'maximum hole size" will be built in the
rigid type. Please contact us if you need sizes outside the specification in the table.

O]

Juswainbal
K i e

aINIX1} Juswiyoeny | uoleuwioul juedugn

anbio)
Bumiwsuel|

A dnaE

induj
|

2In1onJis uoides
=

wosse

suononJsul

pue uone|eisu|
eIl

©
3
e}
®
aQ
<
@

¥R~ Cam dimension [mm]

uolje||eisul JojJoN
BT S O

R~ 35 42 50 63 80
Size

IEFLER
standard bore size 6 8 12 14 14

¥

= /=
BRAAEV 17 20 23 28 36
maximum bore size

&/ H 6 7 8 9 11
minimum thickness -

5=
HI

eleq solisueioeleyn
%

FLEXWAVE WPE5 62



Standard type A
SEESEIN Installation and assembly instructions

ka1 \/%a0 th S RY 32 8 (wee-1-0-CL))

Shaft installation instruction

WNH/ WHEERAAZERTHENERAE / HRAFTHNERS, (FTERNSELE)
KEBEVNADBHEAAGTERT LR, BHITEE, #ROBREMEZE.

Please design the support structure for input shaft and output shaft so that both radial and axial loads are supported. (Diagram
below shows an example)
Inside thrust load has effect on the cam. Secure cam from the possible axial movement.

ey tH i J

Output shaft

- DN

~
L‘ Input shaft

o G

ke

Cam

23 75 35% (wpe-O-00-c))

Attachment flange requirement

RESFMEEICEERE=, ATHIESEMREERIIR, 15

RIEFEATRYT, i
For the attachment flange that comes in contact with flex gear, please build the B
corner radius according to the table below, in order to prevent damage.
N N o
[mm] S
D zawi==] —
iR 35 42 50 63 80
tem L
D 24.5 29 34 42 55
R 1.2 1.2 1.4 15 2 R
t 2 25 25 5 7 t

63



BN ZZEZE 555 Motor installation procedure

AN B R ] BT RRN LR B 5 ST R BB E .
*This model is not directly attached to a motor. Necessary fixtures are to be prepared at the customer side.

B &3 755 (WPU-[-[(J-C0)

Motor installation procedure

"“‘4:tfg_ﬁ1 Procedure 1

.;|__r;£—_L P :?: EE;‘:}'LJ: -Attach the flange on to the motor

’I‘J’EHU}\ASSY'—H’{:.:E EEWLEEJ: ‘Attach the input section assembly with elastic bearings to the
motor shaft

CEEHAGET mAN

-Attach the unit

l
[ T
I
J
ﬁl
|
I
|
(11
I

=
[

1

)

|
™M

|

|

T

= H# 1 1 B

=
]

a S K BN ASSY N fﬂﬁﬂ
j%i%% input section assembly = E}»
HETUAMG
unit ;f;
flange
B &S Procedure 2
3|—_r§FJIJ)\ASSYH_"{iE EEHLEEJ: ‘Attach the input section assembly with elastic bearings to the
_;|__r/£—4 -—‘-Aj:E EEWLJ: ;notorhsk;aftﬂ i
‘Attach the flange on to the motor
REFHGH T mAN "
-Attach the unit
— .
H flange

|
[
I
J
ﬁl
|
I
|
(111
I

|
|

T O s ==

L] H B
I | | | motor
L) . B\ ASSY
I\ I 53» input section assembly
HETAM
unit

ﬁ%*ﬁé{/ﬁﬁjﬁgii%f$lﬁj Caution during installation

- ARBTEMAE, SRS ERINE,
OEEARMERHE AN ASSY FIEEA

- Do not use excessive force while mating parts
- Please watch for tilting during input section assembly and motor

FLEXWAVE WPE5

suonanJsul

WEREA

Standard

(Bulesq onse(3)

(Bu

1eys indul

18 PBO| WNWIXBIA
et
B

Juswainbal

Alquasse 2INJoNJ}S UONOSS

ainpasoud

solislieloeleyd | uolyejjeisul 1010\

g ure)

/ i 5l

| suoisuswig
U

(e I Sh

Dot

o

uory

(G HY) M

;,F
T0ht A

2JNIXI} JUBsWydeNy | uolieuwlojul Juedlq
K i S X i

anbuo| Bumiwsuel|

1ndu)
M
o

pue uonejeisu|
5 et

b

4.

5
I
)Z,A)Z

1=

eleq

64



L

Standard type A

"REVESNIE Characteristics Data

AERSRE

Transmission Angular Accuracy

1.0
= Ry e
AEESKEREX
EENTR I T ERNEIERE, B LR = 09 RELSHE
TR AE S SKInH e AERNEE, oo |
) o oK = 0.0 | \IH\.\HIII‘H‘“|“\‘HIJ‘ ‘““““M“ I TNy ALLAANS
What is Transmission Angular Accuracy? o & ‘HHI]'“\ (Y ‘ (V" "H”W”””m ”m ””””””UU'"Y"
AT}
It is the difference between the measured output $ 5 ‘m
rotation angle and the theoretical angle, while input ﬁgg -0.5 =
shaft is rotated with no load. -
-1.0
0 90 180 270 360
mEEERRE (F)
Output shaft rotation angle (deg)
[arc min]
. R~t
TR EE Size
Rati
a3 42 50 63 80
50 2.0 2.0 1.5 1.0 1.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
160 - - 1.0 1.0 1.0
MERPBENSEE,
Table values are reference values.
SH =
/FFE*J”\QE
Hysteresis Loss
e FEEIY HehmE
Iﬁfé?ﬁ*ﬁ x Twisting angx\c
WMANNEE R, BAOEBMER BN B0 1
B = mERR
ysteresis LOSs
What is Hysteresis Loss?
When torque load is applied at the output shaft in
alternate direction repeatedly with input shaft fixed, > iR
. ‘ - . / V
there is residual twisting angle when torque is back Torque
to zero. /
In this context, hysteresis loss is the difference in the
forward and backward twisting angle.
[arc min]
s R~f
IREE Size
Rati
R Y 42 50 63 80
50 2.0 2.0 2.0 2.0 2.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
160 - - 1.0 1.0 1.0

65



&AHMR

Maximum Backlash [arc sec]
Ak [l e . R~
HEQ* B B?\IEX TBIREL Size
e e N Ratio
a1 N\ B K FR 1 3 U 48 {4 B Y g L A A2 h 8] PR 35 42 50 63 80
(AR A I E R 0, BT AN B A B IR A 50 27 27 18 16 16
0c) 80 17 17 11 10 10
What is Maximum Backlash? 100 13 13 9 8 8
In this context, maximum backlash is the output 120 _ 11 7 7
backlash for spline type input shaft. (Backlash
is zero for rigid type input, because gear 160 - . 5 5
engagement backlash is zero.)
MU Ens. Aa8) K1-+-7758 0 ~ T, RS S M
Spring coefficient at 0 ~ T, torque
Stiffness (Closed type, Unit) K2-175B T, ~ T, MU EE 2%y
Spring coefficient at T, ~ T, torque
A E K3~ 775 T, ~ B9 S A
NN L . ) r Spring coefficient at T, ~ torque
& 7€ 4 N, R 77 %8 1t 0 2 4an L NI BY R 5 25
B S N —
What is Stiffness? K,
In this context, stiffness is the output shaft twisting o
angle and the spring coefficient, while torque load iy g 3 '
is applied to the output shaft with input side fixed. % ) ' !
e Ki i :
: | |
0 1 1
Ry
Load torque
s e ‘ Rt
BIRLE (ST BAL Size
Ratio item unit 35 42 50 63 80
- T, Nm 2 3.9 7 14 29
- T, Nm 6.9 12 25 48 108
K, X 10*Nm/rad 0.28 0.69 1.1 27 5.6
K, X 10*Nm/rad 0.45 0.85 1.7 3.3 7.1
50 Ks X 10'Nm/rad 0.55 1.1 25 4.0 8.3
G, arcmin 2.3 2.2 2.0 1.8 2.0
8, arcmin 5.7 45 5.3 55 6.5
K, X 10*Nm/rad 0.45 0.92 1.2 3.3 6.9
& K, X 10*Nm/rad 0.63 1.1 1.8 3.7 8.1
100
120 Ko X 10*°Nm/rad 0.70 1.3 22 45 10
160 a, arcmin 1.8 1.3 1.8 1.6 1.7
a, arcmin 47 3.5 4.8 4.4 4.9
KERPHENTIIE,

Average value shown in the table

FLEXWAVE WPE5

ERA
Standard

yeys indu

1e peo| wnuwixe|p

24N}oNnJjs uol}

eleq

sansuaoeIRy)

9|ge| suolsuswiq

A
i

uoneuwojul Jueaugn

X

anpIo| Bu niwsuel|
ST
m

=)
l
@
Vil
)z

SRR




L

Standard type A

"REVESNIE Characteristics Data

BT /1%E fom]

(A%, AAR) L e

Starting Torque Ratio

(Closed type, Unit) 35 42 50 63 80
50 1.7 3.9 5.5 8.7 19

Eﬁbﬁ*EE)‘( 80 1.9 4.2 6.0 9.5 21

ER NG LR RE B, S0\ I SATERE B9 /56 10 | 16 | 35 | 50 | 79 | 18

(Feth 7, FRIBSREE : 25°C) 120 | - | 28 | 40 | 63 | 14
160 - - 3.6 5.8 13

What is Starting Torque?
Input torque needed for input side to start rotating (no X1 IRIBEAEXGTE, REGFEER, MULEREASE
load, ambient temperature : 25C) BFEA.
X2 NEFER N MhE R IR 4 A S e L PR /I P SRV &2
Dlﬁlo
*1 For reference only. Torque value may vary depending on the
condition.

*2 Charts does not show effects due to rotation resistance of
bearings and oil seals on the input side.

b =Fpak;d

(FHAB,AHER) [Nm]
Output Starting Torque R~
(Closed type, Unit) ’)E’g]igt Size
55 42 50 63 80
MRBohHIEENX 50 1.3 2.6 4.5 5.7 12
g ~ ’ 80 1.9 4.0 6.8 8.6 19
i L M R ELHRFL B, Say HE (I 4a A% Y /0 %B 100 51 ") o o5 Y
(T, I iERE 1 25°C) 120 i 5.3 9.0 11 25
What is Output Starting Torque? 160 f - 99 13 29

Output torque needed for output side to start
rotating (no load, ambient temperature : 25C)

X1 IRIBEREHERR, EFTES, MULRFAISE
BEEA.
X2 FNEIE N MR R IR S A S A BE R PR D P R
Dlﬁlo
*1 For reference only. Torque value may vary depending on the
condition.

*2 Charts does not show effects due to rotation resistance of
bearings and oil seals on the input side.

67



TAEIEEE
(A, ARE)
No-load Running Torque
(Closed type, Unit)

EHEFEHRNDEEX
TELAEFGET, BEIREFTR Y
ZHRNNSI%E,

(PME, FFRE 1 25°C)

What is No-load Running

Torque?

Input torque needed to keep it running

with no load (average value, ambient
temperature : 25T)

ERA
Standard

[cNm]
Aty | AR A
Ratio Input rotation L
speed 35 42 50 63 80 g R
500r/min 3.1 5.1 11.2 13.7 26.1 g %
50 1000r/min 3.4 5.4 12.4 15.2 28.6 ;
2000r/min 3.6 59 13.6 16.9 31.3 5
3500r/min 3.9 6.3 14.9 18.8 34.2 —
500r/min 4.3 7.7 8.4 15.6 28.6
80 1000r/min 4.6 8.3 9.2 17.3 31.2
2000r/min 5.0 8.9 10.1 19.2 34.2
3500r/min 5.4 9.6 111 21.4 37.4
500r/min 2.9 7.4 9.5 14.2 22.5 == 7?
100 |1000r/min | 3.1 8.0 | 105 | 157 | 246 =% 5t
2000r/min 3.3 8.6 11.5 17.5 26.9 Ei i
3500r/min 3.6 9.2 12.6 19.4 29.4 VH
500r/min - 6.1 9.2 12.4 26.3 S
35 48l
120 1000r/min - 6.5 10.1 13.8 28.8 &z }\
2000r/min - 7.0 111 15.3 31.5 g; g
3500r/min - 75 | 122 | 170 | 345 2
500r/min - - 8.0 13.9 | 291 G
160 1000r/min - - 9.1 14.8 30.8 g A}]
2000r/min - - 10.3 16.2 33.1 ; ﬂ
3500r/min - - 11.6 17.7 35.7 §
X1 RIBERASHTE, REFEER, MU ERENSEESER. N
X2 BRI N MSRE K IR bl A& S RO AR F2 P I P SR RO 2 Mo 8z %
*1 For reference only. Torque value may vary depending on the condition. 5 g %
*2 Charts does not show effects due to rotation resistance of bearings and oil % 2 T"ﬁ
seals on the input side. N
Nab
z 7
e 7B
55 A
2 of
s i
s 1
5
/;E L
m
2= @ |
55 M0
s 5
5 A
52 1
52 4
¥
: B
z
FLEXWAVE WP%35I o8



69

Standard type A

"REVESNIE Characteristics Data

R (AR, HEE)
Efficiency (Closed type, Unit)

L

Jﬁ\ﬁ[%] ﬁﬁjj%ﬁ/§1¢$i">jjjﬁﬁ ‘Percentile Load (%) is equal to load torque divided by
p——— o allowable average torque.
NRRE 1 25°C ‘Ambient temperature : 25TC

X1 BEIRAKNEIER FIE.

TIPSR B R0,
WPU-35-50
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 3500 r/min
2
o 70
@)
L 60
= 50
LT
&
30
20
10
0 20 40 60 80 100
fafr [%] Percentile Load
WPU-35-100
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
_. 80 3500 r/min
2
2 70
o
0 60 - —
= 50
M4
= 0
30
20
10
0 20 40 60 80 100

AT [%] Percentile Load

*1 These diagrams represent the average value of the

actual measurement.
~ a NesEsy K A HE ) .
RN E NP E NSRS 3: ) kg *2 Charts does not show effects due to rotation resistance of

bearings and oil seals on the input side.

WPU-35-80
100
@ 500 r/min
90 [ e 1000 r/min
@ 2000 r/min
- 80 M 3500 r/min
2
o 70
= 50
B a0
=
30
20
10
20 40 60 80 100

7 [%] Percentile Load



R (AR, HEE)
Efficiency (Closed type, Unit)

1T %] AR IE/BRIFFEE5E
IR RE 25°C

%1 BFR A TNEEER T E.,

2 B HE 5 NS 5T BR A R S 4 bR B PR

TIPSR B R0,
WPU-42-50
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 3500 r/min
2
o 70
o
L 60
= 50
LT
&
30 ——
20
10
0 20 40 60 80 100
faf [%] Percentile Load
WPU-42-100
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
_. 80 3500 r/min
2
@ 70
o
L 60
= 50
¥ 40
oy
30
20 ——
10
0 20 40 60 80 100

At [%] Percentile Load

‘Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25TC
*1 These diagrams represent the average value of the
actual measurement.
*2 Charts does not show effects due to rotation resistance of
bearings and oil seals on the input side.

WPU-42-80
100
@ 500 r/min
90 | e 1000 r/min
s 2000 r/min
- 80 M 3500 r/min
2
o 70
O
L 60
= 50
¥ 40
=
30
20 ——
10
0 20 40 60 80 100
faf [%] Percentile Load
WPU-42-120
100
e 500 r/min
90 | ammm 1000 r/min
e 2000 r/min
.. 80 3500 r/min
2
o 70
o 60 |
=X 50
¥ 40
=
30
20
10
0 20 40 60 80 100

g [%] Percentile Load

FLEXWAVE WPE5

St

»
[0
=1
i
3
o
=1
g
@

eleq

y)
(0]
Q
o
<

WEREA

andard

b=
s
i
=

anbio] Buml

ndu)

s B
s Al
;=
el
5 A
9 %
3 &
g
z =
"j“.
70



S

Standard type A

"REVESNIE Characteristics Data

R (AR, HEE)
Efficiency (Closed type, Unit)

Jﬁ\ﬁ[%] AL AL Ay Sy ] ‘Percentile Load (%) is equal to load torque divided by
allowable average torque.
= 185 F - o B
IMFRE 1 25°C -Ambient temperature : 25C
. . N *1 These diagrams represent the average value of the
1 ER NSRS THIE, R ¢
4 NHESDNES 17 SV ' . .
RN E NP E NSRS 3: ) kg *2 Charts does not show effects due to rotation resistance of
gy 2 . . . .
TIPSR B R0, bearings and oil seals on the input side.
WPU-50-50 WPU-50-80
100 100
e 500 r/min @ 500 r/min
90 M e 1000 r/min SO o [P 1000 r/min
e 2000 r/min e 2000 r/min
> 80 3500 r/min > 80 3500 r/min /
g t - -~ ————
s 2
0 60 0 60
S g 50
H #
£ 40 % 40
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
fafd [%] Percentile Load fafa [%] Percentile Load
WPU-50-100 WPU-50-120
100 100
500 r/mil e 500 r/mil
90 H —100(;|Tr:m 90 H —100(;:;‘rlr:n
2000 r/min e 2000 r/min
> 80 3500 r/min > 80 M 3500 r/min
5 70 — & 70
I 60 — o 60 S
g 50 E 50
H H
% 40 £ 40
30 30
20 — 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
fafd [%] Percentile Load faf (%] Percentile Load
WPU-50-160
100
500 r/mil
90 H == 1000 rmin
s 2000 r/min
> 80 3500 r/min
& 70
o
1 60 —_—
= 50
B
% 40
30
20
104 20 40 60 80 100

7t [%] Percentile Load

71



WEREA

Standard
type A

23 A
o s I8
T
== Y 24 +4 E
R (AR, HEE)
Efficiency (Closed type, Unit) JAN
<t
=
ﬁﬁ[%] :ﬁﬁjﬂ%ﬁ/githFigj]%E ‘Percentile Load (%) is equal to load torque divided by
allowable average torque.
= - [£F - o B
IMFRE 1 25°C -Ambient temperature : 25C L
. . — *1 These diagrams represent the average value of the E
X1 BIRALNEIENFI9E, et megsuremerﬁ 9 o
. T
a S & IRF Shir . . =
RN E NP E NSRS 3: ) kg *2 Charts does not show effects due to rotation resistance of =
Py Z . . . . =
TIPSR B R0, bearings and oil seals on the input side. £
i\ti
EIE]
WPU-63-50 WPU-63-80 it
=
100 100 ?H
e 500 r/min e 500 r/min ;ﬂ
90 [ e 1000 r/min 90 [ e 1000 r/min -
e 2000 r/min e 2000 r/min [N [
. 80 3500 r/min - 80 3500 r/min Bl
c ° N\
§ 70 ig 70 é%]
0 60 o 60 8 iF
] ] 2
X 50 X 50 &
H # —
g 40 g 40
30 — 30 —
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
fifi [%] Percentile Load 7t [%] Percentile Load |
WPU-63-100 WPU-63-120
100 100
e 500 r/mi e 500 r/mi
90 H —1001;:7r:in 90 —1004;:;‘rr?in
2000 r/min 2000 r/min [
_ 80 3500 r/min - 80 3500 r/min
g o
5 70 — & 70
S 2
o 60 o 60
£ 50 g 50
H # —
£ 40 JUREY E
30 — 30 55 A
2 ol
20 20 g i1
10 10 £ 1
0 20 40 60 80 100 0 20 40 60 80 100 ¥
5t (%] Percentile Load fafE [%] Percentile Load -
WPU-63-160
>
100 2
e 500 r/min
90 [ e 1000 rfmin
2000 r/min *
_ 80 3500 r/min § B
g s
§ 70 s &
5 60 2 &%
~ ol
S 50 =k
# 40 -
® 52 %
30 53 %
20 [}
:
10 5
0 20 40 60 80 100 @

fafa [%] Percentile Load

FLEXWAVE WPE5 72



S

Standard type A

"REVESNIE Characteristics Data

R (AR, HEE)
Efficiency (Closed type, Unit)

Jﬁ\ﬁ[%] AL AL Ay Sy ] ‘Percentile Load (%) is equal to load torque divided by
allowable average torque.
it:E = - o X o
IK}LE /ﬂﬂE :25°C -Ambient temperature : 25C
. . s *1 Th jagrams repr nt the aver val f th
1 ERNTIEIEN LI E, [heee daorams represent e sverage value of he
D4 /__, a |_|| N i\ K \ e ! . .
RN E NP E NSRS 3: ) kg *2 Charts does not show effects due to rotation resistance of
- A . . . .
TIPSR B R0, bearings and oil seals on the input side.
WPU-80-50 WPU-80-80
100 100
@ 500 r/min @ 500 r/min
90 [ e 1000 r/min SO o [P 1000 r/min
2000 r/min e 2000 r/min
. 80 H 3500 r/min . 80 3500 r/min
o o
§ 70 & 70
o k3]
1 60 D 60
= 50 8 50
s s
g 40 % 40
30 30
20 20
104 20 40 60 80 100 04 20 40 60 80 100
fafd [%] Percentile Load fafs [%] Percentile Load
WPU-80-100 WPU-80-120
100 100
e 500 r/mi e 500 r/mi
90 H == 1000 rmn 90 H == 1000 tmin
2000 r/min e 2000 r/min
.. 80 3500 r/min .. 80 3500 r/min
[6) [}
& 70 g 70
o Q
I 60 o 60
E 50 E 50
i ia
% 40 £ 40
30 30
20 20
104 20 40 60 80 100 104 20 40 60 80 100
fafd [%] Percentile Load fafs [%] Percentile Load
WPU-80-160
100
e 500 r/mi
90 H —100(;|Tr:m
s 2000 r/min
_. 80 3500 r/min
o
& 70
o
1 60
g 50
B
%40
30
20
10
0 20 40 60 80 100

it [%] Percentile Load

73



MEMO

FLEXWAVE WPE5 74



75

Flat type D

SR EBL S Reducer Model Nomenclature

WP

35

50

CD

=t o S X
RIIBHR E- %) R~ IR EL 55
Series name type Size Ratio Code
WPZ%7%! C 8 35 50 CD
Component type
- 42
WP Series S (EZASE 80 CDH
Simple unit type 50
U:4aai 100 SD
BEE (L) 63
Unit type
Hollow unit 80 120 SDH
*ABFBEERRTR.
.Eﬁ{ﬁ%‘% Availability For the code detalils, please check the
. Dimensions Table
Ratio matrix
O lpg 228 50 | 80 | 100 | 120
> 35
IS
© 42
[V
50
63
80
NN ‘g .
SR A FI AR Reducer Specifications
%2 %3 % 4 %5 %6 %7
\ B BFRA BEEA BT BURS T
TR EL Ay 7156 Al BANFOR RNFER
RT"— Ratio Nominal output Maximum output | Emergency stop Nominal Maximum input ]
Size . ; Life
R*! torque torque torque input speed speed
[Nm] [Nm] [Nm] [r/min] [r/min] [hours]
50 3.7 12 24
35 80 5.4 16 29 3000 8500
100 5.4 19 31
50 11 23 48
80 15 29 52
42 3000 7300
100 16 37 55
120 16 37 55
50 17 39 69
80 24 51 75
50 3000 6500
100 28 57 76 7000
120 28 57 76
50 27 69 127
80 44 96 147
63 3000 5600
100 47 110 152
120 47 110 152
50 53 151 268
80 82 212 334
80 3000 4800
100 96 233 359
120 96 233 359

1 IEBRERNPAFFARAARA, RIS EEL
X2 B NEEE 2000/ min IR B IFRAE
%3 BEh. ELERNBFRAE

¥4 REBTRNBTFRAME

%5 TEEER, FIMANERNBFRAE
*6 BERUEFR, IARRNBFRAE

%7 BINFEIR2000r/min, BYFEUE I B E AT a]

*1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table
*2 The maximum allowable value at the input rotation speed of 2000r/min

*3 The maximum torque when starting and stopping.

*4 The maximum torque when it receives shock.

*5 The maximum average input speed.

*6 The maximum input speed.

*7 The life time at the input rotation speed of 2000 r/min and nominal output torque



#FRD

Flat type D

R <TZ Dimensions Table 22
82 RiE
=0
58 i)l
== B

et 22 s

HFE T =8 1B 2 2

)S?TJ— Weight Moment of inertia
Closed Type, Component ize kg X10kgm? : A
35 0.062 0.0226 ERR:
=]
WPC- D - D -CD 42 0.10 0.0565 g =
50 0.16 0.113 =
63 0.26 0.342 s
80 0.57 1.18
L &
LE = i
LF LG Sg %
LH =
LJ it
-
ws = % —
g
—_—— 9 },‘
g SF as =
A = =
— - H P— — H
w| ol B 03 E= N =
3|¥| @ s 2| ¥|a
° i st |® W
g BNk A
B
o i
T
(@4 far
% |
& i
g B
2 7
2z B
23 18
[mm] =5 =
gfe LA LB LE LF L@ LH LJ LK N LU LW LT
35 44 50 11 6.5 45 1.4 - 0.3 6 35 - M3 A (K1
3 ~I
42 54 60 125 | 75 5 17 - 03 8 35 - M3 Ee
50 62 70 14 8 6 2 3.3 0.3 12 35 6.5 M3 g
63 75 85 17 10 7 2 3.3 0.4 12 35 6.5 M3 )
80 100 110 22 13 9 25 4.4 0.5 12 45 8 M4 2= ox |
R SA SB sc sD SE SF CX cY cz M ST su iz
Size gk
35 17 11 23.5 11 17 4 6.5 1 38 8 35 M3
42 19.5 11 27 15 21 5 75 1 45 8 45 M3 9 Ef
50 24 16 32 20 26 5.2 8 15 53 8 45 M3 — ;'é
2. )
63 30 20 40 24 30 6.3 10 15 66 8 55 M3 8
80 41 30 52 32 40 8.6 13 2 86 10 6.5 M4 5
¥ CX. CY. CZHIPEREREINR T, *Inner dimensions of CX, CY, CZ are recommended dimensions. o

FLEXWAVE WPE5 76



Flat type D [&¥&D|

R~F3& Dimensions Table

HiAE A58 =8 1M 15E
. Eq— Weight Moment of inertia
Closed Type, Unit ize kg X10°kgm?
35 0.33 0.0227
WPU- |:| - D -CD 42 0.43 0.0565
50 0.61 0.113
63 1.1 0.343
80 2.2 1.18
LE
LF LH
LG - Y
&
=
S
=
—_— —_ L- —_ —_ =
ZlolE @ B S N =
zslgl N B
Ry RN Y s S| s
D
i
LJ LM
LK
[mm]
R LA LB LC LD LE LF LG LH LJ LK LM N LU
Size
35 49 55 31 425 25 23 0.5 2 5 14.8 1.7 6 35
42 56 62 38 495 | 265 | 245 | 05 2 5 16.3 1.7 10 35
50 64 70 45 58 297 | 277 | 05 2 5 18.8 1.7 12 35
63 79 85 58 73 371 | 34.1 05 3 55 | 236 | 26 18 35
80 104 112 78 96 43 40 1 3 55 | 306 | 25 18 45
5}; SA SB SC SD SE SF cY cz M SuU
35 25 12 11 11 17 4 1 38 10 M3 X 6 M3
42 27 14 11 15 21 5 1 45 8 M5 X 8 M3
50 34 18 16 20 26 5.2 1.5 53 8 M6 X 9 M3
63 42 24 20 24 30 6.3 1.5 66 8 M8 X 12 M3
80 57 32 30 32 40 8.6 2 86 10 M8 X 12 M4

¥ CY. CZHIFENEREINRYT,

77

*Inner dimensions of CY, CZ are recommended dimensions



#HFRD
Flat type D

HAR A58 ) A
. )S%q— Weight Moment of inertia
Closed Type, Unit ize kg X10"kgm’ ~
35 0.46 0.0228 ERR:
=]
WPU- |:| - D -CDH 42 0.63 0.0571 g =
50 0.91 0.113 =
63 16 0.344 &
80 3.0 1.18
T
ﬁ
Le i
LG LF #
0-ring LA 0-ring :
B
=i £ 5|
. &
Al . i
g |5, b £ |E|E
EIREES ws  g|s|2|=
Oh | 2
o IF
L LN A
LK 1A]
LM — [
5
3 B
2
=
]
RY LA LB LC | LD LE LF LG LH LJ LK | LM | LN N LU )
Size
35 64 70 49 48 22 | 215 | 05 | 25 | 39 | 49 | 129 | 28 6 35 5 &
3 ~I
42 74 80 59 56 | 227 | 222 | 05 | 25 | 14 | 37 | 134 | 28 8 35 = 7z
50 84 90 69 64 | 268 | 245 | 23 | 25 | 43 | 48 | 163 | 28 8 35 g
63 102 | 110 | 84 80 | 315 | 294 | 2.1 3 35 | 55 | 185 | 34 10 | 45
80 132 | 142 | 110 | 106 | 37 | 342 | 28 3 25 6 | 205 | 35 10 | 55 ~
);Z\_-er SA | SB | sC | sD | SE SF | cz M ST SuU
35 42 30 11 11 17 4 38 8 M3 X 5 M3
42 50 34 11 15 21 5 45 10 M3 X 6 M3 o Ef
50 60 40 16 20 26 | 52 | 53 8 M4 X 7 M3 5 %
63 73 | 52 | 20 | 24 | 30 | 63 | 66 8 M5 X 8 M3 :
80 96 70 30 32 4 | 86 | 86 8 M6 X 10 M4 5
¥ CZRIPSAREEENR T, *Inner dimensions of CZ are recommended dimensions o

FLEXWAVE WPE5 78



79

Flat type D [&¥&D|

R~F3& Dimensions Table

FHE GZE8a58 =8 1R 5
. . Eq— Weight Moment of inertia
Open type, Simple unit ize kg X10°kgm?
35 0.31 0.0233
WPS- D - D -SD 42 0.43 0.0578
50 0.54 0.114
63 0.93 0.347
80 2.0 1.20
LE
LF LH
LG 0-ring
J
Q SF
YUl =
2| = E Il
aly ¥ s g|s 3|3
eS| & S S| S
Cq
<
rm ">
<&
v Y
[mm]
)sfe LA LB LC LD LE LF LG LH LJ N LT
35 43 70 50 49 17.5 15.5 2.4 2 15.7 8 M3 X 4.5
42 52 80 61 59 18.5 16.5 3 2 16.9 12 M3 X 4.5
50 61.4 20 71 69 19 17 3 2 17.8 12 M3 X 4.5
63 76 110 88 84 22 20 3.3 2 21.6 12 M4 X 6
80 99 142 114 110 27.9 23.6 3.6 43 27.3 12 M5 X 8
R SA SB SC SF CA CY CzZ cV CW M ST SuU
Size
35 64 11 17 4 0.3 1 36.5 1.6 31 8 35 M3
42 74 15 21 5 0.3 1 43.5 2 37 12 35 M3
50 84 20 26 5.2 0.3 15 53 2 44 12 35 M3
63 102 24 30 6.3 0.3 1.5 66 2 56 12 45 M3
80 132 32 40 8.6 05 2 84 2 72 12 55 M4

¥ CV. CW. CY. CZ miFEREERINRT,

*Inner dimensions of CV, CW, CY, CZ are recommended dimensions



#¥2D

Flat type D

!
% =
#
0
X s =
FE HEE (= i) EF ] RIS =
. RT Weight Moment of inertia
Open type, Unit (hollow shaft) Size ” 0 kg -
35 0.49 0.0839 ERR:
=
WPU-[ |-[ |-SDH 42 0.66 0.180 g =
50 0.84 0.352 =
63 1.4 0.940 &
80 2.8 3.47
]
LE B
LG LF LH it
=
(&) LK LJ =
M-gST g
i
=1
5
/1;
g5 =
g Tz
< fh
o V28
= ;
35 m |
A
i
o 3
Al
T
s |
)
il
=T
INPUT SHAFT FOR 35842 e
&
[mm] G
RI A LB LC LD LE LF LG LH LJ LK LL LP LQ LR —
Size 5 (£
35 43 36 52 70 | 455 | 195 | 12 14 | 65 | 75 9 25 | 55 | 65 2 5
3 B
42 52 45 62 80 48 | 205 | 12 | 155 7 8.5 10 | 25 | 55 | 65 g
50 | 614 | 50 73 2 42 | 215 | 5 155 7 85 | 105 - - -
63 76 60 87 | 110 | 465 | 24 6 165 | 6 105 | 105 - - - NEETEE
80 99 75 | 114 | 142 | 55 | 286 7 194 | 75 | 119 | 12 - - - i
. I
?j@ SA | SB | SC | SD | SE | SF | M | sT su N LT g
35 64 - 14 20 74 36 8 35 M3 8 |M3X45 ¢35X55 o = |
42 74 - 19 25 84 45 12 35 M3 12 |M3X 45 ¢35X65 3 ,@
50 84 | 255 | 21 30 95 - 12 | 35 M3 X 6 12 | M3X 45 ¢35X65 5 i
)
63 | 102 | 335 | 29 38 | 115 - 12 | 45 M3 X 6 12 | M4X6 045X85 5
80 | 132 | 48 41 54 | 147 - 12 5.5 M3 X 6 12 | M5X8 055X76 S

FLEXWAVE WPE5 80



S

Flat type D [&F2D]
Eepit e GHEBERNA)  Life estimation (Elastic bearing)

HERASWITE

Life span for the elastic bearing

[ P sil T, ;
Operation cycle example hiar 745B ' T, 3
Working torque } Ts‘ T4
| B8]
| ; Time
Ny =2 N3
0 g
SOpuéggt rotation | ¢, t, |t t, ‘ i)
Time
OF5iE 1% | R IERIHTE
Calculation formula for output torque
t 3 t 3 n.t 3
T %8 Tao Nm Tao =3 My 1’|T1| + 1 2’|7—2| Feeet e n'|Tn|
Average output torgue net,+n,ctyeeen ot

AN E o | Nm | MO=Th Tooo T, MEAME
Peak output torgue value Tmo = Largest among T, To, -+ T,

BWARKEHIENBIFERRBHENL T,

Please make sure the peak output torque is below the maximum output torque in the specification table.

@FNER | mREWALERNITE

Calculation formula for input speed

qu;jgﬁ'jtlj?gﬁ nao r/min nao = n7.t7 +f72’t2"' nn.tn
Average output rotation speed t+ bttt
RERbEE amo | /min 0= M Nz, BEKE
Peak output rotation speed nmo = Largest among n;, Ny, *+ N,
TN R

Average nput speed nai | r/min  nai=nao X R (R =Bkt ) (R =ratio)

REBNEIR

Peak nput spasd value nmi | r/min  ami=nmo X A (R = E&EtL ) (R = ratio)

BHARSEARENBTTFRSBANLEREL T

Please make sure the peak input speed value is below the maximum input speed in the specification table.

% enEYEIAYIHE

Calculation formula for life span

BB RS ST _ Jar o [ nar
Part life span for the elastic bearing Liriz n Lhe = 7000 x Tao nai
BRE 1158 tar | Nm | TERERTBAERNTIING
Rating torque Nominal output torgue in the specification table

BUEm NI ®

Rating input rotation speed et r/min 2000 r/min

81



REZD
Flat type D

Eep1t e (FahA)  Life estimation(Main bearing)

gg%iﬁfﬁ/%ﬁi‘l’% Model selection / Life estimation

W HARRE (R XORF M) Main bearing specification(Cross roller bearing) ? _Rj
RpTEER RZ8 | EXSTEAT | BAHSTEAR BN TIFEMIE j
25| Rt Pitch circle diameter Offset Basic dynamic load| Basic static load Allowable Moment g
e of the bearing rollers rating rating moment rigidity
Series Size
Dm L C Co Mal Km
m m N N Nm X 10" Nm/rad &L &
35 0.0335 0.0090 5620 6540 36.5 7.35 %’5 ﬁ
42 0.0410 0.0095 6340 8170 55.8 8.02 R
WPU-[]-[]-CD | 50 0.0493 0.0105 10400 13300 91.0 135 s %
63 0.0615 0.0128 15800 21100 156 27.7 %
80 0.0815 0.0130 24400 35600 313 66.0 2C &
D ®
35 0.0505 0.0062 7110 10200 74.0 14.4 3e ﬁ
o &
42 0.0598 0.0066 10900 15200 124 19.7 23 B
WPU-[]-[]-CDH| 50 0.0708 0.0077 17200 24700 187 40.1 =3 =
63 0.0856 0.0092 25100 37400 258 715 &
80 0.114 0.0106 43300 67600 580 188 EER)
35 0.0512 0.0111 8010 11400 37.0 8.86 a3 @
42 0.0614 0.0112 7370 10900 62 20.8 g ﬁ
WPS-[1-[1-SD | 50 0.0715 0.0114 8030 12800 93 22.5 c o
G
63 0.0869 0.0128 14300 24500 129 33.3
80 0.113 0.0181 23700 42500 290 84.5 g
35 0.0512 0.0166 8010 11400 37.0 8.86 g %
42 0.0614 0.0177 7370 10900 62 20.8 g
WPU-[]-[]-SDH| 50 0.0715 0.0179 8030 12800 93 225 5
63 0.0869 0.0213 14300 24500 129 33.3 B
80 0.113 0.0257 23700 42500 290 84.5 2z =
5% =
1
W ShER A e g
External load :
WPU-[J-[]-CD WPU- [J-[]-CDH WPS-[J-[]-SD WPU- [J-[]-SDH S 5|
2 &
E /7
L L L 2 B
Lr L (—T [‘_’ g
A L ||
- 53 X |
r e
£ 2% =
0 sl : : |l
i a =) a L gs =
« J 5°
— | Fa 5
Y /\> - J [
N ] o 4%
— 5 &
g W

FLEXWAVE WPE5 82



Flat type D

NS IF A (’r Maximum load at input shaft

W AR FIRE, A5

A1) Bearing specification (Open type, Unit)

W A1 (A FL IR 1 2000r/min. & #pBY[8] : 7000h)
Maximum load (Average input rotation speed : 2000r/min, Life span : 7000h)

WPU-[]-[]-SDH
800 =35
—_—12
700 50
600 —63
= e 80
% 500
L \
g 400
/ O \
E T 300 AN \
©
N ——————
100 \\Aé
0 T T T 1

100

200

300 400

Hm e Fa [N]

Axial load

B A & B
Bearing A Bearing B
=5 R< BEARSTE AR | EXRBSIE N | EASISHENT | EXBRSHEMT | 4 b
G ) Basic dynamic load Basic static load Basic dynamic load Basic static load
Series Size rating rating rating rating
© Co C Co
N N N N mm mm
35 4000 2470 4000 2470 16.0 20.0
42 4300 2950 4300 2950 16.0 225
WPU-[1-[]-SDH | 50 4500 3450 4500 3450 145 | 18.0
63 4900 4350 4900 4350 15.5 21.8
80 8800 8500 6400 6200 17.0 285
A A —
Bearing A FFEEﬁ( B
) Bearing B
(=
] -
| B ~f
EnS R o




REZD
Flat type D

SN\ ~ . . .
SEESR lubricant information
AE IR fER
Grease |
. N . s _ ° R
Sumiplex MP No.2 (HAF I EEFI#RIL=FE)  Sumiplex MP No.2 (SUMICO LUBRICANT CO., LTD.) g
FERAEETTE:0 ~ 40°C (IfiERE) Operating temperature range:0-40°C(ambient temperature) 2
A1 B T B SR ER
Grease application —
go X
BRUTERERRVEZIBARFE BT Please apply grease according to the table below. r; Tfr
N < —_ g =
B HEFNRERE Grease application 3> 3
MRIBRRNOZE A A EEMNAER @ L AT RE, ZERKEBAUCHRHERE,
(BERNIERNASGER, 2R TC (fER) AEEhE.) = |
OBIRML M £ BT, iBE TR AASSY ~ P SN EE T 8] FI50% HYEB o ﬁ
HFIFSIRITERGEB T BT, EE WA LR B [g] =
‘The quantity of grease applied to C should be HHRER{AL Applied part &
adjusted depending on the mounting direction. R~ I C C 16
C of the unit type product is already filled with Size A B (H) (A1) (AT D
the same quantity of grease as horizontal Horizontal | Vertical up | Vertical down 5 %
mounting. X\
85 0.2 0.2 3 4 5 0.
‘For vertical up/down, 50% of the space 2 :':;"3 EE
between input assy and casing inner wall 42 03 03 5 6 Y 03 = '?F
should be filled with grease. 50 0.4 0.4 8 9 11 0.4 § %
‘If the amourjt of grease is not sufficient due 63 0.8 0.8 16 19 o1 0.8 &
to case design, please contact us.
80 1.5 1.5 36 42 48 15 = o
g 'Jg
e s N N g 7
B T8 REREBL Grease application location 5
=
| WPC-[J-[J-CD | | WPU-[J-[J-CD | g
e PE 1752 [8950% 2
=
Casmg tﬁﬁ?fEﬂEGSO% ‘ —
Fill 50% of the gap in volume Pre-applied =
D == v =
i 4 zh o MET o
l%" 2 [ Vertical ll | = =
‘ ‘ down ﬂ N =
1 IMAASSY 45 NASSY HAASSY / @)\ASSY
) — LJ | 5 ofE |
, i | AL V L S e Y A=
< = I Vertical ) “ I g 7]
=h up 2 Y o wjiTmmm ‘ s
1) P\ REEIE50% -
Horizontal - P R EIERI50% -
| WPU-[]-[]-CDH | | WPS-[1-[1-SD | = =
FE ER T EIN50% FE EFR=IEHI50%

T
N/

| f
C 1 L) // 1 lﬂ L
BAMSSY /4 ) assy 3 1
/7

ill T —T

i

.Q / | \
[

I
HAASSY HNASSY
I

solsueoeIey)

Fu

H
H
T

eleq

o

e EF=IB50% —

B \BEEEN50% FLEXWAVE WP%5 84




Flat type D [&¥&D|

ZIEXERE  Attachment fixture requirement

B ZERBE Attachment fixture requirement

| WPC-[1-[]-CD | | WPU-[I-[]-CD |
EREERD [ W NEERD
PE 3
Casing g “
: %U o
u E « | @ « Ok
ko it el © i o
R # 0 # o
e w- § - .
8
RINEE [mm] RENEE [mm]
RI 35 42 50 63 80 RY 35 42 50 63 80
Size Size
a 0.015 | 0015 | 0.018 | 0018 | 0.023 a 0.020 | 0.020 | 0.020 | 0025 | 0.025
b 0.010 | 0012 | 0.014 | 0016 | 0.020 b 0.012 | 0012 | 0014 | 0016 | 0016
c 0.013 | 0013 | 0015 | 0018 | 0.020 c 0.016 | 0.020 | 0024 | 0024 | 0.024
d 0.015 | 0015 | 0.018 | 0.018 | 0.023
e 0.015 | 0015 | 0.018 | 0.018 | 0.023
f 0012 | 0012 | 0.014 | 0016 | 0.016
g 0.016 | 0.020 | 0.024 | 0.024 | 0.024
| WPU-[1-[]-CDH | | WPS-[]-(]-SD |
I
o CRTNE
===} % e )
g } A
=] IREEN] @ ”
. Al
s =N
’*E}‘ = of— s e = £
W W ] # ]
E #y | £ @

7 2l

TEEE [mm] TEEE [mm]
);2 35 42 50 63 80 Ez\_i— 35 42 50 63 80
a 0.020 0.020 0.020 0.025 0.025 a 0.020 0.020 0.020 0.025 0.025
b 0.012 0.012 0.014 0.016 0.016 b 0.020 0.020 0.020 0.025 0.025
c 0.016 0.020 0.024 0.024 0.024 C 0.020 0.020 0.020 0.025 0.025
d 0.012 0.012 0.014 0.016 0.016
e 0.016 0.020 0.024 0.024 0.024

85



#¥2D

Flat type D

ES S35 Transmitting Torque g7 008
o 2] :\; %
SRAENE g BLRENEM TR =
Bolting Please refer to the table below for the bolt tightening torque.
o R |
. g <t
¥R 22 Z[E SR ¢ %
Tightening torque for bolts g
By R~ Bolt size M3 | M4 [ M5 [ M6 [ M8 [ M0 h
RE 4 [Nm] |Tightening torque 1.9 43 8.7 15 36 71
BB BERS12.90 F o5 %
= D pp
Recommended bolt : Strength rating above 12.9 %g it
22 B
TS 750 EHAR A8R)
Bolt specifications and Transmitting torque (Closed type, Unit) ﬁ
A= (WPU-[J-[J-CD) Output flange attachment = |
R~t Size 35 42 50 63 80 o
1Ry Rt Bolt size M3 M5 M6 M8 M8 L
R 22NN Bolt count 10 8 8 8 10 ID
LHPCD [mm] |Bolt PCD 25 27 34 42 57
K[EJFE [Nm] |Tightening torque 1.9 8.7 15 36 36 |
£27% [Nm] |Transmitting torque 58 141 252 566 960 35 ®
55 %
ZERRNEEH (WPU-[J-[J-CD) Internal gear attachment of %;
o7
R~T Size 85 42 50 63 80 =~ 1A
B4 R~ Bolt size M3 M3 M3 M3 M4 177
B2 Bolt count 6 10 12 18 18 —
ZHPCD [mm] |Bolt PCD 49 56 64 79 104 g g
X@E /% [Nm] |Tightening torque 1.9 1.9 1.9 1.9 4.3 ]
fE2/3% [Nm] |Transmitting torque 68 130 178 330 757 3
ZEBEE= (WPU-[J-[J-CDH) Output flange attachment °
R~ Size 35 42 50 63 80 T
Be Rt Bolt size M3 M3 M4 M5 M6 §§ i
1B 44 NEY Bolt count 8 10 8 8 8 %g ,E—
LHEPCD [mm] |Bolt PCD 42 50 60 73 9 23 B
XEHHE [Nm] |Tightening torque 1.9 1.9 4.3 8.7 15 g
£S % [Nm] [Transmitting torque 78 116 194 382 713 °
7t 1EEA ;‘_" 1§
LZRREHY (WPU-[]-[J-CDH) Internal gear attachment g =1
R~ Size 35 42 50 63 80 A
B4 R~F Bolt size M3 M3 M3 M4 M5 =
BE 24 N Bolt count 6 8 8 10 10 3
ZH#EPCD [mm] |Bolt PCD 64 74 84 102 132 5
ZEH¥E [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7 83 F
£577% [Nm] |Transmitting torque 89 137 156 412 864 s %
S m
ZEAER ca
{ Internal gear attachment §
ZHERKE o = |
Internal gear attachment f J&
TEREE= g 3
Output flange attachment ) . / 2 1
REmMEE= 3
Output flange attachment 5

FLEXWAVE WPE5 86



Flat type D
£ H%8 Transmitting Torque

ES H5E Gnn. serR)

Bolt specifications and Transmitting torque (Closed type, Component)

LRFMINH Flex gear attachment

R~f Size 35 42 50 63 80
B R~f Bolt size M3 M4 M4 M5 M6
B2 Bolt count 8 8 8 8 10
LHPCD [mm] |Bolt PCD 17 19.5 24 30 41
X@E A% [Nm] |Tightening torque 1.9 43 43 8.7 15
f£5 /7% [Nm] |Transmitting torque 32 63 78 157 380
?’%V\]JIJAI:E@ Internal gear attachment

R~f Size 35 42 50 63 80
B2 Rt Bolt size M3 M3 M3 M3 M4
RN Bolt count 6 8 12 12 12
ZHPCD [mm] |Bolt PCD 44 54 62 75 100
Z[E % [Nm] |Tightening torque 1.9 1.9 1.9 1.9 4.3
f£2 /75 [Nm] |Transmitting torque 61 100 172 209 485

ZRERALR

Internal gear attachment \

LEXREEE =

Flex gear attachment

£S5 115 FFma)

Bolt specifications and Transmitting torque (Open type)

LIEEFZMIR Flex gear attachment

R~F Size 35 42 50 63 80

BYRS Bolt size M3 M3 M3 M4 M5

R Bolt count 8 12 12 12 12

Z4PCD [mm] |BoltPCD 64 74 84 102 132
Z[@E % [Nm] |Tightening torque 1.9 1.9 1.9 43 8.7

£S5 [Nm] |Transmitting torque 119 206 234 495 1037
Z?%WJIJAI:%\ Internal gear attachment

R~t Size 35 42 50 63 80

1Rz Rt Bolt size M3 M3 M3 M4 M5

R Bolt count 8 12 12 12 12

ZHEPCD [mm] |Bolt PCD 43 52 61.4 76 99

E[@E % [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7

ZZ % [Nm] |Transmitting torque 80 145 171 369 778

REREER

Flex gear attachment \ |
Dot 5B M LA
ﬁ&iw_‘tlﬂib R I Ep— JE e Ep— §%Wf§$@

o e e A
Flex gear attachment T RANHE 1 Internal ttachment
M ¥ Internal gear attachment . niernal gear aftachmen
g

—d

87



#¥2D

Flat type D

SEEERI0 Installation and assembly instructions

=ESH

ox &S

/ JinhE =5l

suoneolioadg
/ |oPO Jeonpay

MIN/ % Y32 # (wee-0-0-C0)

Shaft installation instruction

NG WHREIERAARER T HENEENAE/ BB A mHSENSE{TERNSE L)
KEREV A H A A ER T L ImHTEE, B R AR E MRS,

Please design the support structure for input shaft and output shaft so that both radial and axial loads are supported. (Diagram
below shows an example)
Inside thrust load has effect on the cam. Secure cam from the possible axial movement.

U

8|ge] suolsuawi(

ey tH i J

Output shaft

- DN

~
L‘ Input shaft

o G

rhke —

Cam

(Buueaq onse|3)
uonewnse a4
(i) Y5 5 Shatt

(Buieaq urely)

uoiewnss ajin

() Y Sh ot

25

o>

}eys indul
1e PeO| Wnuwixen

uofewWIOjUl JUBDLIgN|

Juswalinbal
INIX1} JUBWYoBNY
X i e o

FcHdnak

anbuo) Bunywsues)

pue uonejelsu|
S5 RO

suononaisul Alquiesse

eleq sonsueloeIRy)
W

FLEXWAVE WPZ5 88



Flat type D

"EVESINIE Characteristics Data

AELSRE

Transmission Angular Accuracy

1.0
£ i e
BAEESKEREX
EARRFFA T RIMAMIER, B it g °°
TR AE S L InH LR AERNEE, W
What is Transmission Angular Accuracy? i o 00
w
It is the difference between the measured output Eg
rotation angle and the theoretical angle, while input fﬁg -0.5 s
shaft is rotated with no load. -
-1.0
0 90 180 270 360
mihEERRE (F)
Output shaft rotation angle (deg)
[arc min]
s R~t
TR EE Size
Rati
Ao 13 42 50 63 80
50 2.0 2.0 1.5 1.0 1.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
MERABENSEE,
Table values are reference values.
S o
RS
Hysteresis Loss
e e o e FAE
IFFE;E!*IEX Twisting Eih;}
WANWEE S, B HEmMEwEMNE0/7%E 1
BB A=, mIERR
ysteresis LOsS
What is Hysteresis Loss?
When torque load is applied at the output shaft in
alternate direction repeatedly with input shaft fixed, 7V > b
there is residual twisting angle when torque is back Torque
to zero. /
In this context, hysteresis loss is the difference in the
forward and backward twisting angle.
[arc min]
s R~t
IREE Size
Rati
Ao 3 42 50 63 80
50 2.0 2.0 2.0 2.0 2.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0

89



#¥2D

Flat type D

23 Hl B
S5 12w
22 M
SAEB o
HX/\ B PR
Maximum Backlash [arc sec]
€ R
EY LRV R~ 5
mAEBEX B Size 2 %
~ . N Ratio ?
BB AT 5 AL B - BT RV H LB MIAA T B BR 35 42 50 63 80 g
(HRABR S BB PR 90, P LARIFD L LR 4 E5 PR 90,) 50 27 27 18 16 16 N
What is Maximum Backlash? 80 17 17 11 10 10
In this context, maximum backlash is the output 100 13 13 8 8 [
backlashlfgr sp\ing type input shaft. (Backlash is 120 i 11 7 7 i% ﬁ
zero for rigid type input, because gear engagement g =
backlash is zero.) 3° =
R € R b TR )] K177 0 ~ T, MR K =2
) ) Spring coefficient at 0 ~ T, torque :;‘g =
Stiffness (Closed type, Unit) K2-- 175 T, ~ T, BISEE 24K C =
Spring coefficient at T, ~ T, torque ’:EJ
M E W K3+ 7748 T, ~ HOBERER -
- e . Spring coefficient at T, ~ torque -
B 3 N, R 77 %8 e 0 & B U B B9 58 28 5 4K 25 @@
SHtBE ) - i
What is Stiffness? K, E g ?
In this context, stiffness is the output shaft twisting o 5
angle and the spring coefficient, while torque load is i 2 9 177
. - . . L I N i
applied to the output shaft with input side fixed. #H O ! ' ——
H S K : | £
® : : g
= 1 H g /;,FJ
= ! ! f )\U
0 ' ' 2
T mmae 3
Load torque
. e \ R~ i3 B
JIREL 1= ==Ky} Size 83 ’ﬁg
Ratio item unit 35 42 50 63 80 é -
- T3 Nm 2 3.9 7 14 29
- Tz Nm 6.9 12 25 48 108 = (&
K, X 10'Nm/rad 0.39 0.66 1.1 2.2 4.6 Jg ;Eg
K, X 10‘Nm/rad 0.47 0.75 1.4 26 5.1 g &
50 Ks X 10°Nm/rad 0.52 0.82 1.4 2.7 5.6 5
a, arcmin 1.7 2.0 2.2 2.2 2.2
8, arcmin 5.0 55 6.3 6.4 7.2 $5 =
g3 =
K, X 10'Nm/rad 0.44 0.86 1.6 2.9 6.2 55 In
80 K, X 10°Nm/rad 0.60 1.0 1.9 3.2 6.5 5%
100 Ks X 10'Nm/rad 0.72 1.0 1.9 3.1 6.5 :
120 6, arcmin 1.6 1.6 15 1.7 1.6 2 E
6, arcmin 40 41 46 5.2 5.7 ! ?é
a.
KERPEHENTIIE, ]
Average value shown in the table o
&
FLEXWAVE WP%5 90




91

Flat type D

S

"EVESINIE Characteristics Data

Boh/%E Gtnz aan)

Starting Torque (Closed type, Unit)

BEh7I3ETE X

RPN Ry =: N PR DN Pag ey == Pl

%o
(et fe, HiRRE 1 25°C)
What is Starting Torque?

Input torque needed for input side to start rotating (no

load, ambient temperature : 25C)

EB T H%E

(HFE AEE)

Output Starting Torque(Closed type, Unit)

& B zh 1 FEE X

FR b B B E R % BY, f B R aa e % 89 /3

%o
(Tt e, MRRE : 25°C)
What is Output Starting Torque?

Output torque needed for output side to start

rotating (no load, ambient temperature : 25C)

ARG Pt s pab ]
(HAR HER)
No-load Running Torque
(Closed type, Unit)

EHFEE¥RNEEX
TELRAEFGT, EEHREFTS
HEBVNMN %,

(CFHME, HiRRE 1 25°0)

What is No-load Running Torque?

Input torque needed to keep it
running with no load (average value,
ambient temperature : 25TC)

[cNm]
L &
Hatio 35 42 50 63 80
50 7.0 11 14 17 26
80 68 | 95 13 24 26
100 | 64 | 94 11 14 20
120 : 8.1 93 12 20
¥1IRBEERAZXEAR, HEFETER, FIUERENSE
BEfEA,
X2 REIEE NN hE B A SRR R SRS
Dﬁlo

*1 For reference only. Torque value may vary depending on the
condition.

*2 Charts does not show effects due to rotation resistance of
bearings and oil seals on the input side.

[Nm]
AL i
Hatio 35 42 50 63 80
50 12 | 36 | 44 58 13
80 16 | 39 7.2 13 26
100 17 | 57 8.6 9.4 23
120 ; 42 | 81 10 30
¥1IRIBERRGRRE, HEFEER, FILLERENSE
BEfEA,
X2 NEIER NN hE R A SRR B s Sk
il

*1 For reference only. Torque value may vary depending on the
condition.

*2 Charts does not show effects due to rotation resistance of
bearings and oil seals on the input side.

[cNm]
\ AN R
ey || PR S

speed 35 42 50 63 80
500r/min 3.4 7.5 9.2 17 35
1000r/min 4.3 8.2 11 18 37
=0 2000r/min 5.0 8.5 13 18 39
3500r/min 5.4 11 14 22 38
500r/min 3.2 7.6 10 20 35
1000r/min 4.0 8.7 12 21 38
80 2000r/min 4.8 8.9 14 22 39
3500r/min 5.2 11 14 24 38
500r/min 3.2 7.1 11 21 36
100 1000r/min 4.0 8.2 13 23 39
2000r/min 4.7 8.4 14 24 39
3500r/min 5.1 9.7 14 25 38
500r/min - 6.7 9.8 23 40
1000r/min - 8.1 12 24 41
120 2000r/min - 8.4 13 26 41
3500r/min - 8.4 13 26 39

1 RIBEAFETRE, WEFTEER, MULRIENSEERA.
%2 NEFER NN hE K IR M A S 8 ied% [B 1P SRAYSZIE.
*1 For reference only. Torque value may vary depending on the condition.

*2 Charts does not show effects due to rotation resistance of bearings and
oil seals on the input side.



#¥2D

Flat type D

10
0 20 40 60 80 100

fafa (%] Percentile Load

‘(o(:ivu B
S5 1K
g2
sz A
By 322 (1A A SR e 5
R (AR AEE)
Efficiency (Closed type, Unit) |
¢ R
g ~
Jﬁ\ﬁ[%] AR CDAL ARy ] ‘Percentile Load (%) is equal to load torque divided by g =
N allowable average torque. 5
iy = | . o N o
MFRE 125°C -Ambient temperature : 25C &
. . N *1 These diagrams represent the average value of the actual
1 ER NSRS THIE, e e ¢
~ L NualEsy v H e . . . — [
RN E NP E NSRS 3: ) kg *2 Charts does not show effects due to rotation resistance of gm ﬁ
JIFH SR B E Mo bearings and oil seals on the input side. i% 5@
82 B
g =
=
A
E]D
i
=
z
i
&
WPU-35-50 WPU-35-80 < =
100 100 S
@ 500 r/min @ 500 r/min 2 &E
90 [ «=== 1000 r/min 90 | e=== 1000 r/min o iF
e 2000 1/min e 2000 r/min - 1
_ 80 H 3500 r/min > 80 3500 r/min far
[}
5 70 3 70 ——
S kS) 3
T 60 — I 60 5 ;wj
- Jl
8 50 8 50 )
B a0 ¥ 40 5
& & -
30 30 I
=
20 20 8
4 : B
10 10 2 E
0 20 40 60 80 100 0 20 40 60 80 100 B
faf [%] Percentile Load fafa [%] Percentile Load C
5 &
2 3
WPU-35-100 E ?é
I}
100 3
@ 500 r/min °
90 @ 1000 r/min
e 2000 r/min . [
> 80 3500 r/min s
570 =
0 60 —
X 50 /
Ht
& 40 / o %
30 8 g
/ g g
20 2
7 g
g
o

FLEXWAVE WPZ5 92



93

Flat type D
"EVESINIE Characteristics Data

R (HiAR AER)
Efficiency (Closed type, Unit)

M

AT %] S B T E%E
WIRRE 25°C

X1 BEIRAKNEIER FIE.

X2 AN BLIE R N O EY K DR B 7% S5 BY e 4% FR

TIPSR B R0,
WPU-42-50
100
@ 500 r/min
90 | e 1000 r/min
s 2000 r/min
_. 80 3500 r/min
2
@ 70
@
L 60
X 50
B a0
&
30
20
10
20 40 60 80 100

fafd (%] Percentile Load

WPU-42-100
100
@ 500 r/min
90 @mms 1000 r/min
e 2000 r/min
_. 80 3500 r/min
2
@ 70
&)
L 60
= 50 —
¥ 40
&
30
20
10
20 40 60 80 100

fafd (%] Percentile Load

‘Percentile Load (%) is equal to load torque divided by
allowable average torque.

‘Ambient temperature : 25TC

*1 These diagrams represent the average value of the

actual measurement.

*2 Charts does not show effects due to rotation resistance of

bearings and oil seals on the input side.

WPU-42-80
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
- 80 H 3500 r/min
8 /
o 70
O
L 60
= 50
M‘ 40 /
& /4
30 /
20 —+#
10
0 20 40 60 80 100
fafad [%] Percentile Load
WPU-42-120
100
@ 500 r/min
90 [ e 1000 r/min
@ms 2000 r/min
-, 80 3500 r/min
2
o 70
QO
L 60
=X 50
4
= 0

30
20
10

0 20 40 60 80 100

fafad [%] Percentile Load



R (HiAR AER)
Efficiency (Closed type, Unit)

AT %] S B T E%E

WIRRE 25°C

%1 B RSNSERA T E,

%2 TN 4 NN SR Ry R B A S5 0 e i PR
FFF B,

WPU-50-50
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
_ 80 3500 r/min
g /
@ 70
O
L 60
= 50
¥ 40
&
30
20 —
10
0 20 40 60 80 100
fafd (%] Percentile Load
WPU-50-100
100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
_. 80 3500 r/min
2
@ 70
O
L 60
=X 50
B 40
&
30
20
10
0 20 40 60 80 100

fafd (%] Percentile Load

‘Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25TC
*1 These diagrams represent the average value of the
actual measurement.
*2 Charts does not show effects due to rotation resistance of
bearings and oil seals on the input side.

#¥2D

Flat type D

%(fﬂ}a\
o IR
g2
5
E/)(.£ %
— ~
o R |
& K

2

=

o

(o]

y= B
DT

2 o

52

o 3

s 2

53

)

WPU-50-80 ==
S A
100 5
e 500 r/min s B
90 | e 1000 r/min S iF
e 2000 r/min - fa
> 80 H 3500 r/min G
3 70 -
O b
L 60 == 2 j
— f )\‘J
= 50 )
% 40 3
& g
30 |
z =
20 B o
2 15
10 2 B
0 20 40 60 80 100 B
fafad [%] Percentile Load 3
5 &
z F
WPU-50-120 2 ;g
I}
100 3
500 r/min ®
90 [ e 1000 r/min
s 2000 r/min — —
-, 80 3500 r/min i
e =
5 70 — =
2 IR
L 60
=X 50
4
& Y S 5
30 g 5
= 12
20 2}
2
10 g
0 20 40 60 80 100 &
fafad [%] Percentile Load
FLEXWAVE WPEF o4



95

R (HiAR AER)

Efficiency (Closed type, Unit)

M

Flat type D
"EVESINIE Characteristics Data

AT %] S B T E%E

WIRRE 25°C

X1 BEIRAKNEIER FIE.

X2 AN BLIE R N O EY K DR B 7% S5 BY e 4% FR

TIPSR B R0,
WPU-63-50
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
_. 80 3500 r/min
2
@ 70
O
L 60
= 50
¥ 40
&
30
20 —
10
0 20 40 60 80 100
fafd (%] Percentile Load
WPU-63-100
100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
- 80 3500 r/min
2
@ 70
o
L 60
=X 50
B 40
&
30
20
10
20 40 60 80 100

fafd (%] Percentile Load

‘Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25TC
*1 These diagrams represent the average value of the

actual measurement.
*2 Charts does not show effects due to rotation resistance of

bearings and oil seals on the input side.

40 60 80 100

[%] Percentile Load

WPU-63-80
100
@ 500 r/min
90 | e 1000 r/min
s 2000 r/min
- 80 H 3500 r/min
2
o 70
O
L 60
X 50
b 40
& v 4
30 /
20
10
0 20
ke
WPU-63-120
100
@ 500 r/min
90 @ 1000 r/min
@ms 2000 r/min
-, 80 3500 r/min
2
o 70
QO
L 60
X 50
¥4
= 0
30
20 —
10
0 20

40 60 80 100

fafad [%] Percentile Load



R (HiAR AER)
Efficiency (Closed type, Unit)

AT %] S B T E%E

WIRRE 25°C

%1 B RSNSERA T E,

%2 TN 4 NN SR Ry R B A S5 0 e i PR
FFF B,

WPU-80-50
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
_ 80 3500 r/min
2
@ 70
o
L 60
= 50
¥ 40
&
30
20
10
0 20 40 60 80 100
fafd (%] Percentile Load
WPU-80-100
100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
_. 80 3500 r/min
2
@ 70 s
O
L 60
=X 50
B 40
&
30
20
10
0 20 40 60 80 100

fafd (%] Percentile Load

‘Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25TC
*1 These diagrams represent the average value of the
actual measurement.
*2 Charts does not show effects due to rotation resistance of
bearings and oil seals on the input side.

WPU-80-80

100

@ 500 r/min

90 | e 1000 r/min

s 2000 r/min
3500 r/min

80

60 /””’—7
30 //
20 //

ME [%] Efficiency

10
0 20 40 60 80 100
fafad [%] Percentile Load

WPU-80-120

100

@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min

-, 80 3500 r/min
2
o 70
QO
L 60
=X 50
4
= 0

30

20

10

0 20 40 60 80 100

fafad [%] Percentile Load

FLEXWAVE WPZ5

#¥2D

Flat type D

%fﬂ}a\
o £ 1% IR
g2
sg #
m& %
- ~

o R |
& =

%)

=

o

(o]

y= B
DT

2 o

52

o 3

82

53

)

g
s}

2INIX1) JUBWYOBNY
K g v

anbJo] Bumiwsuel|
ST
fm

S5t

5
3
%
=

(2]
>
o
=
N
Q
=
]
=
7]
=
o
]
=]
I
-
o




97

M

Gearhead type [#z#2]
SR EBL S Reducer Model Nomenclature

WP

G

35

50

CR

8AA5

YA

Series name
WPZ7

WP Series

@EL IR Availability

xKE

type

G ARy

Gearhead type

Rt

Size
35
42
50
63
80

RGEEL

Ratio
50
80

100

120

160

L83

Code

X2 B NEEE 2000/ min BIHNBIFRAE
%3 BEh. ELERNBFRAE

XA BEERETR, FRMARRNBIFRAE
%5 ITENER, MABRRNBFRAE

%6 BINFLIR2000r/min, RYFFIE 5B G EB F e a)

RIRMRE

Mount code

Ratio matrix
— AT AR T 2 LB A A B DL B R A e D BATHIAL ST
g \ TR 50 80 100 120 160 ﬁ%ﬁ;&%g@%%ﬁ&%m L@ A A S W LB RIRNIEE TR #ITHIN INE B2
@ “1 Mount code varies depending on the motor selection. Please refer to the
g 35 '‘Reducer Selection Tool' found on our website for further details, or alternatively
© 42 please contact us for more information.
- 50
63
80
(PN o .
SR N EN A Reducer Specifications
X2 %3 %4 %5 %6
BT BERA BT BERS P
L 7 L AR BT ]
RT—'— Ratio Nominal output Maximum output Nominal Maximum input Life
Size R torque torque input speed speed
[Nm] [Nm] [r/min] [r/min] [hours]
50 7 23
5 80 10 30 3000 8500
100 10 36
50 21 44
80 29 56
42 100 31 70 3000 7300
120 31 70
50 33 73
80 44 96
50 100 52 107 3000 6500
120 52 113
160 52 120 10000
50 51 127
80 82 178
63 100 87 204 3000 5600
120 87 217
160 87 229
50 99 281
80 153 395
80 100 178 433 3000 4800
120 178 459
160 178 484

*2 The maximum allowable value at the input rotation speed of 2000r/min
*3 The maximum torque when starting and stopping.
*4 The maximum average input speed
*5 The maximum input speed.

*6 The life time at the input rotation speed of 2000 r/min and nominal output torque



HEFEE

Gearhead
type

R~I3 Dimensions Table

g3
IR R AL oc g
IR A B 58 M
== &
Gearhead Type g5 o
oo 2
RS RE __
Internal gear attachment i —— 73
RHE=%E ] ° R
Output flange || g 5
attachment - T 2 E ]
] @
e g
I - o
=
@ EEZFEI  Precautions . -
o e
V57 3 == 7 > N i vi N - N = RN TR @ ¢ e
RFEESHHSLEINRMHEZ=5, BEAM® O B, HIFERLNBRIMEBREMTRY R, S5t
When attaching equipment parts to the output flange, use the supplied O-rings or implement your own grease leakage § f
prevention measures. c i‘:r
MRBEESTHRAEDH), BHRESIEEBTR, BIEHIEM, gz Z

Continuous operation in one direction or small oscillation angle may cause lubrication failure.

5 N
2g B
=2 7
WPG-35- (1 -CR-8 [ (iiNhiE= 8) EEe
(Input shaft diameter < 8) £3 ;Ejr
kB
815 (% 1)
27 54.5 (% 1) -
35 14 25 15.5 (% 1) L-MLx 9 (%1)

0-ring
$29x $0.5 152 (1)

=

1

' LN

50

T

5 0%1)

5/

H
.

UJ
-

@73
®56 h7
®31
1
®30(G7) 1)
ia
&

50 1) #8{(Q7) (x1)

(E) 32 (%) L6 (% 1)

X1, FERNRINARE FTRENZEEN, RIY2ERFR.

*1. The length depends on the motor.

FLEXWAVE WPE5 98



99

S

Gearhead type [###2]

JR<tTZ= Dimensions Table

WPG-42- [1-CR-8 [1 (3aANHiE= 8)

(Input shaft diameter = 8)

2715° 300

0-ring
$34.5% ¢0.8

6-M5x 10

BL4.5 (1)

29 555 (% 1)

L 1 26 15.5 (% 1) b-MEX 9 (e 1)

52 (1)

$50

=

)

L

5 0% 1)

Uz

5/

679
963 h1
$38
¢(10_H)7

[

#30(GT) (1)
Va
N

I~

eyl

;__/

CJ

%1, FEIMRT ARERE.
AEINZREBN, RT=2BFRARE,
*2. ARE S LPRECEB P,
%3, HTF 2RV AR RS, At FEmziE,

9.5
<

5 (1) ®8(G7) (% 1)

32 [%1) L6 (%)

*1. The length depends on the motor.

*2. The actual placement may differ.

*3. These bolts are for reducer assembly
purposes and do not affect installation.

WPG-42- [1-CR-14 [ (8< BAHE= 14)

(8<Input shaft diameter =14)

2157 30+
D-ring
#34.5% 0.8

6-M5x 10

89.5 (1) L-M5x 11 {%1)

29 60.5 (% 1)
b 14 30 16.5 (% 1) 765 (% 1)

962

979
®63 h7

T

J

#50(G7) (x1)

J
] N

1. FEIMRT AR E.
AEINZREBN, RT2BARE,
X2, AJRES KRIREEEB AT E.
%3, HTF2EERTAZERRR, At FAEmziE,

9.5
s

5 (% 1) B14(G7) (1)

35 (% 1) 970 (1) ]

*1. The length depends on the motor.

*2. The actual placement may differ.

*3. These bolts are for reducer assembly
purposes and do not affect installation.



EFEE
Gearhead
type

WPG-50- [1-CR-8 [1 (3sANHiE= 8)

(Input shaft diameter = 8)

87 [ 1)

5° 22,50 28 59 (1)
n 5 0-ring L-MLx 9 (% 1)

BL06Lx D11k 5 16 21.5 15.5 (% 1)
8-M6x 10 52 (% 1)

st

]
[_J[I_7J
#50
L
o|qeL suoisuawig

5 (1)

m| E| | £ H = E
SEEH | | E \Nisss ”
id e
il B CC A%
5 (% 1) 8 (G7) (% 1) é;ég
(i) 32 {%1) L6 (% 1) j?_‘k
i
1. FEIR~T AR HRE, *1. The length depends on the motor. ‘ %
FEMREEN, RT2EFRRE *2.The actual placement may differ. -~
. Ao e = ’ _ ° *3. These bolts are for reducer assembly -3
2. PIRES KIFECEBFIAF. purposes and do not affect installation.
X3, AT RERNAER B, At AL MmLEE, —z 3|
il
E
42 3
WPG-50- [] -CR-14 [1 (8< WA= 14)
(8<Input shaft diameter =14)

92 (%)
" oh (% 1) L-M5X 11 (% 1)

0-ring
BL0.6LX 3114 5 16 315 16.5 (% 1)
065 (% 1)

I
4 — j —#\ N
| -§
j) S0 = '\
2| =l e 51 M = !
M = =
=0 ) \‘“/ /
[_:lK ] }3‘\ &
|
5 (1) G1L(GT) (1)
(i) 35 (1) 670 (x1)
X1, FEINR~T ARERE, *1. The length depends on the motor.
REM RSN, R<T25FHAR. *2. The actual placement may differ.
. S e e _ 3. These bolts are for reducer assembly
2. AIES KIrEEB PR EL purposes and do not affect installation.

X3, BT RREN AR AR, Al rEme,.

FLEXWAVE WPE5 100



101

Gearhead type [###2]

R~F3& Dimensions Table

WPG-63- [1-CR-14 [J (8< HiAM{E=

(8<Input shaft diameter =14

0-ring
$53.29% $0.99

100 (1)
36 6L (1)
5 16 315 16.5 (% 1)

962

14)
)

] sy =

107

86 h7
58
@20 HT

||
1

P T
1
| L
$50(G7) (% 1

%1, FEIMRT ARERE.
AEINZREBN, RT=2BFRARE,
*2. ARE S LPRECEB P,
%3, HTF 2RV AR RS, At FEmziE,

WPG-63- [1-CR-19 [1 (14< A= 19)

5 (1)

12 35 (% 1)

L-M5x 11 (3 1)

65 (% 1)

:

2

\

N

I
\\\

@14(G7) (% 1)

*1. The length depends on the motor.

*2. The actual placement may differ.

*3. These bolts are for reducer assembly
purposes and do not affect installation.

(14<Input shaft diameter =19)

0-ring
$53.29% $0.99

109 (% 1)
36 73 (% 1)
5 16 32 25 (1)

=
@
S

1 7 (%)

9107
®»86 h7
58
$20 H1

LT

#70(G7) (% 1)

?70 (1)

L-M6X 13 (% 1)

80 (x1)

7.=n_

=)

-/

1. FEIMRT AR E.
AEINZREBN, RT2BARE,
X2, AJRES KRIREEEB AT E.
%3, HTF2EERTAZERRR, At FAEmziE,

6 (%1)

12 50 1)

T

m\\ /)a

~]

—

$19(G7) (% 1)

290 (1)

*1. The length depends on the motor.

*2. The actual placement may differ.

*3. These bolts are for reducer assembly
purposes and do not affect installation.



WPG-80- [1-CR-14 [ (8< mAMiE= 14)

(8<Input shaft diameter =14)

118 (% 1)

45

73 (%)

5

20

36.5

138

=Y

@113 h1
78
$26 HT

662

HEFEE

Gearhead

type

L]

X1, FEIRRT AARE
TR REBN, RI=EFTR,
2. PR S KIRECEBFT A

X3, AT RAENAXARE, Bt FEmRE,

35 (% 1)

WPG-80- [1-CR-19 [1 (14< A= 19)

(14<Input shaft diameter =19)

0-ring
N

127 (5 1)

S5
/ r\,’/\
% R
l
Fidl
5
16.5 [ 1)
L-M5x 11 [%1)
065 (1) 2 R
: 3
o i®
= —— =]
% 3
r (7]
-
— \ o
5(k1) = =3
5
AN,
5 7\% 7\L]
AL A
b PE B
. i
(1) BIL(GT) (1) EE
#70 (% 1) T
1
*1. The length depends on the motor. < &
2. The actual placement may differ. 2~
*3. These bolts are for reducer assembly 3
purposes and do not affect installation.
e
SE
/»7
bt
Q@ \T
g5 1%
' 77
peEl

82 (1)

20

31 25 (1)

138
@113 h7
9178

1. FEIRMRTARKE.
TENZESBH, RT2BFRAE.
%2, OJEESKPrECEB TR E.

26 HT

®80

L-M6X 13 (% 1)

:

380 (1)

_—;7=&==h_

I I

T _

8

=

] L .

X3, BT RREN AR AR, Al rEme,.

50 (1)

6 (1)

@70(GT) (x1)
o
(1
(
{ \
&

A\

#19(G7) (% 1)

990 (%1

*1. The length depends on the motor.

*2. The actual placement may differ.

*3. These bolts are for reducer assembly
purposes and do not affect installation.

FLEXWAVE WPE5 102




Gearhead type

Fonit 5B CHEE &)

HTERINBESREP12
Please check the formula on p. 12

Fon1t 8 (F5H)

S

Life estimation (Elastic bearing)

Life estimation(Main bearing)

B AR (352/%3?5537%) Main bearing specification(Cross roller bearing)

RpTEER RizE BEAMSEE NS | BARBSTENE B %E TIFEMIE
Z7| R~t Pitch circle diameter Offset Basic dynamic load| Basic static load Allowable Moment
e ‘ of the bearing rollers rating rating moment rigidity
Series Size
Dm L C Co Mal Km
m m N N Nm X 10*Nm/rad
85 0.0350 0.0095 4700 6070 41 4.38
42 0.0425 0.0095 5290 7550 64 7.75
WPG-[ - -CR | 50 0.0500 0.0095 5780 9000 91 12.8
63 0.0620 0.0115 9600 15100 156 24.2
80 0.0800 0.0130 15000 25000 313 53.9
Fr, | |
Fr, ! %
.E$§¥§E AR } i Fry B
Operation cycle example Radial load ! Fry Ti\mleEﬂ
Fa,
Fa,
B £ 7 .
Axial load Fa, J18]
Time
ni 22 Ng |
5 "N\ n, ‘
Output rotation Bt ig]
speed t, t, |43 ] t ‘ Time
W SR S fa
External load Lr L

HTEARANESRP.14
Please check the formula on p. 14

103




SEE SR Jubricant information

A BFIRIER crease

Sumiplex SFB No.1 (HA I EBEFIRTN=FE)  Sumiplex SFB No. 1 (SUMICO LUBRICANT CO., LTD.)
FERAEETTE:0 ~ 40°C (IfERE) Operating temperature range:0-40C (ambient temperature)

B, R A B E S NIEBRE, I EEER.

Grease is already sealed inside the reducer at the factory, so it can be used as it is.

£EE2 3% Transmitting Torque

ﬁ%ﬂ%% Bolting
R 22 RE NN TR
BIBL NN REERE, I FNEFEES, ILUEERHI.

Please refer to the table below for the bolt tightening torque.
Please be noted that the transmittable torque varies depending on the bolt count and tightening torque.

E,%ﬁ'},%[ﬂjj%ﬁ Tightening torque for bolts

By R~ Bolt size M3 | M4 [ M5 [ M6 | M8 [ M0 BINIEZ: sBEXD12.90 F
XEH% [Nm] |Tightening torque 19 | 43 | 87 | 15 | 36 | 71  Recommended bolt :
Strength rating above 12.9

1?%7]%E Bolt specifications and Transmitting torque

TERBHE= Output flange attachment

R~ Size 35 42 50 63 80
B2 R~f Bolt size M4 M5 M6 M8 M10
B Bolt count 6 6 3 ) 8
ZEEPCD [mm]  |Bolt PCD 23 27 32 42 55
LB [Nm] |Tightening torque 4.3 8.7 15 36 71
28734 [Nm] |Transmitting torque 56 106 238 566 1177

ZERNKH (CR) Internal gear attachment

R~ Size B85 42 50 63 80
B4 R~ Bolt size M4 M4 M5 M5 M6
RN Bolt count 8 8 8 10 12
ZHEPCD [mm] |Bolt PCD 65 71 82 96 125
K@% [Nm]  |Tightening torque 4.3 4.3 8.7 8.7 15
fE2/3% [Nm] |Transmitting torque 210 230 430 629 1392
REAER
Internal gear attachment - ,j
LR E= ]
Output flange _ e
attachment 7
]
I ::l

FLEXWAVE WPE5

HEFEE

Gearhead
type

w0
T ®
32
o c
=3
g e
55
35
28

&
5

o
JIDHE S ]

/

R

o|ge| suolsuawi(

() S S At
[ (@i ST Sh i

(Burieaq urepy) uonewnss sy

Juoniewuopul Jueauqn| |/(Buneaq anse|3) uonewnss ayl

S i@
5 #
2 g
23 5
®*S %
104




N

JEFFY

—All for dreams

ERiFtfFmRAR (#iI) BIRARE

NIDEC DRIVE TECHNOLOGY (ZHEJIANG) CORPORATION

R4 : 314200

Motk AL & X A E% 18585

BiE 545 : 0573-8509-3022 (X R)
http://www.nidec-drivetechnology.com.cn/

202311-1CNV 40930R



